PISCO.

https://en.pisco.co.jp/

Long work-pieces with limited suction area like circuit board and semiconductors

Vacuum Pad Qval Series

- Wide selection of pad sizes, materials and holder types
Pad size : 13sizes. Pad material : 9types. Holder type : 13types.

| Stroke length of a spring holder is selectable.

@ Conventional long stroke holder (with cover) is integrated into VPC or VPD.
Stroke : 6, 10, 15 and 20 mm

@ Conventional long stroke holder (without cover) is renewed as VPOC or VPOD.
Stroke : 20, 30, 40 and 50mm

| Variety of selections in pad holder for "Copper alloy free"

and against "low ozone concentration".
-S3 spec. : No copper based metal parts. HNBR or FKM is adopted for seal rubber.




II Vacuum Pad Series
. Vacuum Pad Oval Series

m Selection list I

Oval

Pad type
Long work-pieces with limited suction area like circuit board and semiconductors
Recommended
work-piece
Pad size 13 sizes
2x4, 3.5x7,4x10, 4x20, 4x30, 5x10, 5x20, 5x30, 6x10, 6x20, 6x30, 8x20, 8x30mm
Pad material 9 types
Nitrile rubber, Silicone rubber, Urethane rubber, Fluoro rubber, Conductive silicone rubber,
Conductive butadiene rubber (Low resistance), Conductive NBR (Low resistance), HNBR, EPDM
Holder size Mini Standard For Oval Series
{0cyy Holder type 4 types 7 types 2 types
Fixed t ] = L
ixed type = II-
[
Spring type o=
L] E—
Holder without cover is available.
Direct mount !
(Fixed type or ll
Spring type)
Screwed type —I_




PISCO.

https://en.pisco.co.jp/

Il Model designation of Pad rubber only (Ex.) N

F 4x10 %
Vacuum Pad
Pad material

Pad S|ze Pad type
2 .Pad size x @

Code | 2x4 |3.5x7 [ 4x10 | 4x20 [ 4x30 | 5x10 [ 5x20 | 5x30 [ 6x10 | 6x20 [ 6x30 | 8x20 | 8x30
olxm| 2 | 35 4 5 6 8

o Y| 4 7 | 10 ] 20 [ 30 | 10 ]2 [3 | 10] 2 [ 3 | 20 | 30
g Sorew -M6

= | Mo -E10 | -E20 [-E10] -E20 [-E10] -E20 | -E20

@ .Pad type

Code E
Type Oval
(®.Pad material / Application
Code N S U F SE E NE HN EP
Rubber | Nitrile | Silicone | Urethane | Fluoro | Conductive - |CorduiieBiadens | Conductve NBR HNBR | EPDM
material | rubber rubber rubber rubber | Silicone rubber |ribber (Lowresisince) | (Low resistance)
Application | Cardboard | Semiconductors | Cardboard | Chemical | Semiconductors | General | Semiconductors | Cardboard | Application that
Plywood | Taking out | Plywood | environment | Takingout | parts of Plywood | requires light-
Iron plate | molded parts | Iron plate | High temp. | molded parts | semiconductors Iron plate | resistance or
Food-related | Thin work- work-pieces | Thin work- Food-related | ozone-proof.
Other general |  pieces pieces Other general | For use in
work-pieces | Food-related Food-related work-pieces | a moisture-

Frwsewderalwozne | - containing
concenrefoneniionment | atmosphere.
Color Black  |Natural (vory)|  Blue Gray Black Black Black Black Black
3% 1.The conductive Silicone rubber is a silicone rubber capable of releasing static electricity. (Volume resistance : 10°Q-cm or less)
% 2.The material of Conductive Butadiene rubber (low resistance) is a butadiene rubber (Volume resistance : 200Q-cm or less)

% 3.Pad size 2 x 4 and 3.5 x 7mm are not available with Conductive Butadiene rubber (Low resistance type)
% 4.The material of Conductive NBR (low resistance) is a nitrile rubber (Volume resistance : 200Q-cm or less)

% 5.Pad material N and NE are not suitable for use under ozone environment.

% 6.Pad size 4 x 30mm is not available with Urethane rubber and Fluoro rubber.

B Model designation of Pad & screw set (Ex.)

4x10 ‘ ‘ ‘ -M6 ‘
Vacuum Pad
—S3 spec.
Pad S|ze Connectlon configuration code

Pad type Pad material
For @,@ and (©, refer to "Model designation of Pad rubber only (Ex.)" above.

(® .Connection configuration code
Code -M6
Padsi(n)| 2x4 | 3.5%7 [ 4x10 | 4x20 | 4x30 | 5x10 | 5x20 | 5x30 | 6x10 [ 6x20 [ 6x30 | 8x20 [ 8x30

©. -S3 spec.
Code No code -S3
Metal parts : Copper alloy free material
Spec. Standard Seal parts : FKM or HNBR




& Vacuum Pad Series

Vacuum Pad Oval Series

B Vacuum Pad dimensions NG

1039

VP2x4E[5] Weight : 0.3g[0.5g] | VP3.5x7E[5] Weight : 0.3g[0.5g]
8 8
25 25 . . ]
~ l«— Connection config. code : -E10
0 i
- ~
1 S|
: . a 22
4 —» Connection config. code : —E20
Hea . orfze)
o~z = ~ ™ T I~
VP4x10E[5] \éVeight?O.4g[0.59] VP4x20E[5] 15Weight10.7g[1g] VP4x30E[5] 20 Weight : 1.1g
25 10 15
10
3% 3% o~ “‘
oS == N > | T
[ [
cof Q A ol 23
S 1w T ] LW
10 20
=\
. 2N
VP5x10E[5] Weight : 0.3g[0.5g] VP5x20E[5] Weight : 0.7g[1.1g] VP5x30E[5] 2(\)Neighti1.1g[1.7g]
25 10 15
10
N ~; o~ -
= diEs ==l ik
[ L
o @ T~ @ 23
S T | T w”
10 20
of e
VP6x10E[5] f\;NeightIOAg[O.Sg] VP6x20E[5] 15Weight:0.7g[1g] VP6x30E[5] 1%Neighti1.29[1.99]
10 10
I I
~ O e N
0 AU 1] T

VP8x20E[5] Weight : 0.7g[1.1g]

=
S
03]

1115 2

20

=

% Weight in [ ] is the weight of Fluoro rubber.

VP8x30E[5] 1 %Neight 1 1.29[1.9¢]

ey

23

30
oo‘ ~

=

1.1 15 2




H Dimensions of Pad & screw set [INNIINGE

VP2x4E[5]-M6[9] Weight : 1.9g[2.1g]

29
225
M6x1 92
X
wext | %7
[le}
<
wof ‘ [te)
@, 0
o~ ! -
LQ ~
A\
,“_’_T L [0.6

W

VP3.5x7[5]-M6[9] Weight : 1.9g[2.1g]

29
225
M6x1 g%
X
jﬁ I
v
<
wof ‘ 0
©, 0
o~ lJ—LJ -
ITo) —
- ~
A
a o2

oL

PISCO.

https://en.pisco.co.jp/

VP4x10E[5]-M6[9] Weight : 1.9g[2.1g]
9

[’
2.5
M6x1 ’}E‘
X
weer ||
T
<
wf ‘ s}
© %)
o | -
o .
o )
[=7y EJ

%

VP4x20E[5]-M6[9] Weight : 2.4g[2.8g]
15

10
29

22.5
22

M6x1

1]

08 15 2 35
ﬂ
7
15.

A
‘ 20

VP4x30E[5]-M6[2] Weight : 2.89[3.5g]
20

15
10
M6x1 29 92.5
[T
<
p I | e
— ! f;% I\I‘_
p 23
30

=

VP5x10E[5]-M6[2] Weight : 1.9g[2.1g]
29

22.5
22
M6x1 ﬁ
©
<
— —
0 [t}
Dy _ v
~ -
I-Q N~
oL
of 23
10

S

2.5

[ le2

M6x1

45
%
15.5

o
™,
N
2 ~
3 =
3 23
20

% Weight in [ ] is the weight of Fluoro rubber.

VP5x30E[5]-M6[2] Weight : 2.8g[3.4g]
20

15
10
29

M6x1
—

35 45




II Vacuum Pad Series

. Vacuum Pad Oval Series

1041

VP6x10E[5]-M6[9] Weight : 1.9g[2.1g]

VP6x20E[5]-M6[9] Weight : 2.4g[2.8g]
15

M6 X1

10

29

2.5

22

15.5

M6 X1

VP6x30E[5]-M6[9] Weight : 2.99[3.6g]

15
10

29 22.5
[ [ ]e2

3545

VP8x20E[5]-M6[9] Weight : 2.5g[2.9g]
15

10

29

VP8x30E[5]-M6[9] Weight : 2.9g[3.7g]

15
10
29

2.5

M6x1| | T a2

L

3545

1.1 1512

ELRS

% Weight in [ ] is the weight of Fluoro rubber.

M Table of Connection configuration code., etc for connection of pad and holder

Pad
Size
(mm)

Pad rubber
Model code

Connection type

Connection
configurafion code

2x4

VP2x4E[5]

3.5x7

VP3.5x7E[5]

4x10

VP4x10E[5]

5x10

VP5x10E[5]

6x10

VP6x10E[5]

4x20

VP4x20E[5]

5%20

VP5x20E[5]

6x20

VP6x20E[5]

8x20

VP8x20E[5]

4x30

VP4x30E[5]

5x30

VP5x30E[5]

6x30

VP6x30E[5]

8x30

VP8x30E[5]

Screw
(Connection
with screw)

Model code of
Pad & screw set

o f——\

Table of complement
parts model code

Adapter

VP2x4E[5]-M6[9]

VP3.5x7E[5]-M6[9]
VP4x10E[5]-M6[9]
VP5x10E[5]-M6[9]
VP6x10E[5]-M6[9]

FSPH10-M6[9]

VP4x20E[5]-M6([9]

VP5x20E[5]-M6[9]

VP6x20E[5]-M6[9]
VP8x20E[5]-M6[9]
VP4x30E[5]-M6[9]
VP5x30E[5]-M6[9]
VP6x30E[5]-M6[9]
VP8x30E[5]-M6[9]

FSPH20-M6[9]




PISCO.

https://en.pisco.co.jp/
Il Drawing of Vacuum Pad and Holder Joint [l M Pad adapter dimensions 1l
92.5 M6x1 = M6x1
m K| Gasket
< g 29
E— T P1
- mw,,_.@\lm i;l_—l“’
« ;
r 02 { “‘_’ 2
)
| ———ra— | sz
Unit © mm Unit © mm
VP2x4E[5] 2 4 0.15 FSPH10-M6[9]
VP3.5%7E[5] 35 7 0.3 -E10 FSPH20-M6[9] 10 15
< VP4x10E[5] 10
8 |VP4x20E[5] 4 20 0.8
2 -E20
% VP4x30E[5] 30
° VP5%10E[5] 10 -E10
2 |VP5x%20E[5] 5 20 0.8
z -E20
g VP5x%30E[5] 30
@ |VP6x10E[5] 10 -E10
S |VP6x20E[5] 6 20 1.1
= |VP6x30E[5] 30 £20
VP8x%20E[5] 20
8 1.1
VP8*30E[5] 30
VP2x4E[5]-M6[9] 2 4 0.15
VP3.5x7E[5-M6[9]| 3.5 7 0.3
VP4x10E[5]-M6[9] 10
VP4x20E[5]-M6[9] 4 20 0.8
gi VP4x30E[5)-M63] 30
2 | VP5%10E[5]-M6[9] 10
& |VP5x20E[5-M6[8] | 5 20 08 | -M6
2 |VP5x30E5-M63] 30
@ |VP6x10E[5-M6[9] 10
VP6%20E[5]-M6[9] 6 20 1.1
VP6x30E[5]-M6[9] 30
VP8x20E[5]-M6[9] 20
8 1.1
VP8%30E[5]-M6(9] 30

M Holder Dimensions for Vacuum Pad Oval Series [ININIG

Refer to the following dimensions, when producing vacuum pad holder and attach PISCO vacuum pad oval series to the holder.

Pad size : 2X4 Pad size : [JX20
35X%7 %30
x10

28

25

Oval Pad 23 Oval Pad




& Vacuum Pad Series

Vacuum Pad Oval Series

1043

B Model designation of Holder + Pad (Ex.)

@ 5x30 )-8 (& ][n) s
Vacuum Pad ©)]
-S3 Spec.
®
Holder type @ Filter (Option)
Pad size Free holder or Fall prevention valve (Option)
® ®
Stroke Port size and joint type
. Pad type Pad material
(@ .Holder type P
o Mini MA o Mini MB o Mini MC
8 |Standard A 8 |Standard B S [Standard C
® Nocoe = ® Nocore = @ Nocore oC
Type Fixed type / Top port Type Fixed type / Side port Type Spring type / Top port
o Mini MD o Mini =
S [Standard D 8 |Standard F
® Nocoe oD ® Nocore =
Type Spring type / Side port Type |Spring type / Direct mount
g1 x AE g x BE % Holder for Oval Pad Series
Type Screwed type / Top port Type Screwed type / Side port
Y
2 .Pad size XI @
Code | 2x4 [3.5x7 | 4x10 | 4x20 | 4x30 | 5x10 | 5x20 | 5x30 | 6x10 | 6x20 | 6x30 | 8x20 | 8x30
o [Xm| 2 3.5 4 5 6 8
S [Ym| 4 7 [ 10 ] 20 ][ 3 [ 10] 2 [ 3 [ 10] 2 [ 30 [ 2 [ 30
g Sorew -M6
= | ot -E10 | -E20 [-E10] -E20 [-E10] -E20 | -E20
(3 .Stroke (No code entry for Holder code : MA, A, MB, B,F, AE, and BE)
Code -4 -6 -10 -15 -20 -30 -40 -50
Stroke (m) 4 6 10 15 20 30 40 50
gl O(-m6)
= VPC OGMe) | OCM6) | OCM6) | O(M8)
g VPOC O(CMe) | O(M6) | O(Me) | O(-M6)
@ |veuD | O (-M6)
8 |vPD O(Me) | OEM6) | O(MB) | O(M6)
@ |VPOD O(CMe) | O(M6) | O(Me) | O(-M6)
% .Code in () : Connection configuration code.



PISCO.

https://en.pisco.co.jp/
@ .Pad type
Code E
Type Oval
(®.Pad material / Application
Code N S U F SE E NE HN EP
Rubber | - Nitrile | Silicone | Urethane | Fluoro | Conductive | CondutieBuiadre | Conductive NBR HNBR | EPDM
material | rubber rubber rubber rubber | Silicone rubber | rbber Lowresisance) | (Low resistance)
Application | Cardboard | Semiconductors | Cardboard | Chemical | Semiconductors |  General | Semiconductors | Cardboard | Application that
Plywood | Takingout | Plywood | environment | Takingout | parts of Plywood | requires light-
Iron plate | molded parts | Iron plate | High temp. | molded parts | semiconductors Iron plate | resistance or
Food-related | Thin work- work-pieces | Thin work- Food-related | ozone-proof.
Other general |  pieces pieces Other general | For use in
work-pieces | Food-related Food-related work-pieces | a moisture-

foruseunderaloworone | - containing
concenretoneniionment | atmosphere.

Color Black |Natural (vory)|  Blue Gray Black Black Black Black Black

% 1.The conductive Silicone rubber is a silicone rubber capable of releasing static electricity. (Volume resistance : 10°Q-cm or less)
% 2.The material of Conductive Butadiene rubber (low resistance) is a butadiene rubber (Volume resistance : 200Q-cm or less)

% 3.Pad size 2 x 4 and 3.5 x 7mm are not available with Conductive Butadiene rubber (Low resistance type)

% 4.The material of Conductive NBR (low resistance) is a nitrile rubber (Volume resistance : 200Q-cm or less)

% 5.Pad material N and NE are not suitable for use under ozone environment.

% 6.Pad size 4 x 30mm is not available with Urethane rubber and Fluoro rubber.

©® .Port size and joint type

Joint type Push-in fitting (mm) Barb fitting (mm) Female thread
Code | -180J -2J -3J -4J -6J -3B -4B -6B -M5 -M6
Size 21.8 2 23 o4 26 03%x02 |p4x02.5| 06xg4 | M5%x0.8 | M6%1
g Me| O O O O O O O O O O
s |-E10] O O O O O O O O O
g |E20| O O O O @) O O O O

IS
o
o.
=
2
@

ize differs depending on the holder type. Check the joint size by the holder dimensions lists in following pages.

@ .Free holder or Fall prevention valve (Option)

Code FH FHH ECV
Option | Free holder articulation angle : 30° | Free holder articulation angle : 15° Fall prevention valve
Hoplcable holde| VPMA, VPA, VPMB, VPB, VPMC, VPC, VPMD, VPD, VPF

(®.Filter (Option)

Code F15
Applicable holder| VPMA, VPA, VPMB, VPB, VPMC, VPC, VPMD, VPD, VPF
(9 .-S3 spec.
Code No code -S3

Metal parts material : Copper alloy free material
Sealing parts material : FKM or HNBR
»* .Free holder, Fall prevention valve and Filter are not available when "-S3" is selected.

Spec. Standard




II Vacuum Pad Series

. Vacuum Pad Oval Series

1045

B Vacuum pad + Fixed type holder Dimensions I

VALY Fixed type / Top port / Push-in fitting / Mini holder
@ RoHS Compiiant Y& Copper alloy free available # CAD (20s3D)
VPMA2JE[5](6][9) Unit : mm

= . Padsze |
Model code Pad size Connection config.
> code

o x v |
< VPMA2*4E[51-4J9] 2 4
©
o™ VPMA3.5%7E[5]-4J[9] 35 7
3o VPMA4x10E[51-4J9] 10
“, VPMA4x20E[51-4J[9] 4 20
b VPMA4*30E[5-4J9] 30
VPMA5*10E[51-4J[9] 10
VPMA5x%20E[5]-4J[9] 5 20 -M6
VPMA5x30E[5]-4J[9] 30
VPMA6x10E[5)-4J9] 10
VPMAG*20E[51-4J9] 6 20
VPMA6x30E[5)-4[9] 30
VPMA8*20E[51-4J[9] 20
—_— 8
VPMA8*30E[5]-4J[9] 30

3% .[5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or
HNBR for sealing parts).

% Pad material N and NE are not suitable for use under ozone environment.

%% Tightening torque of a pad holder fixing bulkhead nut is 5~7N-m.



PISCO.

https://en.pisco.co.jp/

Fixed type / Top port / Barb fitting / Mini holder
@ RoHS Compliant Y Copper alloy free available ¢ CAD (2083D)

VPMAZE(5]6/9) Unit : mm
oD,
i 11\
o 2-Hex.12 VPMA2x4E[5]-4B[9] ) 4 2.5
o i M10x1  VPMA2*4E[5}-6B[9] 4
N VPMA3 5%7E[5-4B[3] 25
™ —————————————— 315 7
© Hex.10  VPMA35x7E[5-6B[3] 4
@ VPMA4x10E[5-4B[9] 25
- ,_LJ_l JPUASTIIED B2 10
- VPMA4x10E[5-6B[9] 4
)] L
VPMA4x20E[5-4B[9] 25
Y _—— 4 20
. VPMA4x20E[5)-6B[9] 4
L=t \pMA4x30EE14BD) % 25
i VPMA4x30E[5]-6B2] 4
y VPMA5*10E[5-4B[9] 25
——————— 10
VPMA5x10E[5]-6B[9] 4
VPMA5x20E5-4B[9] s 2 25 e
VPMA5%20E[5]-6B[9] 4
VPMA5*30E[5-4B[9] 25
———————————— 30
VPMA5x30E[5-6B[9] 4
VPMA6*10E[5-4B[9] 25
_— 10
VPMA6x10E[5-6B(9] 4
VPMA6%20E[5-4B[9] 25
B ——— 6 20
VPMA6%20E[5]-6B[9] 4
VPMA6x30E[5-4B[9] 25
B —— 30
VPMA6x30E[5-6B[9] 4
VPMA8x20E[5)-4B[9] 25
———————————— 20
VPMA8*20E[5-6B[9] 8 4
VPMA8x30E[5-4B[9] % 25
VPMA8x30E[5-6B[9] 4

3 .[5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% .[9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or
HNBR for sealing parts).

% .Pad material N and NE are not suitable for use under ozone environment.

2% .Tightening torque of a pad holder fixing bulkhead nut is 5~7N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

Fixed type / Top port / Push-in fitting / Standard holder
@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

VPA2JE(5]6]9] Unit : mm
VPA2x4E[5]-3J 3
— = = M12x1| 477 | 17 | 109 | 14
VPA2x4E[5]-4J[9] 2 4 4
VPA2x4E[5]-6J[9] 6 |M14x1| 387 | 166 | 1.7 | 17
VPA3.5%7E[5]-3J 3
M12x1| 47.7 | 17 | 109 | 14
VPA3.5%7E[5]-4J[9]| 3.5 7 4
— = VPA3.5x7E[5]-6J[9] 6 |M14x1| 387 | 166 | 11.7 | 17
== ' VPA4X10E[S-3) | 3 lwiaxt| 477 | 17 | 109 | 14
Y VPA4x10E[5]-4J[9] 10 4
VPA4x10E[5]-6J[9] 6 |M14x1| 387 | 166 | 1.7 | 17
VPA4x20E[5]-3J 3
— M12x1| 477 | 17 | 109 | 14
VPA4x20E[5-4J[9] | 4 20 4
VPA4x20E[5]-6J[9] 6 |M14x1| 387 | 166 | 1.7 | 17
VPA4x30E[5]-3J 3
T M12x1| 477 | 17 | 109 | 14
VPA4x30E[5]-4J[9] 30 4
VPA4x30E[5]-6J[9] 6 |M14x1| 387 | 166 | 1.7 | 17
ERoaEE 3 lwiaxt| 477 | 17 | 109 | 14
VPA5%10E[5]-4J[9] 10 4 ’ :
VPA5x10E[5]-6J(9] 6 |M14x1| 387 | 166 | 1.7 | 17
m | R e 6| 3 lwiaxt| 477 | 17 | 109 | 14
VPA5%20E[5-4J9] | 5 20 4 ' ’ -M6
VPA5x%20E[5]-6J[9] 6 |M14x1| 387 | 166 | 1.7 | 17
| PR EEE 8| 5 IMi2x1| 477 | 17 | 109 | 14
VPA5%30E[5]-4J[9] 30 4 ’ :
VPA5x%30E[5]-6J[9] 6 |M14x1| 387 | 166 | 1.7 | 17
VPAG10E[S-3) | 5 IMi2x1| 477 | 17 | 109 | 14
VPA6%10E[5]-4J[9] 10 4 ’ i
VPA6%10E[5]-6J(9] 6 |M14x1| 387 | 166 | 1.7 | 17
VPAGX20E[S-3) | 5 IMi2x1| 477 | 17 | 109 | 14
VPA6x%20E[5]-4J[9] 6 20 4 : :
VPA6%20E[5]-6J[9] 6 |M14x1| 387 | 166 | 1.7 | 17
VPAGX30E[S-3) | 5 IMi2x1| 477 | 17 | 109 | 14
VPAG*30E[5]-4J[9] 30 4 ’ ’
VPAG6x%30E[5]-6J[9] 6 |M14x1| 387 | 166 | 11.7 | 17
| RS EEE 8] | 5 IMi2x1| 477 | 17 | 109 | 14
VPA8*20E[5]-4J[9] 20 4 ' ’
VPA8x%20E[5]-6J[9] 8 6 |M14x1| 387 | 166 | 1.7 | 17
VPA8*30E[5]-3J 3
VPAG30EEI4IS | % L Wi2xt| 477 | 47 | 109 | 14
VPA8*30E[5]-6J[9] 6 |M14x1| 387 | 166 | 11.7 17

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.

% .Tightening torque of a pad holder fixing bulkhead nut is as followings. Tube O.D. : @3, g4mm P 12~14N-m,
Tube O.D. : g6mm » 18~21N-m.



PISCO.

https://en.pisco.co.jp/

Fixed type / Top port / Barb fitting / Standard holder
@ RoHS Compliant Y Copper alloy free available ¢ CAD (2083D)

VPAZJE(5](6][9] Unit : mm

VPA2*4E[5]-4B[9] 25
— 2 4
VPA2x4E[5]-6B[9] 4
VPA3.5x7E[5]-4B[9] 25
—————————— 315 7
VPA3.5x7E[5]-6B[9] 4
VPA4x10E[5]-4B[9] 25
_——— 10
VPA4x10E[5]-6B[9] 4

——r% VPA4x20E[5-4B[9] . 2 25

[}

wb%f VPA4x20E[5]-6B[9] 4
VPA4x30E[5]-4B[9] 2.5
_————— 30
VPA4x30E[5-6B[9] 4
VPA5x10E[5]-4B[9] 25
_——— 10
VPA5x10E[5]-6B[9] 4
VPA5x20E[5-4B[9] 5 2 25 e
VPA5x20E[5]-6B[9] 4
VPA5x30E[5-4B[9] 25
_————— 30
VPA5x30E[5-6B[9] 4
VPABx10E[5]-4B[9] 25
_——— 10
VPA6x10E[5]-6B[9] 4
VPAG*20E[5-4B[9] 25
_—— 6 20
VPABx20E[5]-6B[9] 4
VPAG6*30E[5-4B[9] 25
_———— 30
VPAGx30E[5-6B[9] 4
VPA8x20E[5]-4B[9] 25
_————— 20
VPA8x20E[5]-6B[9] . 4
VPA8*30E[5-4B[9] 0 25
VPA8x30E[5]-6B[9] 4

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

[9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts).
% .Pad material N and NE are not suitable for use under ozone environment.

% .Tightening torque of a pad holder fixing bulkhead nut is 12~14N-m.




II Vacuum Pad Series

. Vacuum Pad Oval Series

1049,

VPA[2JE(5)-M6(9]
Mo
Model code FaaSiee
oY
o o 2-Hex.14  ypp2x4E[5-M6[9) 2 4
R w— Hex.12  VPA3.5x7E[5]-M6[9] 35 7
= ,_F VPA4x10E[5)-M6[9] 10
| VPA4x20E[5]-M6[9] 4 20
VPA4x30E[5)-M6[9] 30
=
~ | * VPA5x%10E[5]-M6[9] 10
Y VPA5x20E[5]-M6[9] 5 20
VPA5%30E[5]-M6[9] 30
VPAG6*10E[5)-M6[9] 10
VPAG*20E[5]-M6[9] 6 20
VPAG*30E[5]-M6[9] 30
VPA8x20E[5]-M6[9] 20
- — | 8
VPA8*30E[5]-M6[9] 30

Fixed type / Top port / Female thread / Standard holder

@ RoHS Compliant ¥ Copper alloy free available # CAD (2053D)

Unit : mm

Connection config.
code

-Mé

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or
HNBR for sealing parts).

% .Pad material N and NE are not suitable for use under ozone environment.

%% Tightening torque of a pad holder fixing bulkhead nut is 12~14N-m.



PISCO.

https://en.pisco.co.jp/

Screwed type / Top port / Push-in fitting / Holder for Oval Pad Series
@ RoHS Compliant Y Copper alloy free available 7 CAD (2083D)

VPAE2x4E[5][6]9) Unit : mm
VPAE3.5x7E(5]6]9]
VPAE4x10E[5)6]9)
VPAE4x20E5]6/9) VPAE2¥4E[5]-180J 18
VPAE4X30E@@ VPAE2x4E@-2J 2 37.3 8.4
VPAES5x10E(5]6]9) VPAE2X4E[5}3) 2 4 3
VPAE5X20E@@ VPAEZ“‘EE-‘U@ 4 41.1 10.9
VPAE5x30E(5]6/9) VPAE2x4E[51-6.(9] 6 425 1.7
20 VPAE3 5%7E[5-180J 18
212 S == 37.3 8.4
"D VPAE3.5%7E[51-2J 2
2:03.2 ro VPAE3 5%7EG-3 35 7 3 1 100 “E10
ik O] VPAE3 5x7EE-4J0) 4 ' '
A : VPAE3 5<7E-6J) 6 425 17
m| fi i 128 VPAE4x10E[5]-180J 1.8 373 o4
0 oo VPAE4*10E[5}-2J 2 ' '
| VPAE4x10E[5]-3J 10 3 41 10.9
~ —_———————— . .
i VPAE4x10E[5]-4J[9] 4
o e VPAE4*10E[5]-6J[9] 6 425 1.7
RIe——— VPAE4%20E[5]-180J 1.8
‘ Rl dioid 373 8.4
Y VPAE4x20E[5]-2J 2
VPAE4x20E[5)-3) 4 20 3
— = o= 41.1 10.9
VPAE4%20E[5]-4J[9] 4
VPAE4x20E[5]-6J[9] 6 425 1.7 £20
VPAE4x30E[5-180J 1.8
- 373 8.4
VPAE4x30E[5]-2J 2
VPAE4x30E[5)-3J 30 3
= 41.1 10.9
VPAE4x30E[5-4J[9] 4
VPAE4x30E[5]-6J[9] 6 425 1.7
VPAE5%10E[5-180J 1.8
- — 37.3 8.4
VPAE5*10E[5]-2J 2
VPAE5*10E[5)-3J 10 3 Mo 109 -E10
VPAE5%10E[5]-4J(9] 4 ’ '
VPAE5%10E[5]-6J[9] 6 425 11.7
VPAE5%20E[5)-180J 1.8 72 aa
VPAE5%20E[5)-2) 2 ’ ’
VPAE5%20E[5]-3J 5 20 3
— o= 41.1 10.9
VPAE5%20E[5]-4J[9] 4
VPAE5%20E([5]-6J[9] 6 425 1.7 £20
VPAE5%30E[5-180J 1.8
| 373 8.4
VPAE5%30E[5]-2J 2
VPAE5%30E[5]-3J 30 3
— = 41.1 10.9
VPAE5*30E[5)-4J(9] 4
VPAE5%30E[5]-6J[9] 6 425 1.7

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.




& Vacuum Pad Series

Vacuum Pad Oval Series

1051

VPAE6x10E[5]6][9)
VPAE6x20E[5]6](9)
VPAE6x30E(5)6]9)
VPAES8x20E[5]6](9)
VPAES8x30E[5]6](9)

2-03.2 22

@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

Unit : mm
VPAE6%10E[5]-180J 1.8
T 37.3 8.4
VPAEG6%10E[5]-2J 2
VPAE6%10E[5]-3J 10 3 -E10
— = 411 10.9
VPAEGx%10E[5]-4J[9] 4
VPAE6x10E[5]-6J[9] 6 425 1.7
VPAEG6x%20E[5]-180J 1.8
_—— 37.3 8.4
VPAEG6%20E[5]-2J 2
VPAE6%20E[5]-3J 6 20 3 i 109
VPAE6x20E(5]-4J9] 4
VPAEG6x%20E[5]-6J[9] 6 425 1.7
VPAEGx%30E[5]-180J 1.8 373 o4
VPAE6*30E[5]-2J 2
VPAEG6x%30E[5]-3J 30 3
o 411 10.9
VPAEG*30E[5-4J(9] 4
VPAE6%30E[5]-6J[9] 6 425 1.7 £20
VPAE8x20E[5]-180J 1.8 e aa
VPAE8*20E[5]-2J 2 ’ ’
VPAE8x20E[5]-3J 20 3
— " 411 10.9
VPAE8x*20E[5]-4J[9] 4
VPAE8*20E[5]-6J[9] . 6 425 1.7
VPAE8x*30E[5]-180J 1.8
_——— 37.3 8.4
VPAE8*30E[5]-2J 2
VPAE8*30E[5]-3J 30 3
—_— 411 10.9
VPAES*30E[5-4J(9] 4
VPAE8*30E[5-6J(9] 6 425 1.7

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.

is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.



PISCO.

https://en.pisco.co.jp/

Screwed type / Top port / Barb fitting / Holder for Oval Pad Series
@ RoHS Compliant Y Copper alloy free available ¢ CAD (2083D)

VPAE[ZJE(5]6](9] Unit : mm
20
2-03.2 ‘—'0‘1‘2 oD
ﬁ oi VPAE2x4E[5]-3B[9] 2 37 6
“’l VPAE2x4E[5]-4B[9] 2 4 2.5
- : _— 38.5 7
o L i log  VPAE2X4E(5-6805) 4
o [ 1 1o0 VPAE3.5%7E[5]-3B[9] 2 37 6
N VPAE3.5%7E[51-4B0]| 3.5 7 25 285 , -E10
~ VPAE3 5%7E[5-6B[9] 4 )
“‘><T == VPAE4x10E[5]-3B[9] 2 37 6
=1 VPAE4x10E[5-4B[3] 10 25 %85 ,
Y VPAE4x10E[5)-6B[9] 4 ’
VPAE4x20E[5]-3B[9] 2 37 6
VPAE4x20E[5)-4B[9] 4 20 25 285 ;
VPAE4x20E[5)-6B9] 4 ’ E20
VPAE4x30E[5]-3B[9] 2 37 6
VPAE4x30E[5)-4B[9] 30 25
— 38.5 7
VPAE4x30E[5)-6B[9] 4
VPAE5%10E[5]-3B[9] 2 37 6
VPAE5%10E[5-4B[9] 10 25 -E10
—_— | 385 7
VPAE5%10E[5)-6B[9] 4
VPAE5%20E[5]-3B[9] 2 37 6
VPAE5%20E[5-4B[9] 5 20 25 385 ,
VPAE5%20E[5)-6B[9] 4 ’ E20
VPAE5*30E[5]-3B[9] 2 37 6
VPAE5%30E[5-4B[9] 30 25
—_— | 385 7
VPAE5%30E[5)-6B9] 4
VPAEG*10E[5]-3B[9] 2 37 6
VPAE6x10E[5)-4B[9] 10 25 -E10
—_— | 38.5 7
VPAE6*10E[5]-6B[9] 4
VPAEG*20E[5]-3B[9] 2 37 6
VPAE6x20E[5-4B[9] 6 20 25
—_— 38.5 7
VPAE6%20E[5)-6B9] 4
VPAE6*30E[5]-3B[9] 2 37 6
VPAE6x30E[5-4B[9] 30 25 285 ;
VPAE6%30E[5)-6B9] 4 ’ E20
VPAE8*20E[5]-3B[9] 2 37 6
VPAE8*20E[5)-4B[9] 20 25
— | 385 7
VPAE8*20E[5]-6B[9] 4
—_— 8
VPAE8*30E[5)-3B[9] 2 37 6
VPAE8*30E[5}-4B[9] 30 25
— | 385 7
VPAE8*30E[5]-6B[9] 4

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
[9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts).
% .Pad material N and NE are not suitable for use under ozone environment.




II Vacuum Pad Series

. Vacuum Pad Oval Series

Screwed type / Top port / Female thread / Holder for Oval Pad Series
@ RoHS Compliant ¥ Copper alloy free available # CAD (2053D)

VPAE[2 E[5)-M5[9] Unit : mm
2032 X ion confi
o 212 IM5x0.8 Model code Pad size Connection config.
= =1 code
\ i 128 VPAE2x4E[5]-M5[9] 2 4
o ol ee VPAE3 5X7E[5-M5[3] 35 7 -E10
(9] ol |
\ VPAE4%10E[51-M5[9] 10
~ VPAE4*20E[5-M5[3] 4 20 £20
af s == VPAE4x30E[51-M5[9] 30
g = VPAE5*10E[5-M5[9] 10 -E10
Ly | VPAE5x20E[5-M5[9] 5 20
-E20
VPAE5*30E[5-M5[9] 30
VPAE6*10E[5)-M5[9] 10 -E10
VPAEB*20E[5-M5[9] 6 20
VPAE6*30E[51-M5[9] 30 £20
VPAE8*20E[5]-M5[9)] g 20
VPAE8*30E[5]-M5[9] 30

1053

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or

HNBR for sealing

parts).

% .Pad material N and NE are not suitable for use under ozone environment.



PISCO.

https://en.pisco.co.jp/

Fixed type / Side port / Push-in fitting / Mini holder
@ RoHS Compliant Y Copper alloy free available ¢ CAD (2083D)

VPMB2x4E(5/6]9) Unit : mm
VPMB3.5x7E(5)6]9]
VPMB4x10E[5)6]9)
VPMB4x20E(5/6]9) VPMB2*4E[5-180J 18
VPMB4x30E[5)6]9) VPMB2UES 2 | 2 13.7 84
VPMB5x10E(5/6]9) VPMB24E1-3J 2 4 3
VPMB5x20E[5)6]9) VPMB2X4EB4U8] | 2 17.5 10.9
VPMB5x30E(5/69) VPMB2¥4E[5)-6J[9] 6 19.4 1.7
M5x08 ~219% E VPMB3.5%7E[5)-180J 1.8 137 oa
T VPMB3.5%7E[5)-2J 2 ' '
“L,; 4 |Hex10 |\ | VPMB3SXTEBL3) | 35 7 3 75 | 108
; El VPMB35%7E[5-4J] 4 ' '
N i — VPMB3 5%7EB-6J9) 6 194 | 117
¢ VPMB4x10E[51-180J 18
—_— 13.7 8.4
- g: VPMB4x10E5)-2J 2
VPMB4x10E[5-3J 10 3 s 100
v | VPMB4*10E[5)-4J(9] 4 ' '
=\ VPMB4x10E[5)-6J(9] 6 19.4 1.7
VPMB4x20E[5-180J 1.8
_— 13.7 8.4
= VPMB4x20E[5-2J 2
- VPMB4x20E[5-3J 4 20 3
.; —— =" 17.5 10.9
VPMB4x20E[5-4J3] 4
VPMB4x20E[5)-6J[9] 6 19.4 1.7 -
VPMB4x30E[5-180J 1.8
—_— 13.7 8.4
VPMB4x30E[5)-2J 2
VPMB4x30E[5)-3J 30 3
T ————l 17.5 10.9
VPMB4x30E[5-4J[9] 4
VPMB4x30E[5]-6J[9] 6 19.4 1.7
VPMB5*10E[5-180J 1.8
——————————— 13.7 8.4
VPMB5*10E[5-2J 2
VPMB5*10E[5-3J 10 3 s 100
VPMB5*10E[5-4J9] 4 ' '
VPMB5*10E[5-6J] 6 19.4 17
VPMB5%20E[5-180J 1.8
_ 13.7 8.4
VPMB5%20E/5)-2J 2
VPMB5%20E/5-3J 5 20 3
——————————— 17.5 10.9
VPMB5%20E[5-4J3] 4
VPMB5x%20E[5)-6J[9] 6 19.4 1.7
VPMB5*30E[5-180J 1.8
——————————— 13.7 8.4
VPMB530E[5-2J 2
VPMB5%30E[5)-3J 30 3
————————— 17.5 10.9
VPMB5*30E[5-4J3] 4
VPMB5*30E[51-6J[9] 6 19.4 1.7

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.




& Vacuum Pad Series

Vacuum Pad Oval Series

@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

VPMB6x10E[5]6]9] Unit : mm
VPMB6x20E[5)6]9]
VPMB6x30E(5]6]9)
VPMB8x20E(5]6/9) VPMB6*10E[5-180. 18
VPMB8x30E5][6)(9) VPMBE<10EE2) | 2 13.7 84
Msxo.s <210 £ VPMB6*10E5}-3J 10 3 s 100
- VPMB6x10E51-4J8] 4 ' '
mL,g J |Hex10 |\ o VPMBEX10EGL6JE] 6 194 | 17
; o-- il VPMB6*20E[5-180J 18 137 oa
% i ] VPMB6*20E[5-2J 2 : :
c VPMB6*20EE13 6 20 3
— ———— 17.5 10.9
= :‘: VPMB6%20E[5)-4.[9] 4
VPMB6x%20E[5]-6J[9] 6 19.4 1.7
Ly ] VPMB6*30E[5-180J 18 1 os
=—~\x VPMB6*30E5)-2) 2 ' '
VPMB6x30E[5)-3J 30 3 175 109 -M6
VPMB6*30E51-4J3] 4 ' '
VPMB6%30E[5)-6J[9] 6 19.4 1.7
VPMB8*20E51180J 18
—_—— ————— 13.7 8.4
VPMB8*20E51-2) 2
VPMB8*20E[5}-3J 20 3 s 100
1059 VPMB8*20E[51-4J3] 4 : '
VPMB8x20E[5]-6.[9] . 6 19.4 1.7
VPMB8*30E5}180J 18
—_— 13.7 8.4
VPMB8*30E5)-2J 2
VPMB8*30E[5)-3J 30 3
e 17.5 10.9
VPMB8*30E51-4J3] 4
VPMB8*30E[5]-6J[9] 6 19.4 1.7

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.



PISCO.

https://en.pisco.co.jp/

Fixed type / Side port / Barb fitting / Mini holder
@ RoHS Compliant Y Copper alloy free available ¢ CAD (2083D)

VPMB(2JE(5]6/9] Unit : mm
M5x0.8 ~210- £
©| \“ ‘1
L,g 4 ™ VPMB2x4E[5]-3B[9] 2 13.4 6
o VPMBAZAER OB |
= Ll — VPMB2x4E[5-4B[9] 2 4 25
o _———— 14.9 7
o cjq VPMB2x4E[5]-6B[9] 4
Hex.10 VPMB3.5%7E[5]-3B[9] 2 13.4 6
b :@: VPMB3.5X7E[5-4B[9]| 3.5 7 25 149 ;
VPMB3.5%7E[5]-6B[9] 4 :
Ly | VPMB4x10E51-3809] 2 13.4 6
——\x VPMB4x10E/5]-4B[9] 10 25
T IESHAPE | 14.9 7
VPMB4x10E[5]-6B[9] 4
- VPMB4x20E[5)-3B[9] 2 13.4 6
$ VPMB4x20E[5)-4B[9] 4 20 25
PESHAPE | 14.9 7
] VPMB4x20E[5]-6B[9] 4
VPMB4x30E/5)-3B[9] 2 13.4 6
VPMB4x30E[5-4B[9] 30 25
tTIVES DS | 14.9 7
VPMB4x30E[5]-6B[9] 4
VPMB5x10E[5]-3B[9] 2 13.4 6
VPMB5x10E[51-4B[9] 10 25
A== iD= 14.9 7
VPMB5x10E[5]-6B[9] 4
VPMB5x20E[5]-3B[9] 2 13.4 6
VPMB5x%20E[5-4B[9] 5 20 25 -M6
| 14.9 7
VPMB5x20E[5]-6B[9] 4
VPMB5x%30E[5)-3B[9] 2 13.4 6
VPMB5x30E[5-4B[9] 30 25
JASSE RiDE | 14.9 7
VPMB5x30E[5]-6B[9] 4
VPMB6x%10E[5)-3B[9] 2 13.4 6
VPMB6x10E[5-4B[9] 10 25
7 PESHAPE | 14.9 7
VPMB6x10E[5)-6B[9] 4
VPMB6x%20E[5)-3B[9] 2 13.4 6
VPMB6x%20E[5-4B[9] 6 20 25
TESHAPE | 14.9 7
VPMB6x20E[5)-6B[9] 4
VPMB6x%30E[5)-3B[9] 2 13.4 6
VPMBG6x*30E[5-4B[9] 30 25
TIVESAPE | 14.9 7
VPMB6x30E[5)-6B[9] 4
VPMB8x20E[5-3B[9] 2 13.4 6
VPMB8x20E[5-4B[9] 20 25
—_—— | 14.9 7
VPMB8x20E[5]-6B[9] 4
————— 38
VPMB8x30E[5)-3B[9] 2 13.4 6
VPMB8*30E[5}-4B[9] 30 25
JeplaiE | 14.9 7
VPMB8x30E[5]-6B[9] 4

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
[9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts).
% Pad material N and NE are not suitable for use under ozone environment.




II Vacuum Pad Series

. Vacuum Pad Oval Series

1057]

VPMB[2E(5)-M5(9]
M5x0.8 @10

32.2

Fixed type / Side port / Female thread / Mini holder

@ RoHS Compliant ¥ Copper alloy free available # CAD (2053D)

Model code

Unit : mm

Connection
config. code

o N[ X v
o mia VPMB2x4E[5-M5[9] 2 4
& [ K Msx0.8 VPMB3 5X7ES-M5E] 35 =

+J Hex.10 VPMBAX10E'SIMS(] | 10
VPMBAx20E'SI-MS(] | 4 20
. l;,j:l VPMB4X30E S V5] 30
VPMB5*10E5-M53) 1
Y - = = |

e — VPMB5*20E5-M53) 5 %
==\ <} VPMB5*30E(5-M5(9] 30
VPBE10E5HS5) 0
VPBGUESAID | 6 2
VPMB6*30E5-M52) 20
VPNB8*20E5-M53) 2

/PMRex2NE S MEO] | 8
VPMBE*30E5-M53) %

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and

FKM or HNBR for sealing parts).

% .Pad material N and NE are not suitable for use under ozone environment.



PISCO.

https://en.pisco.co.jp/

Fixed type / Side port / Push-in fitting / Standard holder
@ RoHS Compliant Y Copper alloy free available ¢ CAD (2083D)

VPB(2E(5]6]9] Unit : mm
012
Mex1[~ - E
°°LJt J.clw VPB2*4E[5)-3J 3 e | 100
@ [ ] "Hili VPB2X4EBH4JE] | 2 4 4 ' '
o = 3 VPB2x4E[5]-6J[9] 6 19.9 17
VPB3.5%7E[5)-3J 3
EM VPB3.5%7E[5-4J08])| 35 7 4 186 109
, VPB3.5x7E[5]-6J[9)] 6 19.9 1.7
’—\; = VPB4x10E[5)-3 3 156 106
Y VPB4x10E[5]-4J[9] 10 4 : :
VPB4x10E[5]-6J[9] 6 19.9 1.7
s VPB4x20E[5]-3J 3 186 109
] VPB4x20E[5]-4J[9] 4 20 4 ’ ’
2 VPB4x20E[5]-6J[9] 6 19.9 1.7
.' VPB4x30E[5]-3J 3 186 109
’ VPB4x30E[5]-4J[9] 30 4 ' '
VPB4x30E[5]-6J[9] 6 19.9 1.7
VPB5x10E[5]-3J 3 186 109
VPB5x10E[5]-4.J[9] 10 4 : :
VPB5x%10E[5]-6J[9] 6 19.9 1.7
VPB5x%20E[5]-3J 3 186 109
VPB5%20E[5]-4J[9] 5 20 4 ’ ’ -M6
VPB5x%20E[5]-6J[9] 6 19.9 1.7
VPB5x30E[5]-3J 3 186 109
VPB5%30E[5]-4J[9] 30 4 ' '
VPB5x%30E[5]-6J[9] 6 19.9 1.7
VPB6x10E[5-3J 3 186 109
VPB6%10E[5]-4J[9] 10 4 ’ ’
VPB6x%10E[5]-6J[9] 6 19.9 1.7
VPB6x%20E[5]-3J 3 185 109
VPB6x%20E[5]-4J[9] 6 20 4 ‘ ‘
VPB6%20E[5]-6J[9] 6 19.9 1.7
VPB6x30E[5-3J 3 185 109
VPB6x30E5)-4J[9] 30 4 : :
VPB6%30E[5]-6J[9] 6 19.9 1.7
VPB8x20E[5]-3J 3 186 109
VPB8*20E[5]-4J[9] 20 4 ' '
VPB8%20E[5]-6J[9] a 6 19.9 1.7
VPB8*30E[5]-3J 8]
—_— 18.6 10.9
VPB8x30E[5]-4J[9] 30 4
VPB8%30E[5]-6J[9] 6 19.9 1.7

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.




& Vacuum Pad Series

Vacuum Pad Oval Series

Fixed type / Side port / Barb fitting / Standard holder
@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)
VPB[2JE(5]6]9) Unit : mm

212
M6x1 r—’15-9
T
VPB2X4E[514B19] | 2 4 25
VPB2x4E[5]-6B[9] 4
VPB3.5%7E[5]-4B[9] 25
—_— | 3.5 7
VPB3.5%7E[5]-6B[9] 4
VPB4x10E[5]-4B[9] 25
_— 10
VPB4x10E[5)-6B[9] 4
VPB4x20E[5]-4B[9] 25
— | 4 20
VPB4x20E[5]-6B[9] 4
VPB4x30E[5)-4B[9] 25
_—— 30
VPB4x30E[5]-6B[9] 4
VPB5*10E[5]-4B[9] 2.5
_— 10
L. VPB5*10E[5-6B[3] 4
VPB5*20E[5]-4B[9] 25
— 5 20 -M6
VPB5%20E[5]-6B[9] 4
VPB5x%30E[5)-4B[9] 2.5
_—— 30
VPB5*30E[5]-6B[9] 4
VPB6x10E[5]-4B[9] 2.5
_— 10
VPB6x10E[5)-6B[9] 4
1059 VPB6%20E[5]-4B[9] 6 20 25
VPB6x20E[5]-6B[9] 4
VPB6x*30E[5)-4B[9] 25
_—— 30
VPB6*30E[5]-6B[9] 4
VPB8x20E[5]-4B[9] 2.5
_—— 20
VPB8x20E[5]-6B[9] 3 4
VPB8x30E[5]-4B[9] o 25
VPB8x30E[5)-6B[9] 4

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts).
% .Pad material N and NE are not suitable for use under ozone environment.



PISCO.

https://en.pisco.co.jp/

Fixed type / Side port / Female thread / Standard holder
@ RoHS Compliant Y Copper alloy free available ¢ CAD (2083D)

VPB(ZJE(5)-M6(9] Unit : mm
VPB2*4E[5]-M6[9] 2 4
VPB3.5%7E[5]-M6[9] 3.5 7
VPB4x10E[5]-M6[9] 10
VPB4%20E[5]-M6[9] 4 20
VPB4*30E[5)-M6[9] 30
VPB5%10E[5]-M6[9] 10
VPB5*20E[5]-M6[9] 5 20 -M6
VPB5*30E[5)-M6[9] 30
VPB6x%10E[5)-M6[9] 10
VPB6%20E[5]-M6[9] 6 20
VPB6x30E[5)-M6[9] 30
B VPB8x*20E[5]-M6[9] 20
L F———————————— 8
VPB8*30E[5-M6[9] 30
’ 3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and
FKM or HNBR for sealing parts).
% .Pad material N and NE are not suitable for use under ozone environment.




& Vacuum Pad Series

Vacuum Pad Oval Series

Screwed type / Side port / Push-in fitting / Holder for Oval Pad Series
@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

VPBE2x4E[5]6]9) Unit * mm
VPBE3.5x7E[5]6)9)
VPBE4x10E[(5]6)9)
VPBE4x20E(5/6/9) VPBE2x4E[51-180 18
VPBE4x30EIE[9] VPBE2x4E[51-2J 2 163 84
VPBESx10E5.5.9. VPBE2X4E[5}-3) 2 4 3
VPBE5x20E(5)6]9) VPBE2ESI4J3] | 7 20.1 10.9
VPBESX:BOEQOE@@ VPBE2*4E[5-6J[9] 6 215 1.7
VPBE3.5%7E[5-180J 1.8
2-03.2 | 212 — e = 16.3 8.4
— VPBE3.5%7E[5)-2J 2
“’.T | | |28 VPBE3.5%7E[5]-3J 35 7 3 -E10
- ‘ — e 20.1 10.9
° 1,09 QI & VPBE3.5%7E[5-4J33] 4
g 3 ‘ = VPBE3 5+7EEL6J3) 6 215 | 17
— x - 1.8
¥ ‘ c VPBE4x10E[5-180J 163 6
: E VPBE4x10E[5)-2J 2
Nre——c VPBE4x10E[5-3J 10 3 o 109
<= VPBE4x10E[54J[3] 4
v VPBE4x10E[5)-6J[9] 6 215 1.7
VPBE4x20E[5-180J 1.8 163 6a
VPBE4x20E[5)-2J 2 ' ’
VPBE4x20E[5-3J 4 20 3 o 106
1061 VPBE4x20E[5-4J[9] 4 ' ’
VPBE4x20E[5)-6J[9] 6 215 1.7 £20
VPBE4x30E[5-180J 1.8
— 16.3 8.4
VPBE4x30E[5)-2J 2
VPBE4x30E[5)-3J 30 3
_— 20.1 10.9
VPBE4x30E[5]-4J[9] 4
VPBE4x30E[5]-6J[9] 6 215 1.7
VPBE5*10E[5-180J 1.8
Y 16.3 8.4
VPBE5x10E[5)-2J 2
VPBE5*10E[5]-3J 10 3 204 109 -E10
VPBE5*10E[5-4J[9] 4 : :
VPBE5x10E[5-6J[9] 6 215 1.7
VPBE5%20E[5)-180J 1.8 163 6a
VPBE5%20E[5)-2J 2 ' ’
VPBE5*20E[5-3J 5 20 3
_— 20.1 10.9
VPBE5*20E[5-4J[9] 4
VPBE5*20E[5)-6.[9] 6 215 1.7 £20
VPBE5*30E[5-180J 1.8
— 16.3 8.4
VPBE5*30E[5)-2J 2
VPBE5*30E[5)-3J 30 3
_— 20.1 10.9
VPBE5*30E[5-4J[9] 4
VPBE5*30E[5-69] 6 215 1.7

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.



PISCO.

https://en.pisco.co.jp/

@ RoHS Compliant Y Copper alloy free available ¢ CAD (2083D)
VPBE6x10E[E]6])

Unit : mm
VPBE6x20E[5]6]9)
VPBE6x30E(5]6]9)
VPBESx20E(5|6/9) VPBE610E[5]-180J 18
VPBE8x30E[5)(6)9] m ) 16.3 8.4
20 _— |
VPBE6*10E[5)-3 10 3 -E10
2-032 | 212 B A 20.1 10.9
VPBE6x10E[5)-4J9] 4
sl 1 128 VPBE6x10E[5-6J(9] 6 215 1.7
1,109 Q| § VPBE6x*20E[5-180J 18
© < = e e 16.3 8.4
g 3 ‘ VPBE6*20E5-2J 2
’\I ‘ C VPBE6*20E[5-3J 6 20 3 201 10.9
; E VPBE6*20E[5-4J(9] 4
NxTﬁ_f = VPBE6x%20E[5)-6J9] 6 21.5 1.7
—- — — X -
5N A — VPBE6%30E[5-180J 1.8 163 8.4
Y VPBE6x%30E[5]-2J 2
VPBE6%30E[5)-3J 30 3
o 20.1 10.9
VPBE6*30E[5-4.9] 4
VPBE6*30E[5)-6J[9] 6 215 1.7 £20
) VPBE8*20E[5]-180J 18
= i 16.3 8.4
VPBE8*20E[5)-2J 2
VPBE8x20E[5]-3J 20 3
— 20.1 10.9
VPBE8*20E[5]-4J9] 4
VPBE8*20E[5)-6.9] . 6 21.5 1.7
VPBE8*30E[5-180J 18
| 16.3 8.4
VPBE830E[5)-2J 2
VPBE8*30E[5)-3J 30 3 201 e
VPBE8*30E[5-4J9] 4
VPBE8*30E[5)-6J[9] 6 21.5 1.7

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.




& Vacuum Pad Series

Vacuum Pad Oval Series

1063

Screwed type / Side port / Barb fitting / Holder for Oval Pad Series
@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

VPBE[2JE(5)(6]9] Unit : mm
20
2-03.2 | 212
.,{ \ \ 128 VPBE2x4E[51-3B[9] 2 16
- e 8 VPBE2x4E[5]-4B[9] 2 4 25 s
& 3 ‘ VPBE2*4E[51-6B3] '
—cll VPBE3.5%7E[5-3B[9] 16
~ VPBE3.5X7E[5-4BB]| 3.5 7 2.5 -E10
E e 175
VPBE3.5x7E[5)-6B[9]
of Hee= VPBE4x10E-3803] 16
X =i VPBE4x10E[5-4B[9] 10 25 s
Y VPBE4*10E[516B[3] '
VPBE4x20E[5-3B[9] 16
VPBE420E[SL4BR]| 4 20 25 175
VPBE4x20E[5-6B(9] )
-E20
VPBE4x30E[5-3B[3] 16
VPBE4x30E[5-4B[9] 30 25
P —— 175
VPBE4x30E[5-6B(9]
VPBE5*10E[5-3B[9] 16
VPBE5*10E[5-4B[9] 10 25 -E10
Y 17.5
VPBE5*10E[51-6B[9]
VPBE5%20E[5)-3B[3] 16
VPBES<20E[S4B[]| 5 20 25 e
VPBE5*20E[5-6B[9] )
-E20
VPBE5*30E[5]-3B[3] 16
VPBE5*30E[5-4B[9] 30 25
TV ——— 17.5
VPBE5*30E[51-6B[9]
VPBE6x10E[5-3B[3] 16
VPBE6*10E[5)-4B[9] 10 25 -E10
P ——— 175
VPBE6x10E[5-6B[9]
VPBE6%20E[5-3B[3] 16
VPBE6%20E[5)-4B[9] 6 20 25
P ——— 175
VPBE6x*20E[5)-6B[9]
VPBE6*30E[5-3B[3] 16
VPBE6*30E[5]-4B[9] 30 25 175
VPBE6x*30E[5-6B(9] ’
-E20
VPBE8x20E[5-3B[3] 16
VPBE8*20E[5]-4B[9] 20 25
TV ——— 17.5
VPBE8*20E[5-6B[9]
8
VPBE8x30E[5-3B[9] 16
VPBE8*30E[5]-4B[9] 30 25
— 17.5
VPBE8x30E[5-6B[9] 4

.[5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
sl

Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts).

.Pad material N and NE are not suitable for use under ozone environment.



PISCO.

https://en.pisco.co.jp/

Screwed type / Side port / Female thread / Holder for Oval Pad Series
@ RoHS Compliant Y Copper alloy free available 7 CAD (2083D)

VPBE[2E(5)-M5[9] Unit : mm
20
2-93.2 r%
.,4‘ \ } 128 VPBE2X4E[S-M5[3] 2 4
T 1o & VPBE3.5X7E[5-M5[9] 35 7 -E10
& 3 + VPBE4*10E[5-M5[] 10
£ \M5x0.8 VPBE4*20E[5-M5[9] 4 20
~ ‘ VPBE4*30E[5-M5[9] 30 -£20
ofsd I(T = VPBE5*10E[5-M5[9] 10 -E10
T C = VPBE5*20E[5]-M5[9] 5 20 20
Ly | VPBE5X30E51-M509] 30
VPBE6*10E[5-M5[9) 10 -E10
VPBE6*20E[5-M5[3) 6 20
VPBE6*30E[5-M5[9) 30
-E20
VPBEB*20E[5-M5[9] . 20
VPBE8X30E[5-M5[3) 30

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and
FKM or HNBR for sealing parts).

% .Pad material N and NE are not suitable for use under ozone environment.




& Vacuum Pad Series

Vacuum Pad Oval Series

Spring type / Top port / Push-in fitting / Mini holder

VPMCZ-4E5]6)9) oD, @ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)
1 ] jl Stroke (mm)
o 4
== M10x1
oot 2-Hex.12
ol
m

14
S I —
|

T

1)

X

>

Ly |
—\x _
Unit © mm
VPMC2x4-4E[51-180J 1.8
s T 49.9 8.4
VPMC2x4-4E51-2J 2
_ - = 2 4 1~1.3
VPMC2x4-4E51-3J 557 109
VPMC2x4-4E[51-4J3] ) )
VPMC3.5%7-4E[51-180J 1.8
VPMC3 57-4E3-2) 2 49.9 84
gloelyy — -~ =" 35 7 1~13
VPMC35%7-4E5-3) 3
—————————— 53.7 10.9
VPMC3 5%7-4E[51-4J9]
VPMC4x10-4E[5-180J 1.8
s — 499 8.4
VPMC4x10-4E[5-2J 0 2
VPMC4x10-4E[5-3J 557 109
VPMC4x10-4E5-4J8] ] ]
VPMC4x20-4E[5-180J 1.8
e 49.9 8.4
VPMC4x20-4E[5-2J 2
—_— 4 20 1~1.3
VPMC4x20-4E[5-3J 3
B ————— 53.7 10.9
VPMC4*20-4E[5-4J(9] -
VPMC4x30-4E[5-180J 1.8
il bl 499 8.4
VPMC4x30-4E[5-2J % 2
VPMC4x30-4E[5-3J
B ————— 53.7 10.9
VPMC4x30-4E[5-4.3]
VPMC5x10-4E[5-180J 1.8
Y 499 8.4
VPMC5x10-4E[5-2J 0 2
VPMC5x10-4E[5-3J 557 109
VPMC5*10-4E5-4J8] ) ]
VPMC520-4E5-180J 1.8
e 499 8.4
VPMC5%20-4E[5-2J 2
———— 5 20 1~1.3
VPMC5*20-4E[5]-3J 3 57 108
VPMC5%20-4E[5-4J[9] ) ’
VPMC5x30-4E[5-180J 1.8
| e 49.9 8.4
VPMC5x30-4E[5-2J % 2
VPMC5x30-4E[5-3J
————————————— 53.7 10.9
VPMC5x30-4E[5-4.3]




PISCO.

https://en.pisco.co.jp/
Unit : mm

VPMC6x10-4E[51-180J 1.8

- = 49.9 8.4
VPMC6x10-4E(5)-2J 10 2

VPMCEx10-4E[5-3) 3
—_— 53.7 10.9
VPMC6%10-4E[5)-4J(9] 4

VPMC6%20-4E(51-180J 1.8
= == 49.9 8.4
VPMCEx20-4E[5-2J 2
P TP ——— 6 20 1~13
VPMC6%20-4E(5)-3J 3
T T o ——— 53.7 10.9
VPMC6%20-4E[51-4J[9] 4

VPMC6x30-4E[51-180J 1.8

- - 49.9 8.4
VPMC6*30-4E(5)-2J 2
_——————— 30 -M6
VPMC6x30-4E[5-3) 3 537 109
VPMC6*30-4E[51-4J9] 4 ’ ’
VPMC8%20-4E[51-180J 1.8

- — 49.9 8.4
VPMC8x20-4E[5-2J . 2

VPMC8x20-4E[5]-3) 3
TP ——— 53.7 10.9
VPMC8*204E514J7) s 4 IS
VPMC8x30-4E[51-180J 1.8 ’
= = 49.9 8.4
VPMC8x30-4E[5-2J @ 2

VPMC8x30-4E(5)-3J 3
_—— 53.7 10.9
VPMC8x30-4E[51-4J9] 4

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.

% Tightening torque of a pad holder fixing bulkhead nut is 4~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

Spring type / Top port / Barb fitting / Mini holder
@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

VPMC/(2)-4E[5)6]9) Stroke (mm)
oD 4
o0,
(6} Unit © mm
M10x1
o 2-Hex.12
o VPMC2x4-4E5-3B(3) 2 496 6
VPMC2x4-4E[5-4B[9] 2 4 25 1~13
o —_— | 51.1 7
TDKIT <4 VPMC2x4-4E[5-6B3) 4
3 Hex.10 VPMC3 5x7-4E5-38] 2 | 496 | 6
5 r VPMC3.5¥7-4E[5}4B3]| 3.5 7 25 1~13
— e =T 51.1 7
— ;: VPMC3.5%7-4E[5-6B[9] 4
VPMC4x10-4E[5)-3B[9] 2 49.6 6
Ly ] VPMC4*104E514B3) o [25 [
=)\ =< VPMC4x10-4E[5]-6B[9] 4 '
VPMC4x20-4E[51-38[9] 2 496 6
VPMC4x20-4E[5-4B[9] 4 20 25 1~1.3
T 51.1 7
VPMC4*20-4E[5]-6B[9] 4
VPMC4x30-4E[5-3B[9] 2 49.6 6
VPMC4x30-4E[51-4B[9] 30 25
— 51.1 7
VPMC4x30-4E[5]-6B[9] 4
VPMC5%10-4E[51-38[9] 2 496 6
VPMC5%10-4E[51-4B[9] 10 25
= 51.1 7
VPMC5%10-4E[5]-6B[9] 4
VPMC5%20-4E[51-38[9] 2 496 6
VPMC5%20-4E[5-4B[9] 5 20 25 1~13| -M6
e 51.1 7
VPMC5%20-4E[5]-6B[9] 4
VPMC5*30-4E[51-38[9] 2 496 6
VPMC5%30-4E[51-4B[9] 30 25
= 51.1 7
VPMC5%30-4E[5]-6B[9] 4
VPMC6x10-4E[5)-3B[9] 2 49.6 6
VPMC6*10-4E[51-4B[9] 10 25
= 51.1 7
VPMC6*10-4E[5]-6B[9] 4
VPMC6x20-4E[5)-3B[9] 2 49.6 6
VPMC6x20-4E[5-4B[9] 6 20 25 1~1.3
e 51.1 7
VPMC6*20-4E[5]-6B[9] 4
VPMC6*30-4E[51-38[9] 2 496 6
VPMC6*30-4E[5-4B[9] 30 25
— 51.1 7
VPMC6*30-4E[5]-6B[9] 4
VPMC8x20-4E[51-38[9] 2 496 6
VPMC8*20-4E[5-4B[9] 20 25
e 51.1 7
VPMC8*20-4E[5]-6B[9] 4
8 1~1.3
VPMC8x30-4E[51-38[9] 2 496 6
VPMC8*30-4E[51-4B[9] 30 25
= 51.1 7
VPMC8*30-4E[5]-6B[9] 4

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts).
% .Pad material N and NE are not suitable for use under ozone environment.

%% .Tightening torque of a pad holder fixing bulkhead nut is 4~6N-m.



PISCO.

https://en.pisco.co.jp/

Spring type / Top port / Push-in fitting / Standard holder
@ RoHS Compliant Y Copper alloy free available ¢ CAD (2083D)

VPC2x4(3)E(5]6]9) Stroke (mm)
VPC3.5x7(3)E[5)6]9) 6,10,15,20

=

=

'L ®

4 5

==D——}- X
=~ '
Y Unit © mm

VPC2x4-6E[5]-3J 3 617 10.9
VPC2x4-6E[51-4J[9)] 4 ' 29 ’ 6 7.0~126
VPC2x4-6E[5)-6J9] 6 63.1 20 1.7
VPC2x4-10E[5]-3J 3
_— 67.7 10.9
VPC2x4-10E[5}-4J 4 35 10 |3.3~10.0
VPC2x4-10E[5)-6J ) 4 6 69.1 1.7
VPC2x4-15E[5]-3J 3
L R 777 10.9
VPC2x4-15E[5}-4J 4 40 25 15 |3.3~104
VPC2x4-15E[5]-6J 6 79.1 1.7
VPC2x4-20E[5]-3J 3 937 109
VPC2x4-20E[5}-4J 4 47 34 20 |20~87
VPC2x4-20E[5]-6J 6 95.1 1.7 M6
VPC3.5%7-6E[5]-3J 8
— 61.7 10.9
VPC3.5%7-6E[5]-4J[9] 4 29 6 7.0~126
VPC3.5%7-6E[51-6J[9] 6 63.1 20 1.7
VPC3.5%7-10E[5-3J 3
— 67.7 10.9
VPC3.5%7-10E(5-4J 4 35 10 |3.3~10.0
VPC3.5%7-10E[5-6J a5 2 6 69.1 1.7
VPC3.5%7-15E[5-3J ’ 3
BRI 777 10.9
VPC3.5%7-15E(5-4J 4 40 25 15 |3.3~104
VPC3.5%7-15E[5-6J 6 79.1 1.7
VPC3.5%7-20E[5-3J 3 7 .
VPC3.5%7-20E[5-4J 4 47 34 20 |2.0~87
VPC3.5%7-20E[5-6J 6 95.1 1.7

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.

3 .Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

VPC4x103EEIE) @ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)
VPC4x20(3)E(5]6]9) Stroke (mm)
VPC4x30(3E(5]6)9) 6,10,15,20
VPC5x10(3JE(5] 69

VPC5x20(3)E(5]6)9)

VPC5x30BJE(E6/8) m

Unit : mm
VPC4x10-6E[5)-3J 3 617 109
VPC4x10-6E[5]-4J[9 10 4 ' '
VPC4x10-6E[5]-6J[9] 6 63.1 1.7
VPC4x20-6E[5)-3J 3
— 61.7 10.9
VPC4x20-6E[5)-4J(9] 20 4 29 6 7.0~126
VPC4x20-6E[5]-6J[9] 6 63.1 1.7
VPC4x30-6E[5)-3J 3 617 109
VPC4x30-6E[5]-4J[9] 30 4
VPC4x30-6E[5]-6J[9] 6 63.1 20 1.7
VPC4x10-10E[5)-3J 3 677 109
VPC4x10-10E[5)-4J 10 4 ' '
VPC4x10-10E[5-6J 6 69.1 1.7
VPC4x20-10E[5)-3J 3 677 109
VPC4x20-10E[5]-4J 20 4 ' 35 ’ 10 [33~100
VPC4x20-10E[5]-6J 6 69.1 1.7
VPC4x30-10E[5)-3J 3 677 109
VPC4x30-10E[5)-4J 30 4 ' '
VPC4x30-10E[5]-6J 4 6 69.1 1.7 6
VPC4x10-15E[5)-3J 3 777 109
VPC4x10-15E[5]-4J 10 4 ' '
VPC4x10-15E[5]-6J 6 791 1.7
VPC4x20-15E[5)-3J 3 777 109
VPC4x20-15E[5]-4J 20 4 ' 40 25 ' 15 [33~104
VPC4x20-15E[5]-6J 6 791 1.7
VPC4x30-15E[5)-3J 3 777 109
VPC4x30-15E[5]-4J 30 4 ' '
VPC4x30-15E[5]-6J 6 791 1.7
VPC4x10-20E[5)-3J 3 937 109
VPC4x10-20E[5)-4J 10 4 ' '
VPC4x10-20E[5]-6J 6 95.1 1.7
VPC4x20-20E[5)-3J 3
— = 93.7 10.9
VPC4x20-20E[5]-4J 20 4 47 34 20 |2.0~87
VPC4x20-20E[5]-6J 6 95.1 1.7
VPC4x30-20E[5)-3J 3 937 10.9
VPC4x30-20E[5]-4J 30 4 ' '
VPC4x30-20E[5]-6J 6 95.1 1.7




PISCO.

https://en.pisco.co.jp/
Unit : mm
VPC5%10-6E[5]-3J 8
—_— | 61.7 10.9
VPC5%10-6E[5]-4J[9] 10 4
VPC5%10-6E[5]-6J(9] 6 63.1 1.7
VPC5%20-6E[5)-3J 8
_— | 61.7 10.9
VPC5%20-6E[5]-4J[9] 20 4 29 6 7.0~126
VPC5%20-6E[5]-6J(9] 6 63.1 1.7
VPC5%30-6E[5)-3J 8
_— | 61.7 10.9
VPC5%30-6E[51-4J[9] 30 4
VPC5%30-6E[5]-6J(9] 6 63.1 2 1.7
VPC5%10-10E[5]-3J 8
_— 67.7 10.9
VPC5%10-10E[5)-4J 10 4
VPC5%10-10E[5]-6J 6 69.1 1.7
VPC5%20-10E[5]-3J 3
—_— 67.7 10.9
VPC5%20-10E[5]-4J 20 4 35 10  |3.3~10.0
VPC5%20-10E[5]-6J 6 69.1 1.7
VPC5%30-10E[5]-4J 3
_— 67.7 10.9
VPC5%30-10E[5]-6J 30 4
VPC5%30-10E[5]-6J 5 6 69.1 1.7 M6
VPC5%10-15E[5]-3J 3
_— 777 10.9
VPC5%10-15E[5]-4J 10 4
VPC5%10-15E[5]-6J 6 79.1 1.7
VPC5%20-15E[5]-3J 3
—_— 77.7 10.9
VPC5%20-15E(5)-4J 20 4 40 25 15 [33~104
VPC5%20-15E[5]-6J 6 79.1 1.7
VPC5%30-15E[5]-3J 3
—_— 777 10.9
VPC5%30-15E[5]-4J 30 4
VPC5%30-15E[5]-6J 6 79.1 1.7
VPC5%10-20E[5]-3J 3
_— 93.7 10.9
VPC5%10-20E[5]-4J 10 4
VPC5%10-20E[5]-6J 6 95.1 1.7
VPC5%20-20E[5]-3J 3
—_— 93.7 10.9
VPC5%20-20E[5)-4J 20 4 47 34 20 |[20~87
VPC5%20-20E[5]-6J 6 95.1 1.7
VPC5%30-20E[5]-3J 3
—_— 93.7 10.9
VPC5x%30-20E[5)-4J 30 4
VPC5%30-20E[5]-6J 6 95.1 1.7

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% Pad material N and NE are not suitable for use under ozone environment.

% .Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

VPC6x10[3)E(5)6)9) foi2] @ RoHS Compliant Y& Copper alloy free available # CAD (20s3D)
VPC6x203E 5619 o Stroke (mm)
VPC6x30(3JE(5]6]9) L6,10,15,20
VPC8x20(3E(5]6)9)
VPC8x30(3)E(5]6)9)
Unit : mm
VPC6x10-6E[5)-3J 3 617 109
VPC6x10-6E[5)-4J[9 10 4 ' '
VPC6x10-6E[5]-6J(9] 6 63.1 1.7
VPC6%20-6E[5)-3J 3
— 61.7 10.9
VPC6%20-6E[5-4J(9] 20 4 29 6 7.0~126
VPC6%20-6E[5]-6J[9] 6 63.1 1.7
VPC6x30-6E[5)-3J 3
VPC6x30-6E514.9] 30 2 617 109
VPC6%30-6E[5]-6J[9] 6 63.1 20 1.7
VPC6%10-10E[5)-3J 3 677 109
VPC6%10-10E[5)-4J 10 4 ' '
VPC6%10-10E[5]-6J 6 69.1 1.7
VPC6%20-10E[5)-3J 3 677 109
VPC6%20-10E[5]-4J 20 4 ' 35 ’ 10 [33~100
VPC6%20-10E[5]-6J 6 69.1 1.7
VPC6x30-10E[5)-3J 3 677 109
VPC6%30-10E[5]-4J 30 4 ' '
VPC6x30-10E[5]-6J 6 69.1 1.7
6 -M6
VPC6*10-15E[51-3J | 3 777 10.9
VPC6%10-15E[5]-4J 10 4 ' ’
VPC6x%10-15E[5]-6J 6 791 1.7
VPC6%20-15E[5)-3J 3 777 109
VPC6%20-15E[5]-4J 20 4 ' 40 25 ' 15 33~104
VPC6%20-15E[5]-6J 6 791 1.7
VPC6x30-15E[5)-3J 3 777 109
VPC6x30-15E[5]-4J 30 4 ' '
VPC6x30-15E[5]-6J 6 791 1.7
VPC6%10-20E[5)-3J 3 937 109
VPC6%10-20E[5]-4J 10 4 ' '
VPC6%10-20E[5]-6J 6 95.1 1.7
VPC6%20-20E[5)-3J 3 937 109
VPC6%20-20E[5]-4J 20 4 ' 47 34 ’ 20 |2.0~87
VPC6%20-20E[5]-6J 6 95.1 1.7
VPC6%30-20E[5)-3J 3 937 10.9
VPC6%30-20E[5]-4J 30 4 ' '
VPC6x30-20E[5]-6J 6 95.1 1.7




PISCO.

https://en.pisco.co.jp/
Unit : mm
VPC8%20-6E[5]-3J 8
—_— 61.7 10.9
VPC8%20-6E[5]-4J[9] 20 4
VPC8x20-6E[5]-6J(9] 6 63.1 1.7
—_—— 29 6 7.0~12.6
VPC8x30-6E[5)-3J 8
_—— 61.7 10.9
VPC8x%30-6E[5]-4J[9] 30 4
VPC8x30-6E[5]-6J(9] 6 63.1 2 1.7
VPC8%20-10E[5]-3J 8
_— 67.7 10.9
VPC8x20-10E[5]-4J 20 4
VPC8x20-10E[5]-6J 6 69.1 1.7
—_— 35 10  |3.3~10.0
VPC8x30-10E[5]-3J 8
_— 67.7 10.9
VPC8x30-10E[5)-4J 30 4
VPC8x30-10E[5]-6J 8 6 69.1 1.7 V6
VPC8%20-15E[5]-3J 3
_— 77.7 10.9
VPC8x20-15E[5]-4J 20 4
VPC8x20-15E[5]-6J 6 79.1 1.7
—_— 40 25 15 |33~104
VPC8x30-15E[5]-3J 3
_— 77.7 10.9
VPC8x30-15E[5]-4J 30 4
VPC8x30-15E[5]-6J 6 79.1 1.7
VPC8%20-20E[5]-3J 3
_— 93.7 10.9
VPC8x%20-20E[5)-4J 20 4
VPC8x20-20E[5]-6J 6 95.1 1.7
—_— 47 34 20 [20~87
VPC8x30-20E[5]-3J 3
_— 93.7 10.9
VPC8x%30-20E[5)-4J 30 4
VPC8x30-20E[5]-6J 6 95.1 1.7

3 [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% Pad material N and NE are not suitable for use under ozone environment.

» .Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




II Vacuum Pad Series

. Vacuum Pad Oval Series

1073

Spring type / Top port / Barb fitting / Standard holder
@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

Stroke (mm) ‘
\4.6,10,15,20

i

VPC2x4[3)E[5]6]9]

VPC3.5x7(3)E(5)6)(9)
VPC4x10(3JE(5)6]9)
VPC4x20(3E(5]6]9)
VPC4x30(3JE(5]6]9)
VPC5x10(3JE(5)6]9)
VPC5x20(3)E(5]6]9)
VPC5x30(3JE(5]6]9]

Unit : mm

Model code TubeID Stroke Spring force | Connection
(N) config. code

VPC2x4-6E[5]-4B[9]

'VPC2x4-6E[5-4B[9] | 7.0~126
VPC2x4-6E[5-6B9] | 4 20

VPC2x4-10E[5-4B 25

VPLoxa-10E5145 | 65.1 35 10 |33~100
VPCDU-I0ER8 |, ) 4

VPC2x4-15E[5]-4B 25

VPO2RA-10E 45 | 75.1 40 25 15 |3.3~10.4
VPC2-1EE68 4

VPC2x4-20E[5]-4B 25

VPC2x4-20E5-4B | 91.1 47 34 20 | 20~87
VPC2x4-20E[5]-6B 4

VPC3.5X7-GE[S-4B| 25 50.1 29 6 |7.0~126
VPC3 547665168 4 ' 2 -

VPC3.5%7-10E[5-4B 25

WFCHANEE A1) | 65.1 35 10 |33~10.0
VPCSSTA0ESB | | 4

VPCISXT-5EMB | 25| 54 40 2 15 |33~104
VPG 547-15EEL46 | 4 ' -

VPC3.5X7-20E[514B | 25 91.1 a7 34 20 |20~87
VPC3.5%7-20E51-68 4 ' -~

-M6

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.
%% Pad material N and NE are not suitable for use under ozone environment.

% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.



PISCO.

https://en.pisco.co.jp/
Unit : mm
VPC4x10-6E[5-4B[9] 2.5
P ——— 10
VPC4x10-6E[5)-6B[9] 4
VPC4x20-6E[5-4B[9] 25
P ————— 20 59.1 29 6 7.0~12.6
VPC4x20-6E[5)-6B[9] 4
VPC4x30-6E[5-4B[9] 30 25
VPC4x30-6E[5)-6B[9] 4 20
VPC4x10-10E[5-4B 10 25
VPC4x10-10E[5]-6B 4
VPC4x20-10E[5-4B 2.5
P ——— 20 65.1 35 10 3.3~10.0
VPC4x20-10E[5]-6B 4
VPC4x30-10E[5-4B 25
—_— 30
VPC4x30-10E[51-6B 4
VPC4x10-15E[5]-4B 10 2.5
VPC4x10-15E[5]-6B 4
VPC4x20-15E[5-4B 2.5
e ————— 20 751 40 25 15 3.3~104
VPC4x20-15E[5]-6B 4
VPC4x30-15E[5-4B 25
— 30
VPC4x30-15E[51-6B 4
VPC4x10-20E[5-4B 10 2.5
VPC4x10-20E[5)-6B 4
VPC4x20-20E[5-4B 2.5
—_— 20 91.1 47 34 20 2.0~8.7
VPC4x20-20E[5]-6B 4
VPC4x30-20E[51-4B 20 25
VPC4x30-20E[5)-6B 4
-M6
VPC5%10-6E[5-4B[9] 25
—_—————— 10
VPC5x10-6E[51-6B[9] 4
VPC5%20-6E[5]-4B[9] 25
—_— 20 59.1 29 6 7.0~12.6
VPC5%20-6E[5)-6B[9] 4
VPC5%30-6E[5]-4B[9] = 25
VPC5%30-6E[5]-6B[9] 4 -
VPC5%10-10E[5-4B - 2.5
VPC5%10-10E[5)-6B 4
VPC5%20-10E[5]-4B 25
—_— | 20 65.1 35 10 3.3~10.0
VPC5%20-10E[5]-6B 4
VPC5%30-10E[5]-4B - 25
VPC5%30-10E[5)-6B 4
VPC5%10-15E[5-4B - 25
VPC5%10-15E[5]-6B 4
VPC5%20-15E[5]-4B 25
—_——————| 20 75.1 40 25 15 3.3~104
VPC5%20-15E[5]-6B 4
VPC5%30-15E[5]-4B 25
Y P —— 30
VPC5%30-15E[5)-6B 4
VPC5%10-20E[5-4B - 25
VPC5%10-20E[5]-6B 4
VPC5%20-20E[5]-4B 25
—_———— 20 91.1 47 34 20 2.0~8.7
VPC5%20-20E[5]-6B 4
VPC5%30-20E[5]-4B - 25
VPC5%30-20E[5)-6B 4




II Vacuum Pad Series

. Vacuum Pad Oval Series

1075

VPC6x10(3JE(5]6]9)
VPC6x20(3)E(5]6]9)
VPC6x30(3)E(5]6]9)
VPC8x20(3JE(5]6]9)
VPC8x30(3)E(5]6]9

@ RoHS Compliant ¥ Copper alloy free available # CAD (2053D)

Stroke (mm) w
\4.6,10,15,20

Unit : mm

e |.D. L1 L2 Stroke | Spring force | Connection
D S (N) config. code
25

o w
o

VPC6x10-6E[5-4B[2]| 10

VPC6x10-6E[5)-6B[9] 4

VPC6x20-6E[5]-4B[9] 25

VPLO7AOESAPE | 20 59.1 29 6 7.0~126
VPC6x20-6E[5)-6B[9] 4

VPC6x30-6E[5]-4B[9] 2.5

it 30

VPC6x30-6E[5)-6B(9] 4 20

w 10 25

VPC6x10-10E[5-6B 4

VPC6x20-10E[5-4B 25

YPLOTAU-UE AP | 20 65.1 35 10 |3.3~10.0
VPC6x20-10E[5-6B 4

w 30 25

VPC6x30-10E[5-6B 6 4 -M6
w 10 25

VPC6x10-15E[5-6B 4

VPCE*20-15E[5-4B | 20 25 75.1 40 25 15 |33~104
VPC6x20-15E5-6B 4 ' -
w 30 25

VPC6x30-15E[5-6B 4

w 10 25

VPC6x10-20E[5-6B 4

VPC6x20-20E5148 | 20 25 91.1 47 34 20 | 20~87
VPC6%20-20E5-6B 4 ‘ o
W 30 25

VPC6x30-20E[5-6B 4




PISCO.

https://en.pisco.co.jp/
Unit : mm

VPC8x20-6E[5-4B[9] 0 25
VPC8x20-6E[5]-6B[9] 4 Y] . g o ARG
VPC8x30-6E[5-4B[9] = 2.5 ’ ’ ’
VPC8x30-6E[5]-6B[9] 4 -
VPC8x20-10E[5-4B % 25
VPC8x20-10E[5]-6B 4
—_— 65.1 35 10 3.3~10.0
VPC8x30-10E[5-4B - 25
VPC8x30-10E[5]-6B a 4 M6
VPC8x20-15E[5-4B T 2.5
VPC8x20-15E[5]-6B 4
———— 751 40 25 15 3.3~104
VPC8x30-16E[514B | =% 25
VPC8x30-15E[5]-6B 4
VPC8x20-20E[5-4B T 25
| (PE ALATEHES | 4 91.1 47 34 20 20~87
VPC8x30-20E[5-4B @ 2.5
VPC8x30-20E[5]-6B 4

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.

»*% .Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

Spring type / Top port / Female thread / Standard holder
@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

VPC[2]3E(5)-M6(9] Méxt L Stroke (mm)
T 6,10,15,20
==
Y
Unit : mm

VPC2x4-6E[5-M6[9] 49 29 2 6 7.0~126
VPC2x4-10E[5)-M6 ) . 55 35 10 3.3~10.0
VPC2x4-15E[5)-M6 65 40 25 15 3.3~10.4
VPC2x4-20E[5)-M6 81 47 34 20 2.0~87
VPC3.5%7-6E[5-M6[9] 49 29 20 6 7.0~126
VPC3.5%7-10E[5]-M6 G ; 55 35 10 3.3~10.0

m VPC3.5%7-15E[5)-M6 ’ 65 40 25 15 3.3~10.4
VPC3.5%7-20E[5]-M6 81 47 34 20 20~87
VPC4x10-6E[5]-M6[9] 10
VPC4x20-6E[5]-M6[9] 20 49 29 6 7.0~126
VPC4x30-6E[5]-M6[9] 30 2
VPC4x10-10E[5)-M6 10
VPC4x20-10E[5-M6 20 55 35 10 3.3~10.0
VPC4x30-10E[5-M6 4 30
VPC4x10-15E[5)-M6 10
VPC4x20-15E[5]-M6 20 65 40 25 15 3.3~104 6
VPC4x30-15E[5-M6 30
VPC4x10-20E[5)-M6 10
VPC4x20-20E[5-M6 20 81 47 34 20 2.0~87
VPC4x30-20E[5-M6 30
VPC5%10-6E[5]-M6[9] 10
VPC5%20-6E[5]-M6[9] 20 49 29 6 7.0~126
VPC5%30-6E[5]-M6[9] 30 o
VPC5%10-10E[5)-M6 10
VPC5%20-10E[51-M6 20 55 35 10 3.3~10.0
VPC5%30-10E[5-M6 g 30
VPC5%10-15E[5)-M6 10
VPC5%20-15E[51-M6 20 65 40 25 15 3.3~104
VPC5%30-15E[5-M6 30
VPC5%10-20E[5)-M6 10
VPC5%20-20E[5-M6 20 81 47 34 20 2.0~87
VPC5%30-20E[5-M6 30




PISCO.

https://en.pisco.co.jp/
Unit : mm

VPC6%10-6E[5-M6[9] 10
VPC6%20-6E[5]-M6[9] 20 49 29 6 7.0~126
VPC6*30-6E(5]-M6[9] 30 2
VPC6%10-10E[5)-M6 10
VPC6%20-10E[5-M6 20 55 35 10 3.3~10.0
VPC6x%30-10E[5-M6 6 30
VPC6%10-15E(5)-M6 10
VPC6%20-15E[5-M6 20 65 40 25 15 3.3~104
VPC6x%30-15E[5-M6 30
VPC6%10-20E[5)-M6 10 M6
VPC6%20-20E[5-M6 20 81 47 34 20 20~87
VPC6x%30-20E[5-M6 30
VPC8%20-6E[5]-M6[9] 20
———————— 49 29 6 7.0~126
VPC8x30-6E(5-M63]| S0 o
VPC8x%20-10E[5-M6 20
————————| 55 35 10 3.3~10.0
VPCB*30-10ELM6 | S0
R T 2 65 40 25 15 | 33~104
VPC8x30-15E[5-M6 30
VPC8%20-20E[5)-M6 20
———————————— 81 47 34 20 2.0~8.7
VPC8x30-20E[5-M6 30

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.

% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

Spring type / Top port / Push-in fitting / No cover holder

VPOC2x43IE5]E] @ RoHS Compliant#” CAD (2Ds3D)
VPOC3.5x7(3E(5]6] ( Stroke (mm)
VPOC4x10(3JE(5](6) 4120,30,40,50
VPOC4x20(3E(5][6)
VPOC4x30(3)E(5][6)
VPOC5x10(3E(5]6)
Unit © mm
VPOC2x4-20E[51-3J 3 0 100
VPOC2x4-20E[5)-4J 4 ' 49 ' 20 15~4.9
VPOC2x4-20E[5}-6J 6 72.1 1.7
VPOC2xd-30EEH3) | 3
VPOC2x4-30E 514 2 8.7 62 109 30 | 11~48
VPOC2x4-30E[5)-6J ) 4 6 85.1 1.7
VPOC2x4-40E[5)-3) 3 067 100
VPOC2x4-40E[5]-4J 4 ' 75 ' 40 1.0~45
VPOC2x4-40E[5]-6J 6 98.1 1.7
VPOC2x4-50E[5]-3J 3 1097 10.9
VPOC2x4-50E[5]-4J 4 ’ 88 ’ 50 09~45
VPOC2x4-50E[5]-6J 6 11.1 1.7
VPOC3.5%7-20E513J 3 s 0o -Me
VPOC3.5x7-20E[5]-4J 4 ’ 49 ' 20 15~4.9
VPOC3.5x7-20E[5}-6J 6 72.1 1.7
VPOC3.5x7-30E[5]-3J 3
VPOC3.5x7-30E[5)-4J 4 83.7 62 109 30 11~4.8
VPOC3.5x7-30E[5]-6J G . 6 85.1 1.7
VPOC3.5x7-40E[5)-3J ’ 3 B .
VPOC3.5x7-40E[5]-4J 4 ’ 75 ’ 40 1.0~45
VPOC3.5x7-40E[5]-6J 6 98.1 11.7
VPOC3.5x7-50E[5)-3J 3 AT -
VPOC3.5x7-50E[5]-4J 4 ' 88 ’ 50 0.9~45
VPOC3.5x7-50E[5)-6J 6 111.1 1.7




PISCO.

https://en.pisco.co.jp/
Unit : mm

VPOC4x10-20E[5)-3J 3 707 10.9
VPOC4x10-20E[5)-4J 4 ) 49 ) 20 15~4.9
VPOC4x10-20E[5)-6J 6 72.1 1.7
VPOC4x10-30E[5)-3J 3 837 10.9
VPOC4x10-30E[5)-4 4 ) 62 ) 30 1.1~4.8
VPOC4x10-30E[5)-6J 10 6 85.1 1.7
VPOC4x10-40E[5)-3J 3 %6.7 10.9
VPOC4x10-40E[5)-4J 4 ) 75 ) 40 1.0~45
VPOC4x10-40E[5)-6J 6 98.1 1.7
VPOC4x10-50E[51-3J 3 109.7 10.9
VPOC4x10-50E[5)-4 4 ) 88 ) 50 0.9~45
VPOC4x10-50E[5)-6J 6 1.1 1.7
VPOC4x20-20E(5)-3J 3 707 10.9
'VPOC4x20-20E[51-4J | 4 ) 49 ] 20 15~49
'VPOC4x20-20E[51-6J | 6 72.1 1.7
VPOC4x20-30E[513)| 3 557 100
'VPOC4x20-30E[5-4J | 4 ) 62 ' 30 1.1~438
VPOC4x20-30E[5)-6J 6 85.1 1.7
o o] 4 20
VPOC4x20-40E[S]3) 3 067 100
'VPOC4x20-40E[51-4J | 4 ) 75 ' 40 1.0~45
'VPOC4x20-40E[5-6 | 6 98.1 1.7
VPOCAx20-S0EISH3)) 3 109.7 10.9
'VPOC4x20-50E[51-4J | 4 ) 88 ) 50 0.9~45
'VPOC4x20-50E[5-6J | 6 1.1 1.7 M6
VPOC4x30-20E[51-3J| 3 07 100
'VPOC4x30-20E[51-4J | 4 ) 49 ] 20 15~49
'VPOC4x30-20E[5-6 | 6 72.1 1.7
VPOC4x30-30E[513)| 3 657 100
VPOC4x30-30E[5)-4J 4 ) 62 ' 30 1.1~4.8
'VPOC4x30-30E(516 | % 6 85.1 17
VPOC4x30-40E[S]3) 3 067 100
'VPOC4x30-40E[51-4J | 4 ) 75 ' 40 1.0~45
'VPOC4x30-40E[5-6J | 6 98.1 1.7
VPOCA~30-5061313)| S 109.7 10.9
'VPOC4x30-50E[51-4J | 4 ) 88 ) 50 0.9~45
VPOC4x30-50E[5)-6J 6 111.1 1.7
VPOC5x10-20E[513)| 3 07 100
VPOC5x10-20E(5)-4J 4 ) 49 ) 20 15~4.9
'VPOC5x10-20E(516J | 6 72.1 17
VPOCE<10-30E[5]3] s 637 100
'VPOC5x10-30E[51-4J | 4 ) 62 ) 30 1.1~4.8
'VPOC5x10-30E[51-6J | . - 6 85.1 1.7
VPOCE<10-40E[S]3] 3 067 105
'VPOC5x10-40E[51-4J | 4 ) 75 ] 40 1.0~4.5
'VPOC5x10-40E[5]-6 | 6 98.1 1.7
el S 109.7 10.9
'VPOC5x10-50E[51-4J | 4 ) 88 ] 50 0.9~45
VPOC5x10-50E[5)-6J 6 111.1 1.7

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

@ RoHS Compliant#” CAD (2Ds3D)

Stroke (mm)
20,30,40,50

Unit © mm

VPOC5x20-20E[5)-3J 3 7 e
VPOC5%20-20E[5)-4) 4 ' 49 ’ 20 15~49
VPOC5%20-20E[5)-6J 6 72.1 1.7
VPOC5x20-30E[5)-3J 3

VPOC5x20-30E 514 2 83.7 62 109 30 | 11~48
VPOC5x20-30E[5)-6J 2 6 85.1 1.7
VPOC5x20-40E[5]-3J 3 G 0E
VPOC5x20-40E[5)-4) 4 ' 75 ' 40 1.0~45
VPOC5x20-40E[5)-6J 6 98.1 1.7
VPOC5x20-50E[5)-3J 3 07 ~
VPOC5%20-50E[5)-4) 4 ' 88 ’ 50 0.9~45
VPOC5x%20-50E[5)-6J 5 6 11.1 1.7 V6
VPOC5x30-20E[5)-3J 3 7 e
VPOC5x30-20E[51-4J 4 ’ 49 ' 20 15~49
VPOC5x30-20E[5]-6J 6 72.1 1.7
VPOC5x30-30E[5]-3J 3
VPOC5x30-30E 514 4 837 62 109 30 | 11~48
VPOC5x30-30E[5)-6J 20 6 85.1 1.7
VPOC5x30-40E[5]-3J 3 B .
VPOC5x30-40E[5)-4) 4 ’ 75 ’ 40 1.0~45
VPOC5x30-40E[5]-6J 6 98.1 11.7
VPOC5x30-50E[5)-3J 3 T~ e
VPOC5x30-50E[51-4J 4 ' 88 ’ 50 0.9~45
VPOC5x30-50E[5)-6J 6 111.1 1.7




PISCO.

https://en.pisco.co.jp/
Unit : mm

VPOC6x10-20E[5)-3J 3 707 10.9
VPOC6x10-20E[5)-4J 4 ) 49 ' 20 1.5~4.9
VPOC6x10-20E[5)-6J 6 72.1 1.7
VPOC6x10-30E[5)-3J 3 837 10.9
VPOC6x10-30E[51-4J 4 ) 62 ' 30 1.1~4.8
VPOC6x10-30E[5)-6J 10 6 85.1 1.7
VPOC6x10-40E(5)-3J 3 %6.7 10.9
VPOC6x10-40E[5]-4J 4 ' 75 ' 40 1.0~4.5
VPOC6x10-40E[5)-6J 6 98.1 1.7
VPOC6x10-50E[5)-3J 3 109.7 10.9
VPOC6x10-50E[5)-4J 4 ) 88 ' 50 0.9~45
VPOC6x10-50E[5)-6J 6 11.1 1.7
VPOC6x20-20E[5)-3J 3 707 10.9
'VPOC6x20-20E[51-4J | 4 ) 49 ] 20 15~49
'VPOC6x20-20E[51-6J | 6 72.1 1.7
VPOCE<20-30E[513)| 3 67 100
'VPOC6x20-30E[5-4J | 4 ' 62 ‘ 30 1.1~4.8
VPOC6x20-30E[5)-6J 6 85.1 1.7
———————— 6 20
VPOC6x20-40E[51-3| 3 967 10.9
'VPOC6x20-40E[5-4J | 4 ' 75 ’ 40 1.0~45
'VPOC6x20-40E[5-6 | 6 98.1 1.7
VPOCE<20-50E[51-3)] 3 109.7 10.9
'VPOC6x20-50E[51-4J | 4 ) 88 ) 50 0.9~45
'VPOC6x20-50E[5-6 | 6 1.1 1.7 M6
VPOCE30-20E[51-3J| 3 07 100
'VPOC6x30-20E[51-4J | 4 ) 49 ] 20 15~49
'VPOC6x30-20E[5-6. | 6 72.1 1.7
VPOCE<30-30E[513)| 3 67 100
'VPOC6x30-30E[5-4J | 4 ) 62 ) 30 1.1~4.8
'VPOC6x30-30E[5-6 | 20 6 85.1 1.7
VPOCEx30-40E[S]3) 3 067 100
'VPOC6x30-40E[51-4J | 4 ) 75 ' 40 1.0~45
'VPOC6x30-40E[5-6J | 6 98.1 1.7
VPOC6x30-50E[5}3)] 3 109.7 10.9
'VPOC6x30-50E[51-4J | 4 ) 88 ) 50 0.9~45
VPOC6x30-50E[5)-6J 6 111.1 1.7
VPOCB<20-20E[513)| 3 07 100
VPOC8x20-20E[5]-4J 4 ' 49 ' 20 15~4.9
'VPOCBx20-20E[5]-6J | 6 72.1 17
VPOCBx20-30E[5]3] s 637 100
'VPOC8x20-30E[51-4J | 4 ) 62 ) 30 1.1~4.8
VPOC8x20-30E[5)-6J 6 85.1 1.7
——————— 8 20
VPOCBx20-40E[E-3J| 3 R o~
'VPOC8x20-40E[51-4J | 4 ’ 75 ’ 40 1.0~4.5
'VPOC8x20-40E[5]-6 | 6 98.1 1.7
| F0C0 e 6] 3 109.7 10.9
'VPOC8x20-50E[51-4J | 4 ) 88 ] 50 0.9~45
VPOC8x20-50E[5)-6J 6 111.1 1.7

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




II Vacuum Pad Series

. Vacuum Pad Oval Series

1083

VPOC8x30-20E(5)-4J
VPOC8x30-30E[5)-3J

VPOC8x30-30E[5)-6J

VPOC8x30-40E(5)-3J
VPOC8x30-40E(5)-4J
VPOC8x30-40E[5)-6J
VPOC8x30-50E(5)-3J
VPOC8x30-50E(5)-4J
VPOC8x30-50E(5)-6J

VPOC5x20(3E(5](6)
VPOC5x30(3JE(5](6)
VPOC6x10(3E(5](6)
VPOC6x20(3E(5](6)
VPOC6x30(3JE(5](6)
VPOC8x20(3E(5](6)
VPOC8x30(3E(5](6)

VPOC8x30-20E(5)-3J

VPOC8x30-20E(5)-6J

@ RoHS Compliant## CAD (2023D)

Stroke (mm) l
4 120,30,40,50

Unit : mm

Tube 0 D. Tube end Stroke Spring force | Connection
Model code
- (N) | config. code

VPOC8x30-30E[5-4J

3
4 49 20 15~4.9
6 721 1.7
3
83.7 10.9
4 62 30 1.1~48
6 85.1 1.7
3 -Mé
96.7 10.9
4 75 40 1.0~4.5
6 98.1 1.7
3
109.7 10.9
4 88 50 09~45
6 1.1 1.7

3 [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.



PISCO.

https://en.pisco.co.jp/

Spring type / Top port / Barb fitting / No cover holder

VPOC2x4(3E(5]6] ﬂ RoHS Compliantﬁf CAD (2D&3D)
VPOC3.5x7(3JE(5)6)
VPOC4x103IE5]E] 232294(31;?))
& VPOC4x20(3JE(5]6]
&
Unit : mm
% 2“‘5 68.1 49 20 1.5~4.9
- 5 - .
% , \ 245 81.1 62 30 1.1~4.8
% 2;15 94.1 75 40 1.0~45
% Zf 107.1 88 50 09~45
% 2"15 68.1 49 20 1.5~4.9
.5x7-30E!5)- 25
% is . 7 81.1 62 30 1.1~48
% 2"‘5 94.1 75 40 1.0~4.5
-50E[5- 2.
% 45 107.1 88 50 0.9~4.5 »
% 2"15 68.1 49 20 1.5~4.9
-30E(5)- 2.5
% , 7 81.1 62 30 1.1~4.8
% 2"15 94.1 75 40 1.0~45
% ) 2"15 107.1 88 50 0.9~45
% 2"15 68.1 49 20 1.5~4.9
-30E[5)- 25
% " , 81.1 62 30 1.1~48
% 2"‘5 94.1 75 40 1.0~4.5
% 2"‘5 107.1 88 50 0.9~4.5

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

VPOC4x30(3)E(5](6)

@ RoHS Compliant#” CAD (2Ds3D)

Stroke (mm)
{4 120,30,40,50
VPOC6x30(3JE(5]6)
VPOC8x20(3)E(5]6)
VPOC8x30(3)E[5]6)
Unit : mm
% 2“‘5 68.1 49 20 1.5~4.9
- - 2.5
% ) " 7 81.1 62 30 1.1~4.8
% 2"15 94.1 75 40 1.0~45
% 24_15 107.1 88 50 0.9~45
% 2"15 68.1 49 20 1.5~4.9
- - 25
% o 7 81.1 62 30 1.1~48
% 2"15 94.1 75 40 1.0~4.5
- - 2.
% 45 107.1 88 50 0.9~4.5 »
% 2"15 68.1 49 20 1.5~4.9
- - 25
% ; " 7 81.1 62 30 1.1~4.8
% 2"15 94.1 75 40 1.0~45
% 2"15 107.1 88 50 0.9~45
% 2"15 68.1 49 20 1.5~4.9
k - 25
% " 7 81.1 62 30 1.1~48
% 2"15 94.1 75 40 1.0~4.5
% 245 107.1 88 50 0.9~45




PISCO.

https://en.pisco.co.jp/
Unit : mm

-, 5)- X

% 245 68.1 49 20 15~4.9
-30E5- 25

% , . 81.1 62 30 11~48
- 5 - .

% 245 94.1 75 40 1.0~45

% 2“15 107.1 88 50 0.9~4.5
- 5 .

% 245 68.1 49 20 15~49
-30EL5 - 25

% ] " 4 81.1 62 30 1.1~4.8
- 5)- .

% 245 94.1 75 40 1.0~45

% 2"15 107.1 88 50 0.9~45
- 5 - .

% 245 68.1 49 20 15~49
-30E(5 - 25

% " . 81.1 62 30 11~48 »

VPOCE30-40E[5148| 25 o . o | 1omas

VPOCE3040E[5168| 4

% 2"15 107.1 88 50 09~4.5
5 5)- ]
-30E/5 - 25

% " 7 81.1 62 30 1.1~4.8
- 5 - ¥
- 5 - ¥

% . 245 107.1 88 50 0.9~45
- 5 - y

% 245 68.1 49 20 15~49
-30E(5- 25

% " 7 81.1 62 30 11~48
- 5 - y

% 2475 94.1 75 40 1.0~45

% 2"15 107.1 88 50 0.9~45

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

Spring type / Top port / Female thread / No cover holder
VPOC2[3EE-M6 @ RoHS Compliant#” CAD (2Ds3D)

Stroke (mm)
{4 20,30,40,50
Unit : mm

VPOC2x4-20E[5]-M6 58 49 20 15~4.9
VPOC2x4-30E[5-M6 ) 4 71 62 30 11~48
VPOC2x4-40E[5)-M6 84 75 40 1.0~45
VPOC2x4-50E[5-M6 97 88 50 0.9~45
VPOC3.5%7-20E[5-M6 58 49 20 15~49

w VPOC3.5%7-30E[5-M6 oG . 71 62 30 1.1~4.8
VPOC3.5%7-40E[5-M6 ’ 84 75 40 1.0~45
VPOC3.5%7-50E[5-M6 97 88 50 0.9~45
VPOC4x10-20E[5-M6 58 49 20 15~49
VPOC4x10-30E[5-M6 10 71 62 30 11~48
VPOC4x10-40E[5-M6 84 75 40 1.0~45
VPOC4x10-50E[5]-M6 97 88 50 09~45
VPOC4x20-20E[5]-M6 58 49 20 15~4.9
VPOC4x20-30E[51-M6 4 2 71 62 30 11~4.8
VPOC4x20-40E[5]-M6 84 75 40 1.0~45
VPOC4x20-50E[5)-M6 97 88 50 0.9~45
VPOC4x30-20E[5)-M6 58 49 20 15~49 -Me
VPOC4x30-30E[5-M6 30 71 62 30 11~4.8
VPOC4x30-40E[5]-M6 84 75 40 1.0~45
VPOC4x30-50E[5)-M6 97 88 50 0.9~45
VPOC5x10-20E[51-M6 58 49 20 15~4.9
VPOC5x10-30E[51-M6 10 71 62 30 1.1~4.8
VPOC5%10-40E[5-M6 84 75 40 1.0~45
VPOC5x10-50E[51-M6 97 88 50 0.9~45
VPOC5%20-20E[5-M6 58 49 20 15~4.9
VPOC5x20-30E[51-M6 . 2 71 62 30 11~48
VPOC5%20-40E[5-M6 84 75 40 1.0~45
VPOC5x20-50E[51-M6 97 88 50 09~45
VPOC5x30-20E[51-M6 58 49 20 15~49
VPOC5%30-30E[5)-M6 - 71 62 30 11~438
VPOC5x30-40E[51-M6 84 75 40 1.0~45
VPOC5%30-50E[5)-M6 97 88 50 0.9~45




PISCO.

https://en.pisco.co.jp/
Unit : mm
VPOC6x10-20E[51-M6 58 49 20 15~4.9
VPOC6x10-30E[51-M6 10 71 62 30 11~4.8
VPOC6x10-40E[5-M6 84 75 40 1.0~45
VPOC6x10-50E[51-M6 97 88 50 0.9~45
VPOC6x20-20E[5-M6 58 49 20 1.5~4.9
VPOC6X20-30E§-M6 6 2 71 62 30 1.1~48
VPOC6x20-40E(5)-M6 84 75 40 1.0~4.5
VPOC6%20-50E[5-M6 97 88 50 0.9~45
VPOC6x30-20E[5-M6 58 49 20 1.5~4.9
VPOCGxao-SOEE-Me 20 71 62 30 1.1~4.8 6
VPOC6x30-40E(5)-M6 84 75 40 1.0~45
VPOC6x30-50E[5-M6 97 88 50 0.9~45
VPOC8x20-20E[51-M6 58 49 20 15~4.9
VPOC8x20-30E[51-M6 2 71 62 30 11~4.8
VPOC8x20-40E[5-M6 84 75 40 1.0~45
VPOC8x20-50E[51-M6 . 97 88 50 09~45
VPOC8x30-20E[5-M6 58 49 20 15~4.9
VPOC8x30-30E[51-M6 20 71 62 30 11~48
VPOC8x30-40E[5-M6 84 75 40 1.0~4.5
VPOC8x30-50E[51-M6 97 88 50 0.9~45

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

1089

Spring type / Side port / Push-in fitting / Mini holder

@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

VPMD(2)-4E(5]6)8) §f (MM M10x1
of 2-Hex.12 ‘ Stroke (mm)
o™ 4
KIS ] [ﬂ Hex.10
Slolsl F Y
N =
= ‘ a
Lc s
Ly ]
—\ X
Unit : mm
VPMD2x4-4E[5]-180J 1.8
- — | 13.7 8.4
VPMD2x4-4E[5]-2J 2
VPMD2x4-4E[5]-3) 2 4 3 1~13
—_— 175 10.9
VPMD2x4-4E[51-4J9] 4
VPMD2x4-4E(5)-6J(9] 6 19.4 1.7
VPMD3 5%7-4E[5-180J 1.8
_— — | 13.7 8.4
VPMD3.5%7-4E[5]-2) 2
4E[5)- d ~1.
VPMD3.5%7-4E[51-3) 35 7 3 175 109 1~1.3
VPMD3 5%7-4E[5-4J[9] 4
VPMD3.5%7-4E[51-6.[9] 6 19.4 1.7
VPMD4x10-4E[5-180J 1.8 137 o4
VPMD4x10-4E[5)-2J 2
VPMD4x10-4E[5)-3J 10 3 175 10.9
VPND4x104EB14J3) 4 ' '
VPMD4x10-4E[51-6.9) 6 19.4 1.7
VPMD4x20-4E[5-180J 1.8
- — | 13.7 8.4
VPMD4x20-4E[5)-2J 2
VPMD4x20-4E(5)-3J 4 20 3 1~13 -M6
— =" 175 10.9
VPMD4x20-4E5]-4J[9] 4
VPMD4x20-4E[5)-6J[9] 6 19.4 1.7
VPMD4x30-4E[5-180J 1.8
_——— | 13.7 8.4
VPMD4x30-4E[5)-2J 2
VPMD4x30-4E(5)-3J 30 3
— 175 10.9
VPMD4x30-4E[5-4J[9] 4
VPMD4x30-4E[51-6J[9] 6 19.4 1.7
VPMD5%10-4E[5-180J 1.8
—_— —— | 13.7 8.4
VPMD5%10-4E[5)-2J 2
VPMD5%10-4E[5)-3J 10 3 G e
VPMD5%10-4E[5]-4J[9] 4 ’ ’
VPMD5%10-4E[51-6.9] 5 6 19.4 1.7 113
VPMD5%20-4E[5-180J 1.8 ’
— — | 13.7 8.4
VPMD5%20-4E[5)-2J 2
VPMD5%20-4E[5)-3J 20 3
— " | 175 10.9
VPMD5%20-4E[5]-4.J[9] 4
VPMD5%20-4E[5)-6J[9] 6 19.4 1.7




PISCO.

https://en.pisco.co.jp/
Unit : mm

VPMD5*30-4E[5-180J 1.8
_——— 13.7 8.4
VPMD5%30-4E[5)-2J 2
VPMD5%30-4E(5)-3J 5 30 3 1~13
_— —— 17.5 10.9
VPMD5%30-4E[5]-4.J[9] 4
VPMD5%30-4E[51-6J[9] 6 19.4 1.7
VPMD6x10-4E[5-180J 1.8
_——— 13.7 8.4
VPMD6%10-4E[5)-2J 2
VPMD6%10-4E[5)-3J 10 3
it b ik 175 10.9
VPMD6x10-4E[5-4J(9] 4
VPMD6x10-4E[5)-6J(9] 6 19.4 1.7
VPMD6x20-4E[5-180J 1.8 137 o4
VPMD6x20-4E[5)-2J 2
VPMD6%20-4E[5)-3J 6 20 3 1~13
_— 17.5 10.9
VPMD6%20-4E[5]-4J[9] 4
VPMD6%20-4E(5)-6J(9] 6 19.4 1.7 6
VPMD6x%30-4E[51-180J 1.8
—_— 13.7 8.4
VPMD6x30-4E[5)-2J 2
VPMD6x30-4E[5)-3J 30 3
_——— 17.5 10.9
VPMD6x%30-4E[5]-4J[9] 4
VPMD6x30-4E(51-6J[9] 6 19.4 1.7
VPMD8x20-4E[5)-180J 1.8
_—— 13.7 8.4
VPMD8x20-4E[5)-2J 2
VPMD8x20-4E(5)-3J 20 3 75 109
VPMD8x20-4E[5)-4J[9] 4
VPMD8x20-4E[5)-6J[9] . 6 19.4 1.7 113
VPMD8*30-4E[5-180J 1.8 ’

Sty | 13.7 8.4
VPMD8x30-4E[5)-2J 2
VPMD8x30-4E[5)-3J 30 3
_— 175 10.9
VPMD8x30-4E[5-4J[9] 4
VPMD8x30-4E[5)-6J(9] 6 19.4 1.7

3 [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.

% .Tightening torque of a pad holder fixing bulkhead nut is 4~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

Spring type / Side port / Barb fitting / Mini holder
@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

VPMD(2)-4E[5](6](9] Stroke (mm)
1y M10x1 4
ol 2Hex.12 Unit : mm
©|N
9 Vol T 1 [ < Hex.10
Yol : VPMD2*4-4E[5-3B[3] 2 13.4 6
~ q VPMD2x4-4E[5]-4B[9] 2 4 25 1~13
- c|a —_— | 14.9 7
E e VPMD2x4-4E[5)-6B[9] 4
VPMD3.5%7-4E[5)-3B[9] 2 13.4 6
s i: VPMD35X74EBI4BE]| 3.5 7 25 | |, |1~13
Y VPMD3.5%7-4E[5-6B[9] 4
o~ VPMD4x10-4E[5)-3B[9] 2 13.4 6
l—=av==\ %} VPMD4*104E54B) 10 | 25
_— — | 14.9 7
VPMD4x10-4E[5]-6B[9] 4
VPMD4x20-4E[5-3B[9] 2 13.4 6
VPMD4x20-4E[5-4B[9] 4 20 25 1~1.3
- 14.9 7
VPMD4x20-4E[5]-6B[9] 4
VPMD4x30-4E[5-3B[9] 2 13.4 6
VPMD4x30-4E[5-4B[9] 30 25
—_— 14.9 7
VPMD4x30-4E[5]-6B[9] 4
VPMD5*10-4E[51-38[9] 2 13.4 6
1091 VPMD5%10-4E[5-4B[9] 10 25
- — 14.9 7
VPMD5%10-4E[5]-6B[9] 4
VPMD5*20-4E[51-3B9] 2 13.4 6
VPMD5%20-4E[5-4B[9] 5 20 25 1~13| -M6
- — | 14.9 7
VPMD5%20-4E[5]-6B[9] 4
VPMD5x30-4E[5)-3B[9] 2 134 6
VPMD5*30-4E[5-4B[9] 30 25
- | 14.9 7
VPMD5*30-4E[5]-6B[9] 4
VPMD6x10-4E[5)-3B[9] 2 134 6
VPMD6*10-4E[5-4B[9] 10 25
- 14.9 7
VPMD6*10-4E[5]-6B[9] 4
VPMD6x20-4E[5)-3B[9] 2 134 6
VPMD6x20-4E[5-4B[9] 6 20 25 1~1.3
- | 14.9 7
VPMD6*20-4E[5]-6B[9] 4
VPMD6x30-4E[51-38[9] 2 13.4 6
VPMD6*30-4E[5-4B[9] 30 25
—_— | 14.9 7
VPMD6*30-4E[5]-6B[9] 4
VPMD8x20-4E[51-38[9] 2 13.4 6
VPMD8*20-4E[5-4B[9] 20 25 e -
VPMD8*20-4E[5]-6B[9] 4 ’
8 1~13
VPMD8x30-4E[51-38[9] 2 13.4 6
VPMD8*30-4E[5-4B[9] 30 25
- 14.9 7
VPMD8*30-4E[5]-6B[9] 4

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts).
% .Pad material N and NE are not suitable for use under ozone environment.

%% .Tightening torque of a pad holder fixing bulkhead nut is 4~6N-m.



PISCO.

https://en.pisco.co.jp/

Spring type / Side port / Female thread / Mini holder
@ RoHS Compliant Y Copper alloy free available ¢ CAD (2083D)

VPMD(2]-4E(5]-M5(9] Stroke (mm)

I M10x1 4
Unit © mm
o - gt lvl = VPMD2X4-4E-M50] 2 4 1~13
~ | 2N\ M5%08 VPMD3.5%7-4E[51M5(9] 35 7 1~1.3
Hex.10 VPMD4x10-4E5HM5E] 10
VPMD4x20-4E[5-M5[3] 4 20 1~13
- VPMD4*30-4E5-M5E) 30
Y VPMD5%10-4E[5}-M5/9] 10
o~ VPMD5%20-4E[5]-M5[9] 5 20 1~13 -M6
L=t \VPMD5304E-M5) 30
= VPMD6x10-4E[5}-M59] 10
= VPMDG*20-4E5HV5E] 6 20 1~13
— O ——
] VPMD6x30-4E[5)-M59] 30
- - -M59
'i VPMD8*20-4E[5]-M5[9] 8 20 .
| VPMD8*30-4E[5]-M5[9] 30
’ % [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and
FKM or HNBR for sealing parts).

»%¢ Pad material N and NE are not suitable for use under ozone environment.

3¢ .Tightening torque of a pad holder fixing bulkhead nut is 4~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

1093

Spring type / Side port / Push-in fitting / Standard holder

VPD2x4[3)E(5)6]9]

VPD3.5x7(3)E(5]6]9)
VPD4x10(3JE(5]6](9]
VPD4x20(3E(5]6]9)

VPD4x303JE(56[9] m

@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

Stroke (mm)
6,10,15,20

Unit © mm
VPD2x4-6E[5)-3J 3
—_— 18.6 10.9
VPD2x4-6E[5]-4.9] 4 61.1 38 18.5 6 |70~126
VPD2x4-6E[5-6J[9)] 6 20 19.9 1.7
VPD2x4-10E[5)-3J 3
—_——— 18.6 10.9
VPD2x4-10E[5}-4J 4 67.1 44 245 10 |33~100
VPD2x4-10E/5)-6J ) . 6 19.9 1.7
VPD2x4-15E[5]-3J 3
—_— 18.6 10.9
VPD2x4-15E[5)-4J 4 77.1 49 25 29.5 15 |33~104
VPD2x4-15E[5)-6J 6 19.9 1.7
VPD2x4-20E[5)-3J 3
—_— 18.6 10.9
VPD2x4-20E[5}-4J 4 93.1 56 34 36.5 20 [20~87
VPD2x4-20E[5)-6J 6 19.9 1.7 V6
VPD3.5%7-6E[5)-3J 8
—_— 18.6 10.9
VPD3.5%7-6E[5]-4.[9] 4 61.1 38 18.5 6 |70~126
VPD3.5%7-6E[5]-6.[9] 6 20 19.9 1.7
VPD3.5%7-10E[5]-3J 8
—_— 18.6 10.9
VPD3.5%7-10E[5-4J 4 67.1 44 245 10 [33~100
VPD3.5%7-10E[5]-6J a5 ; 6 19.9 1.7
VPD3.5%7-15E[5]-3J ’ 8
—_— 18.6 10.9
VPD3.5%7-15E[5)-4J 4 77.1 49 25 295 15 |33~104
VPD3.5%7-15E(5]-6J 6 19.9 1.7
VPD3.5%7-20E[5]-3J 3
_— 18.6 10.9
VPD3.5%7-20E[5-4J 4 93.1 56 34 36.5 20 [20~87
VPD3.5%7-20E(5]-6J 6 19.9 1.7

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% Pad material N and NE are not suitable for use under ozone environment.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.



PISCO.

https://en.pisco.co.jp/
Unit : mm

VPD4x10-6E[5)-3J 3
—_——— 18.6 10.9
VPD4x10-6E[5]-4J9] 10 4
VPD4x10-6E[5]-6J[9] 6 19.9 1.7
VPD4x20-6E[5]-3J 3
_——— 18.6 10.9
VPD4x20-6E[5]-4.[9] 20 4 61.1 38 18.5 6 |7.0~126
VPD4x20-6E(5]-6J[9] 6 19.9 1.7
VPD4x30-6E[5]-3J 3
_——— 18.6 10.9
VPD4x30-6E[5]-4J9] 30 4
VPD4x30-6E(5]-6J[9] 6 20 19.9 1.7
VPD4x10-10E[5]-3J 3
_——— 18.6 10.9
VPD4x10-10E[5]-4J 10 4
VPD4x10-10E[5}-6J 6 19.9 1.7
VPD4x20-10E[5]-3J 3
_— 18.6 10.9
VPD4x20-10E[5]-4) 20 4 67.1 44 245 10 [33~100
VPD4x20-10E[5)-6J 6 19.9 1.7
VPD4x30-10E[5]-3J 3
_— 18.6 10.9
VPD4x30-10E[5}-4J 30 4
VPD4x30-10E[5)-6J 4 6 19.9 1.7 6
VPD4x10-15E[5]-3J 3
_— 18.6 10.9
VPD4x10-15E[5]-4J 10 4
VPD4x10-15E[5}-6J 6 19.9 1.7
VPD4x20-15E[5]-3J 3
_— 18.6 10.9
VPD4x20-15E[5}-4J 20 4 77.1 49 25 29.5 15 |33~104
VPD4x20-15E(5)-6J 6 19.9 1.7
VPD4x30-15E[5]-3J 3
_— 18.6 10.9
VPD4x30-15E[5]-4J 30 4
VPD4x30-15E(5)-6J 6 19.9 1.7
VPD4x10-20E[5]-3J 3
_——— 18.6 10.9
VPD4x10-20E[5]-4J 10 4
VPD4x10-20E[5}-6J 6 19.9 1.7
VPD4x20-20E[5]-3J 3
_——— 18.6 10.9
VPD4x20-20E[5-4J 20 4 93.1 56 34 36.5 20 |20~87
VPD4x20-20E(5)-6J 6 19.9 1.7
VPD4x30-20E[5]-3J 3
_——— 18.6 10.9
VPD4x30-20E[5]-4J 30 4
VPD4x30-20E(5)-6J 6 19.9 1.7

3 [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.

%% .Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

1095

VPD5x10(3JE(5)6]9)
VPD5x20(3JE56)9)
VPD5x30(3)E(5]6]9) .
VPD6x103)E5]6]9] @ RoHS Compliant
VPD6x20(3JE(5/6]9] X Copper alloy free available
VPD6x30[3JE5)6]9] 4" CAD (20z3D)
Stroke (mm)
6,10,15,20
Unit © mm

VPD5%10-6E[5)-3J 3

—_——— 18.6 10.9

VPD5%10-6E[5]-4J9] 10 4

VPD5x%10-6E[51-6J(9] 6 19.9 1.7

VPD5%20-6E[5)-3J 3

—_— 18.6 10.9

VPD5%20-6E[5]-4J[9] 20 4 61.1 38 18.5 6 [70~126

VPD5x%20-6E[5-6J[9] 6 19.9 1.7

VPD5%30-6E[5)-3J 3

—_— 18.6 10.9

VPD5%30-6E[5]-4J9] 30 4

VPD5x%30-6E(5-6J[9] 6 20 19.9 1.7

VPD5%10-10E[5)-3J 3

—_——— 18.6 10.9

VPD5%10-10E[5]-4J 10 4

VPD5%10-10E[5)-6J 6 19.9 1.7

VPD5%20-10E[5)-3J 3

—_— 18.6 10.9

VPD5%20-10E[5-4J 20 4 67.1 44 24.5 10 |33~100

VPD5x%20-10E[5-6J 6 19.9 1.7

VPD5%30-10E[5)-3J 3

—_—— 18.6 10.9

VPD5x%30-10E[5]-4J 30 4

VPD5%30-10E[5)-6J 5 6 19.9 1.7 V6

VPD5%10-15E[5)-3J 3

—_— 18.6 10.9

VPD5%10-15E[5]-4J 10 4

VPD5%10-15E(5-6J 6 19.9 1.7

VPD5%20-15E[5)-3J 3

—_— 18.6 10.9

VPD5%20-15E[5]-4J 20 4 771 49 25 29.5 15 |33~104

VPD5%20-15E[5-6J 6 19.9 1.7

VPD5%30-15E[5)-3J 3

—_— 18.6 10.9

VPD5x%30-15E[5]-4J 30 4

VPD5%30-15E(5-6J 6 19.9 1.7

VPD5%10-20E[5)-3J 8

—_——— 18.6 10.9

VPD5%10-20E[5]-4J 10 4

VPD5%10-20E[5)-6J 6 19.9 1.7

VPD5%20-20E[5)-3J 8

—_— 18.6 10.9

VPD5%20-20E[5}-4J 20 4 93.1 56 34 36.5 20 |20~87

VPD5%20-20E(5-6J 6 19.9 1.7

VPD5%30-20E[5)-3J 8

—_— 18.6 10.9

VPD5x%30-20E[5]-4J 30 4

VPD5%30-20E(5)-6J 6 19.9 1.7




PISCO.

https://en.pisco.co.jp/
Unit : mm

VPD6%10-6E[5)-3J 3
—_——— 18.6 10.9
VPD6%10-6E[5]-4J[9] 10 4
VPD6*10-6E(5]-6J[9] 6 19.9 1.7
VPD6%20-6E[5]-3J 3
_—— 18.6 10.9
VPD6%20-6E[5-4J[9] 20 4 61.1 38 18.5 6 |70~126
VPD6*20-6E(5]-6J[9] 6 19.9 1.7
VPD6%30-6E[5]-3J 3
_—— 18.6 10.9
VPD6x%30-6E[5]-4J9] 30 4
VPD6*30-6E(5]-6J[9] 6 20 19.9 1.7
VPD6%10-10E[5]-3J 3
_——— 18.6 10.9
VPD6x%10-10E[5]-4J 10 4
VPD6%10-10E[5}-6J 6 19.9 1.7
VPD6%20-10E[5]-3J 3
_——— 18.6 10.9
VPD6*20-10E[5]-4) 20 4 67.1 44 245 10 |33~100
VPD6%20-10E(5)-6J 6 19.9 1.7
VPD6x%30-10E[5]-3J 3
_——— 18.6 10.9
VPD6%30-10E[5-4J 30 4
VPD6x%30-10E[5)-6J 6 6 19.9 1.7 6
VPD6%10-15E[5]-3J 3
_—— 18.6 10.9
VPD6x10-15E[5]-4J 10 4
VPD6%10-15E(5)-6J 6 19.9 1.7
VPD6%20-15E[5]-3J 3
_—— 18.6 10.9
VPD6x20-15E[5)-4J 20 4 77.1 49 25 29.5 15 |33~104
VPD6%20-15E(5)-6J 6 19.9 1.7
VPD6x%30-15E[5]-3J 3
_— 18.6 10.9
VPD6x30-15E[5]-4J 30 4
VPD6x%30-15E(5)-6J 6 19.9 1.7
VPD6%10-20E[5]-3J 3
_——— 18.6 10.9
VPD6x10-20E[5]-4J 10 4
VPD6%10-20E(5)-6J 6 19.9 1.7
VPD6%20-20E[5]-3J 3
_——— 18.6 10.9
VPD6x20-20E[5)-4J 20 4 93.1 56 34 36.5 20 [20~87
VPD6%20-20E(5)-6J 6 19.9 1.7
VPD6x%30-20E[5]-3J 3
_——— 18.6 10.9
VPD6x30-20E[5)-4J 30 4
VPD6x%30-20E(5)-6J 6 19.9 1.7

3 [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.

%% .Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

@ RoHS Compliant P& Copper alloy free available ## CAD (2053D)

VPD8x20(3JE(5]6](9] — M14x1 Stroke (mm)
VPD8x30(3)E(56]9) 2-Hex.17 6,10,15,20
b [
oy
m mr ‘ 216
| Hex.12 —

o
o 1 g,

e
= |
Y
Unit © mm

VPD8x20-6E[5)-3J 3
— 18.6 10.9
VPD8x20-6E[5]-4J[9] 20 4
VPD8*20-6E[5]-6J[9] 6 611 28 19.9 185 1.7 6 |7o~126
VPD8x30-6E[5)-3J 3
— 18.6 10.9
VPD8x30-6E[5]-4J[9] 30 4

w VPD8*30-6E[5]-6J[9] 6 20 19.9 1.7
VPD8x20-10E[5)-3J 3
— 18.6 10.9
VPD8x20-10E[5]-4J 20 4
VPD8x20-10E[5]-6J 6 671 " 19.9 a5 1.7 10 |33~100
VPD8x30-10E[5)-3J 3
— | 18.6 10.9
VPD8x30-10E[5]-4J 30 4
VPD8*30-10E[5]-6J 8 6 19.9 1.7 V6
VPD8x20-15E[5)-3J 3
— 18.6 10.9
VPD8x20-15E[5]-4J 20 4
VPD8x20-15E[5]-6J 6 771 49 25 19.9 205 1.7 15 |33~104
VPD8x30-15E[5)-3J 3
— 18.6 10.9
VPD8x30-15E[5]-4J 30 4
VPD8*30-15E[5]-6J 6 19.9 1.7
VPD8%20-20E[5)-3J 3
— 18.6 10.9
VPD8x20-20E[5]-4J 20 4
VPD8x20-20E[5]-6J 6 931 s 2 19.9 65 1.7 S
VPD8x30-20E[5)-3J 3
— 18.6 10.9
VPD8x30-20E[5]-4J 30 4
VPD8*30-20E[5]-6J 6 19.9 1.7

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.

% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.



PISCO.

https://en.pisco.co.jp/

Spring type / Side port / Barb fitting / Standard holder
@ RoHS Compliant Y& Copper alloy free available ## CAD (283D)

VPD2x4(3JE(56]9) Stroke (mm)
VPD3.5x7(3)E[5)6]9) 6,10,15,20
) VPD4x10(3JE(5)6]9)
& VPD4x20(3)E[5)6)9)
- VPD4x30BJE()68) o
i
5
‘:- |
AJ
—==—¥x|
|
A Unit : mm
- 5|- .
7\”3[)2)(4 GE[5}H4B13) 25 61.1 38 18.5 6 7.0~12.6
VPD2x4-6E[5)-6B[9] 4 "
VPD2x4-10E[51-4B 25
_—————— 67.1 44 24.5 10 3.3~10.0
VPD2x4-10E[51-6B ) . 4
VPD2x4-15E[51-4B 25
B — 771 49 25 29.5 15 3.3~104
VPD2x4-15E[51-6B 4
VPD2x4-20E[51-4B 25
B ——— 93.1 56 34 36.5 20 20~8.7
VPD2x4-20E[51-6B 4
VPD3.5x7-6E[5-4B[9] 25 611 % 185 6 T0~126
VPD3.5%7-6E[5]-6B[9] 4 ’ 2 ) : ’
VPD3.5x7-10E[5-4B 25
———————————— 67.1 44 24.5 10 3.3~10.0
VPD3.5%7-10E[5-6B 25 ; 4
VPD3.5%7-15E[5-4B ’ 25
—————————— 771 49 25 29.5 15 3.3~10.4
VPD3.5%7-15E(5-68 | 4 M6
w 25 93.1 56 34 36.5 20 2.0~8.7
VPD3.5%7-20E[5-6B 4 : : R
VPD4x10-6E[5]-4B[9] 25
T —— 10
VPD4x10-6E[5]-6B[9] 4
VPD4x20-6E[5]-4B[9] 25
e ——— 20 61.1 38 18.5 6 7.0~126
VPD4x20-6E[5]-6B[9] 4
VPD4x30-6E[5-4B[9] 20 25
VPD4x30-6E[5]-6B[9] . 4 "
VPD4x10-10E[5-4B 0 25
VPD4x10-10E[5-6B 4
VPD4x20-10E[5-4B 25
_— 20 67.1 44 24.5 10 3.3~10.0
VPD4x20-10E[5-6B 4
VPD4x30-10E[5-4B % 25
VPD4x30-10E[5-6B 4

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.

%% .Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

1099

@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

VPD4x10(3)E(5]6]9) LStroke (mm)

VPD4x203E(5]6]9) 8101520

VPD4x30(3JE(5]6](9]

VPD5x10(3)E(5]6]9)

VPD5x20(3)E(56](9)

VPD5x30(3JE(5]6](9]

VPD6x10(3JE(5]6]9)

VPD6x20(3)E(56]9)

VPD6x30(3JE(5]6](9]

VPD8x20(3JE(5]6]9)

VPD8x30(3)E(56]9)

=5
Unit © mm

W 10 2.5
VPD4x10-15E[5-6B 4
VPD4x20-15E[5148 | 20 25 77.1 49 25 295 15 33~104
VPD4x20-15E[5-68 4 ' ' S
% 30 25
VPD4x30-15E[5-6B . 4
VPDAX10-20E[5148 | 0 |20
VPD4x10-20E[5-6B 4
VPD4X20-20E5-4B | 20 2% a1 | s6 s | 385 | 20 |20~87
VPD4x20-20E5-68 4 ' ' -
W 30 25
VPD4x30-20E[5-6B 4
VPD5%10-6E[5]-4B9] 25
- - 10
VPD5%10-6E[5]-6B[9] 4
VPD5x20-6E[5}4B(3] | 20 2% 614 | 38 185 6 |70~126| -Ms
VPD5x20-6E5-6B0) 4 ' ' S
W 30 2:5
VPD5%30-6E[5]-6B[9] 4 20
w 10 23
VPD5%10-10E[5-68B 4
VPD5x20-10E5H4B | 20 25 | g1 | m 245 | 10 | 33~100
VPD5x20-10E5-68 4 ' ' -
VPD5%30-10E[5-4B 25
_ —— | 30
VPD5%30-10E[5-6B 4
w 10 23
VPD5%10-15E[5-6B 4
VPDE*20-15E[5148 | 20 25 | 774 49 25 295 15 | 33~104
VPD5%20-15E[5-68B 4
VPD5x30-15E[5-4B 25
- = - — | 30
VPD5%30-15E[5-6B 4

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% Pad material N and NE are not suitable for use under ozone environment.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.



PISCO.

https://en.pisco.co.jp/
Unit : mm
VPD5x10-20E[5-4B - 25
VPD5%10-20E[5]-6B 4
VPD5%20-20E[5)-4B 25
—_—————— 20 93.1 56 34 36.5 20 20~87
VPD5%20-20E[5]-6B 4
VPD5%30-20E[5]-4B - 25
VPD5x30-20E[5)-6B 4
VPD6x10-6E[5]-4B[9] 25
_— 10
VPD6x10-6E[5]-6B(9] 4
VPD6*20-6E[5-4B[9] 25
_—— ———— 20 61.1 38 18.5 6 7.0~126
VPD6x20-6E[5]-6B(9)] 4
VPD6x30-6E[5]-4B[9] 30 25
VPD6%30-6E[51-6B(9] 4 2
VPD6x10-10E[5]-4B 10 25
VPD6x10-10E[5]-6B 4
VPD6%20-10E[5-4B 25
_——— 20 67.1 44 24.5 10 3.3~10.0
VPD6x20-10E[5]-6B 4
VPD6x30-10E[5-4B 25
e ——— 30
VPD6*30-10E[5)-6B 4
VPD6x10-15E[5]-4B 10 25
VPD6x%10-15E[5-6B 4
VPD6%20-15E[5-4B 25
e 20 771 49 25 29.5 15 3.3~104
VPD6x20-15E[5]-6B 4
VPD6*30-15E(5)-4B 20 25 V6
VPD6*30-15E[5)-6B 4
VPD6x10-20E[5]-4B 10 25
VPD6%10-20E(5)-6B 4
VPD6%20-20E[5-4B 25
_—— —— 20 93.1 56 34 36.5 20 20~87
VPD6x20-20E[5]-6B 4
VPD6*30-20E(5}-4B 25
_—— — 30
VPD6*30-20E[5-6B 4
VPD8x20-6E[5]-4B[9] - 245
VPDBx206E[5}68(5] 4 61.1 38 18.5 6 | 70~126
VPD8x30-6E[5-4B[9] - 25
VPD8x30-6E[5]-6B9] 4 -
VPD8x20-10E[5-4B o5 25
VPD8x20-10E[5)-6B 4
—_————— 67.1 44 24.5 10 3.3~10.0
VPD8x30-10E[5-4B 25
—_ 30
VPD8x30-10E[5)-6B 4
VPD8x20-15E[5)-4B o 25
VPD8x20-15E[5]-6B 4
—_ 771 49 25 29.5 15 3.3~104
VPD8x30-15E[5-4B 25
e ——— 30
VPD8x30-15E[5)-6B 4
VPD8x20-20E[5]-4B - 25
VPD8x20-20E[5)-6B 4
_—————— 93.1 56 34 36.5 20 20~87
VPD8x30-20E5H4B | o 2:5
VPD8x30-20E[5]-6B 4




& Vacuum Pad Series

Vacuum Pad Oval Series

Spring type / Side port / Female thread / Standard holder
@ RoHS Compliant M Copper alloy free available 2 CAD (2D3D)

VPD(2]3JE(5)-M6(9]

L2

L1

M14x1

2-Hex.17

Stroke (mm)
6,10,15,20

Unit © mm

VPD2x4-6E[5]-M6[9] 61.1 38 20 18.5 6 7.0~126

VPD2x4-10E[5-M6 ) . 67.1 44 245 10 3.3~10.0

VPD2x4-15E[5]-M6 77.1 49 25 295 15 3.3~10.4

VPD2x4-20E[5-M6 93.1 56 34 36.5 20 20~87

VPD3.5%7-6E[5-M6[9] 61.1 38 20 18.5 6 7.0~126
VPD3.5%7-10E[5-M6 35 ; 67.1 44 245 10 3.3~10.0

VPD3.5%7-15E[5)-M6 ) 77.1 49 25 295 15 33~104

VPD3.5%7-20E(5-M6 93.1 56 34 36.5 20 20~87

VPD4x10-6E[5-M6[9] 10

VPD4x20-6E(5]-M6[9] 20 61.1 38 18.5 6 7.0~126

VPD4x30-6E[5-M6[9] 30 2

VPD4x10-10E[5-M6 10

VPD4x20-10E[(5-M6 20 67.1 44 245 10 3.3~10.0

VPD4x30-10E[5-M6 . 30

VPD4x10-15E[5-M6 10

VPD4x20-15E(5-M6 20 771 49 25 295 15 3.3~104

VPD4x30-15E(5-M6 30 M6

VPD4x10-20E[5-M6 10

VPD4x20-20E[5-M6 20 93.1 56 34 36.5 20 2.0~87

VPD4x30-20E[5-M6 30

VPD5%10-6E[5-M6[9] 10

VPD5x%20-6E(5]-M6[9] 20 61.1 38 185 6 7.0~126

VPD5x30-6E[5-M6[9] 30 2

VPD5%10-10E[5-M6 10

VPD5%20-10E[5-M6 20 67.1 44 245 10 3.3~10.0

VPD5x30-10E[5-M6 5 30

VPD5%10-15E[5-M6 10

VPD5%20-15E(5-M6 20 771 49 25 295 15 3.3~10.4

VPD5x30-15E[5)-M6 30

VPD5%10-20E[5-M6 10

VPD5%20-20E[5-M6 20 93.1 56 34 36.5 20 2.0~87

VPD5x30-20E[5-M6 30




PISCO.

https://en.pisco.co.jp/
Unit : mm

VPD6%10-6E[5]-M6[9] 10
VPD6%20-6E[5]-M6[9] 20 61.1 38 18.5 6 7.0~126
VPD6%30-6E[5]-M6(9] 30 20
VPD6%10-10E[5-M6 10
VPD6x%20-10E[5-M6 20 67.1 44 245 10 3.3~10.0
VPD6%30-10E[5)-M6 6 30
VPD6%10-15E[5-M6 10
VPD6x%20-15E(5)-M6 20 771 49 25 29.5 15 3.3~10.4
VPD6%30-15E(5)-M6 30
VPD6%10-20E[5-M6 10 M6
VPD6x%20-20E[5-M6 20 93.1 56 34 36.5 20 2.0~87
VPD6%30-20E[5)-M6 30
VPD8x%20-6E[5]-M6[9] 20
_——— 61.1 38 18.5 6 7.0~126
VPD8*30-6E(5-M63]| 30 %
VPD8%20-10E[5)-M6 20
—_———— 67.1 44 245 10 3.3~10.0
VPD8x30-10E5LM6 | 30
RIGDGE 205 Al LT 49 25 | 295 15 | 33~104
VPD8*30-15E[5)-M6 30
VPD8x%20-20E[5-M6 20
_——— 93.1 56 34 36.5 20 2.0~87
VPD8x30-20E[5-M6 30

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% [9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and FKM or HNBR for sealing parts). -S3 spec.
is available for model codes with [9] in the table above.

% .Pad material N and NE are not suitable for use under ozone environment.

% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

Spring type / Side port / Push-in fitting / No cover holder

VPOD2x4(3JE[5] 6] M14x1 @ RoHS Compliant## CAD (2023D)
VPOD3.5x73ESE) | of <[ 2Hex.17
VPOD4x103E(5)6) ' Stroke (mm)
{4 20,30,40,50
VPOD4x203E(5]6)
VPOD4x303E(5]6) =
VPOD5x10BE5E] | |, c O
VPOD5x20(3JE[5](6] E1
- c
2
Q
ha Hex.14
—r— ?‘
=~ | '
Y Unit : mm
VPOD2x4-20E[5)-3J 3 196 10.9
VPOD2x4-20E[5]-4J 4 72.6 60.5 41 20 [1.5~49
VPOD2x4-20E[5}-6J 6 20.9 1.7
VPOD2x4-30E[5)-3J 3 196 10.9
VPOD2x4-30E[5}-4J 4 85.6 735 54 30 |1.1~4.8
VPOD2x4-30E[5]-6J 5 4 6 20.9 1.7
VPOD2x4-40E[5)-3J 3 196 10.9
VPOD2x4-40E[5)-4J 4 98.6 86.5 ’ 67 ’ 40 [1.0~45
VPOD2x4-40E[5)-6J 6 20.9 1.7
VPOD2x4-50E[5)-3J 3
e 19.6 10.9
VPOD2x4-50E[5)-4J 4 1116 | 995 80 50 |0.9~4.5
VPOD2x4-50E[5}-6J 6 20.9 1.7
VPOD3.5x7-20E[5]-3J 3 B e
VPOD3.5x7-20E[5]-4J 4 72.6 60.5 ’ 41 ’ 20 [1.5~4.9
VPOD3.5x7-20E[5]-6J 6 20.9 1.7
VPOD3.5x7-30E[5)-3J 3 B BE
VPOD3.5x7-30E[5}-4J 4 85.6 735 ’ 54 ’ 30 [1.1~48
VPOD3.5x7-30E[5]-6J oG . 6 20.9 1.7 6
VPOD3.5x7-40E[5]-3J ’ 3 o~ .
VPOD3.5x7-40E[5]-4J 4 98.6 86.5 ’ 67 ’ 40 [1.0~45
VPOD3.5x7-40E[5]-6J 6 20.9 1.7
VPOD3.5x7-50E[5]-3J 3 B e
VPOD3.5x7-50E[5]-4J 4 1116 | 99.5 ' 80 ’ 50 [0.9~4.5
VPOD3.5x7-50E[5)-6J 6 20.9 1.7
VPOD4x10-20E[5)-3J 3 196 10.9
VPOD4x10-20E[5)-4J 4 726 60.5 ’ 41 ’ 20 [15~49
VPOD4x10-20E[5]-6J 6 20.9 1.7
VPOD4x10-30E[5)-3J 3 196 10.9
VPOD4x10-30E[5)-4J 4 85.6 735 ’ 54 ' 30 |1.1~48
VPOD4x10-30E[5)-6J 4 10 6 20.9 1.7
VPOD4x10-40E[5)-3 3 196 10.9
VPOD4x10-40E[5]-4) 4 98.6 86.5 ’ 67 ' 40 [1.0~45
VPOD4x10-40E[5)-6J 6 20.9 1.7
VPOD4x10-50E[5]-3J 3 196 10.9
VPOD4x10-50E[5)-4J 4 1116 | 995 ' 80 ’ 50 |0.9~4.5
VPOD4x10-50E[5]-6J 6 20.9 1.7




PISCO.

https://en.pisco.co.jp/
Unit : mm

VPOD4x20-20E[5)-3 3 196 10.9
VPOD4x20-20E[5)-4J 4 726 60.5 ’ 41 ' 20 |1.5~49
VPOD4x20-20E[5]-6J 6 20.9 1.7
VPOD4x20-30E[5)-3 3 196 10.9
VPOD4x20-30E[5]-4) 4 85.6 735 ’ 54 ' 30 |1.1~48
VPOD4x20-30E[5)-6J 20 6 20.9 1.7
VPOD4x20-40E[5)-3J 3
VPOD4x20-40E[5]-4) 4 98.6 86.5 196 67 109 40 |1.0~45
VPOD4x20-40E[5)-6. 6 20.9 1.7
VPOD4x20-50E[5)-3J 3 196 10.9
VPOD4x20-50E[5)-4J 4 116 | 995 ’ 80 ’ 50 [0.9~45
VPOD4x20-50E[5]-6J 4 6 20.9 1.7
VPOD4x30-20E[5)-3J 3 196 10.9
VPOD4x30-20E[5-4J 4 726 60.5 ’ 41 ' 20 |1.5~49
VPOD4x30-20E[5)-6J 6 20.9 1.7
VPOD4x30-30E[5)-3J 3 196 10.9
VPOD4x30-30E[5]-4J 4 85.6 73.5 ’ 54 ’ 30 [1.1~48
VPOD4x30-30E[5-6J 20 6 20.9 1.7
VPOD4x30-40E[5)-3J 3 196 10.9
VPOD4x30-40E[5)-4J 4 98.6 86.5 ’ 67 ’ 40 |1.0~45
VPOD4x30-40E[5)-6 6 20.9 1.7
VPOD4x30-50E[5)-3J 3 196 10.9
VPOD4x30-50E[5)-4J 4 116 | 995 ' 80 ’ 50 [0.9~45
VPOD4x30-50E[5)-6J 6 20.9 1.7
VPOD5%10-20E5-3] 3 o5 105 -Mé
VPOD5%10-20E[5]-4J 4 726 60.5 ’ 41 ' 20 [1.5~49
VPOD5x10-20E[5)-6J 6 20.9 1.7
VPOD5x10-30E[5)-3J 8]
VPOD5%10-30E 54 4 | ese | 735 | 8 s | 9| 50 [11~a4s
VPOD5x10-30E[5)-6J - 6 20.9 1.7
VPOD5x10-40E[5)-3J 3 06 B
VPOD5x10-40E[5)-4J 4 98.6 86.5 ’ 67 ’ 40 |1.0~45
VPOD5x10-40E[5]-6J 6 20.9 1.7
VPOD5%10-50E[5)-3J 3 BE e
VPOD5x10-50E[5)-4J 4 111.6 99.5 ’ 80 ' 50 |0.9~45
VPOD5%10-50E[5)-6J 5 6 20.9 1.7
VPOD5%20-20E[5)-3J 3 o~ e
VPOD5%20-20E[5]-4J 4 726 60.5 ’ 41 ' 20 [1.5~49
VPOD5x20-20E[5)-6J 6 20.9 1.7
VPOD5x20-30E[5)-3J 3 06 BE
VPOD5x20-30E[5)-4J 4 85.6 73.5 ’ 54 ‘ 30 [1.1~48
VPOD5x20-30E[5)-6J 2 6 20.9 1.7
VPOD5%20-40E[5]-3J 3 o~ .
VPOD5x20-40E[5)-4J 4 98.6 86.5 ’ 67 ' 40 [1.0~45
VPOD5x20-40E[5)-6J 6 20.9 1.7
VPOD5%20-50E[5)-3J 3 o~ e
VPOD5%20-50E[5]-4J 4 11.6 | 99.5 ’ 80 ’ 50 [0.9~45
VPOD5x20-50E[5-6J 6 20.9 1.7

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

VPOD5x303E[5]E) . M14x1 @ RoHS Compliant #” CAD  (20s3D)
& i 2-Hex.17 Stroke (mm)
@ - {420,30,40,50
% -
. E1
@
JE o
Q
= Hex.14
—>— Y‘
= | *
Y Unit : mm
VPOD5x30-20E/5)-3J 3 06 0E
VPOD5%30-20E[5]-4J 4 72.6 60.5 ’ 41 ’ 20 |15~4.9
VPOD5x30-20E[5)-6J 6 20.9 1.7
VPOD5x30-30E/5)-3J 3 06 i~
VPOD5x30-30E[5)-4J 4 85.6 73.5 ’ 54 ’ 30 [1.1~48
VPOD5x30-30E[5-6J 5 - 6 20.9 1.7
VPOD5x30-40E[5]-3 3 o~ —~
VPOD5x30-40E[5)-4J 4 98.6 86.5 ’ 67 ’ 40 [1.0~45
VPOD5x30-40E/5)-6J 6 20.9 1.7
VPOD5x30-50E[5)-3J 3 o~ e
VPOD5x30-50E[5]-4J 4 116 | 99.5 ’ 80 ' 50 [0.9~4.5
VPOD5x30-50E[5)-6J 6 20.9 1.7
VPOD6x10-20E[5]-3J 3 196 10.9
VPOD6x10-20E[5)-4J 4 72.6 60.5 ’ 41 ‘ 20 |15~49
VPOD6x10-20E[5)-6J 6 20.9 1.7
VPOD6x10-30E[5)-3J 3 196 10.9
VPOD6x10-30E[5)-4J 4 85.6 73.5 ’ 54 ’ 30 [1.1~48
VPOD6x10-30E[5)-6J 6 20.9 1.7
— 10 -M6
VPOD6x10-40E/5]-3 | 3 196 10.9
VPOD6x10-40E[5]-4) 4 98.6 86.5 ’ 67 ' 40 [1.0~45
VPOD6x10-40E[5]-6J 6 20.9 1.7
VPOD6x10-50E[5)-3J 3 196 10.9
VPOD6x10-50E[5)-4J 4 116 | 995 ' 80 ' 50 [0.9~4.5
VPOD6x10-50E[5)-6J 6 6 20.9 1.7
VPOD6x20-20E/5)-3J 3 196 10.9
VPOD6x20-20E[5)-4J 4 72.6 60.5 ’ 41 ’ 20 |15~49
VPOD6x20-20E[5]-6J 6 20.9 1.7
VPOD6x20-30E[5)-3 3 196 10.9
VPOD6x20-30E[5)-4J 4 85.6 735 ’ 54 ' 30 |1.1~48
VPOD6x20-30E[5)-6J 20 6 20.9 1.7
VPOD6x20-40E[5)-3 3 196 10.9
VPOD6x20-40E[5]-4) 4 98.6 86.5 ' 67 ' 40 |1.0~45
VPOD6x20-40E[5-6J 6 20.9 1.7
VPOD6x20-50E[5)-3J 3 196 10.9
VPOD6x20-50E[5)-4J 4 116 | 995 ’ 80 ’ 50 [0.9~45
VPOD6x20-50E[5)-6J 6 20.9 1.7




PISCO.

https://en.pisco.co.jp/
Unit : mm

VPOD6x30-20E[5)-3 3 196 10.9
VPOD6x30-20E[5)-4J 4 726 60.5 ’ 41 ' 20 |1.5~49
VPOD6x30-20E[5)-6J 6 20.9 1.7
VPOD6x30-30E[5)-3 3 196 10.9
VPOD6x30-30E[5)-4J 4 85.6 735 ’ 54 ' 30 |1.1~48
VPOD6x30-30E(5)-6J 6 30 6 20.9 1.7
VPOD6x30-40E[5)-3J 3 196 109
VPOD6x30-40E[5]-4J 4 98.6 86.5 ' 67 ' 40 |1.0~45
VPOD6x30-40E[5-6J 6 20.9 1.7
VPOD6x30-50E[5)-3J 3 196 10.9
VPOD6x30-50E[5-4J 4 116 | 995 ’ 80 ’ 50 [0.9~45
VPOD6x30-50E[5]-6J 6 20.9 1.7
VPOD8x20-20E[5]-3 3 o~ o~
VPOD8x20-20E[5)-4J 4 726 60.5 ’ 41 ' 20 [1.5~49
VPOD8x20-20E[5)-6J 6 20.9 1.7
VPOD8x20-30E[5-3J 3 196 109
VPOD8x20-30E[5-4J 4 85.6 73.5 ’ 54 ' 30 [1.1~48
VPOD8x20-30E[5-6J 6 20.9 1.7
= — 20 -M6
VPOD8x20-40E[E13 | 3 B BE
VPOD8x20-40E[5)-4J 4 98.6 86.5 ’ 67 ‘ 40 |1.0~45
VPOD8x20-40E[5-6J 6 20.9 1.7
VPOD8x20-50E[5)-3J 3 0BG o~
VPOD8x20-50E[5)-4J 4 116 | 995 ’ 80 ’ 50 [0.9~45
VPOD8x20-50E[5)-6J 8 6 20.9 1.7
VPOD8x30-20E[5)-3J 3 BE -~
VPOD8x30-20E[5]-4J 4 726 60.5 ’ 41 ' 20 [1.5~49
VPOD8x30-20E[5)-6J 6 20.9 1.7
VPOD8x30-30E[5-3J 3
VPOD8x30-30E 514 4 | ese | 735 | 8 s | 9| 50 [11~a4s
VPOD8x30-30E[5-6J - 6 20.9 1.7
VPOD8x30-40E[5)-3J 3 06 B
VPOD8x30-40E[5)-4J 4 98.6 86.5 ’ 67 ’ 40 |1.0~45
VPOD8x30-40E[5]-6J 6 20.9 1.7
VPOD8x30-50E[5)-3J 3 BE e
VPOD8x30-50E[5)-4J 4 111.6 99.5 ’ 80 ' 50 |0.9~45
VPOD8x30-50E[5)-6J 6 20.9 1.7

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% .Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

Spring type / Side port / Barb fitting / No cover holder

VPOD[2)3E[E]E) . M14x1 @ RoHS Compliant#” CAD (2Ds3D)
o <[ 2-Hex.17
A . Stroke (mm)
i i 20,30,40,50
w
)
-
7
Hex.14 | | :Y*
— [a)
°
17
AJ
o=
=~ |
Y Unit : mm
VPOD2x4-20E(5]-4B 25
—_— 72.6 60.5 41 20 15~49
VPOD2x4-20E[51-6B 4
VPOD2x4-30E[51-4B 25
—_——————— 85.6 73.5 54 30 1.1~48
VPOD2x4-30E(5]-6B 5 4 4
VPOD2x4-40E[51-4B 25
—_————— ———— 98.6 86.5 67 40 1.0~45
VPOD2x4-40E(5]-6B 4
VPOD2x4-50E[51-4B 25
T P ——— 111.6 99.5 80 50 0.9~45
VPOD2x4-50E(5]-6B 4
VPOD3.5x7-20E[5-4B 25
Y 72.6 60.5 41 20 1.5~49
VPOD3.5x7-20E[5)-6B 4
VPOD3.5x7-30E[5-4B 25
P 85.6 73.5 54 30 1.1~438
VPOD3.5x7-30E[5)-6B a5 2 4
VPOD3.5x7-40E[5-4B ’ 25
—_———————— 98.6 86.5 67 40 1.0~45
VPOD3.5x7-40E[5-6B 4
VPOD3.5x7-50E(5-4B 25
Y 111.6 99.5 80 50 0.9~45
VPOD3.5x7-50E[5-6B 4 M6
VPOD4x10-20E[5-4B 25 h
—_— 726 60.5 41 20 1.5~49
VPOD4x10-20E[5)-6B 4
VPOD4x10-30E[5-4B 25
_ 85.6 73.5 54 30 1.1~48
VPOD4x10-30E[5-6B 10 4
VPOD4x10-40E[5]-4B 25
T P T e—— 98.6 86.5 67 40 1.0~4.5
VPOD4x10-40E[5)-6B 4
VPOD4x10-50E[5-4B 25
VPODAx10-50E5168 . 2 111.6 99.5 80 50 0.9~45
VPOD4x20-20E[5-4B 25 726 605 " 2 15~49
VPOD4x20-20E[5]-6B 4 ’ ’ ’ ’
VPOD4x20-30E[5-4B 25
—_—(———— 85.6 735 54 30 1.1~4.8
VPOD4x20-30E[5]-6B 2 4
VPOD4x20-40E[5-4B 25
P —— 98.6 86.5 67 40 1.0~45
VPOD4x20-40E[5)-6B 4
VPOD4x20-50E[5]-4B 25
—_— 111.6 99.5 80 50 0.9~45
VPOD4x20-50E[5)-6B 4




PISCO.

https://en.pisco.co.jp/
Unit : mm
% 2"15 72.6 60.5 41 20 15~49
% \ “ 2"‘5 85.6 735 54 30 11~4.8
% 2"‘5 98.6 86.5 67 40 1.0~45
% 2"‘5 111.6 99.5 80 50 0.9~4.5
% 2“15 72.6 60.5 41 20 1.5~49
% o 2“15 85.6 735 54 30 11~48
% 2"‘5 98.6 86.5 67 40 1.0~45
% 2"15 111.6 99.5 80 50 0.9~4.5
% 2"15 72.6 60.5 41 20 15~4.9
% . " 2"15 85.6 73.5 54 30 11~4.8
% 2"‘5 98.6 86.5 67 40 1.0~45
% 2"‘5 111.6 99.5 80 50 0.9~4.5 e
% 2“15 72.6 60.5 41 20 15~49
% " 2"15 85.6 735 54 30 11~48
% 2"‘5 98.6 86.5 67 40 1.0~45
% 2"15 111.6 99.5 80 50 0.9~45
% 2"‘5 72.6 60.5 41 20 15~4.9
% o 2"‘5 85.6 735 54 30 1.1~48
VPODGX10-40E[5148 | 25 | g6 86.5 67 40 1.0~45
VPOD6x10-40E[5]-6B 4
% . 2"‘5 111.6 99.5 80 50 0.9~4.5
% 2"15 72.6 60.5 41 20 15~49
% N 2"15 85.6 735 54 30 11~48
% 2"15 98.6 86.5 67 40 1.0~45
% 2"15 111.6 99.5 80 50 0.9~45

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

1109

VPOD8x203E(5](6) ; M14x1 @ RoHS Compliant #” CAD  (20s3D)
VPOD8x303JE[5)E] o« [ ] 2-Hex.17
F 3 Stroke (mm)
) ) 20,30,40,50
0 w
4
7
Hex.14 | | :1‘
[a)]
°
17
v
==X
=~ |
Y Unit : mm
VPOD6x30-20E[5-4B 25
m 2 726 60.5 41 20 1.56~4.9
VPOD6x30-30E[5-4B 25
m ] o 2 85.6 73.5 54 30 1.1~48
VPOD6x30-40E[5]-4B 25
m 2 98.6 86.5 67 40 1.0~45
% 2"‘5 11.6 99.5 80 50 09~45
VPOD8x20-20E[5-4B 2.5
m 4 72.6 60.5 4 20 1.56~49
VPOD8x20-30E[5-4B 25
m " 4 85.6 73.5 54 30 1.1~48 "
VPOD8x20-40E[5-4B 25
m 4 98.6 86.5 67 40 1.0~4.5
VPOD8x20-50E[5-4B 25
—_— 111.6 99.5 80 50 09~45
o] °
m 2 72.6 60.5 41 20 1.5~49
VPOD8x30-30E[5-4B 25
m o 2 85.6 73.5 54 30 1.1~48
VPOD8x30-40E[5]-4B 25
m 2 98.6 86.5 67 40 1.0~4.5
% 2"‘5 11.6 99.5 80 50 0.9~45

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.



PISCO.

https://en.pisco.co.jp/

Spring type / Side port / Female thread / No cover holder

VPOD2x4(3JE(5)-M6 " M14x1 @ RoHS Compliant#” CAD (2Ds3D)

VPOD3.5x7(3JE(5)-M6 o< -Hex.

VPOD4x10B)E[5)-M6 H e Stroke (mm)

20,30,40,50

VPOD4x20(3)E(5)-M6

VPOD4x30(3JE(5)-M6

VPOD5x10(3JE(5)-M6

VPOD5x203E(5-M6 @

VPOD5x30(3JE(5)-M6

Hex.14 L
Y Unit : mm

VPOD2x4-20E[5-M6 726 60.5 41 20 15~4.9
VPOD2x4-30E[5)-M6 ) 4 85.6 735 54 30 1.1~48
VPOD2x4-40E[5)-M6 98.6 86.5 67 40 1.0~45
VPOD2x4-50E[5-M6 111.6 99.5 80 50 0.9~45
VPOD3.5%7-20E[5-M6 72.6 60.5 41 20 15~49
VPOD35<7-30ESIM6| , 856 735 54 30 11~48 1110
VPOD3.5%7-40E[5-M6 ’ 98.6 86.5 67 40 10~45
VPOD3.5%7-50E[5-M6 111.6 99.5 80 50 0.9~45
VPOD4x10-20E[5l-M6 72.6 60.5 41 20 15~49
VPOD4x10-30E[5-M6 10 85.6 735 54 30 11~48
VPOD4x10-40E[51-M6 98.6 86.5 67 40 10~45
VPOD4x10-50E[5-M6 111.6 99.5 80 50 0.9~45
VPOD4x20-20E[5-M6 726 60.5 41 20 1.5~49
VPOD4x20-30E§-M6 . 2 85.6 735 54 30 11~48
VPOD4x20-40E[51-M6 98.6 86.5 67 40 1.0~45
VPOD4x20-50E[5]-M6 111.6 99.5 80 50 0.9~45 6
VPOD4x30-20E[51-M6 72.6 60.5 41 20 15~49
VPOD4x30—30E§-M6 20 85.6 735 54 30 11~4.8
VPOD4x30-40E[51-M6 98.6 86.5 67 40 1.0~45
VPOD4x30-50E[5-M6 111.6 99.5 80 50 0.9~45
VPOD5x10-20E[51-M6 72.6 60.5 41 20 15~49
VPOD5x10-30E[51-M6 10 85.6 735 54 30 11~48
VPOD5x10-40E[51-M6 98.6 86.5 67 40 10~45
VPOD5x10-50E[51-M6 111.6 99.5 80 50 0.9~45
VPOD5x20-20E[51-M6 72.6 60.5 41 20 15~49
VPOD5x20-30E[51-M6 5 20 85.6 735 54 30 11~48
VPOD5%20-40E[5-M6 98.6 86.5 67 40 1.0~45
VPOD5x20-50E[51-M6 111.6 99.5 80 50 0.9~45
VPOD5%30-20E[5-M6 726 60.5 41 20 15~4.9
VPOD5x30-30E[51-M6 % 85.6 735 54 30 11~48
VPOD5x30-40E[5]-M6 98.6 86.5 67 40 1.0~45
VPOD5x30-50E[51-M6 111.6 99.5 80 50 0.9~45

3% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
3 .Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.




& Vacuum Pad Series

Vacuum Pad Oval Series

VPODG6x10[3E5)-M6 M14x1 @ RoHS Compliant#” CAD (2Ds3D)
VPOD6x203E5-M6 o <[ ] 2-Hex17
VPOD6x30(3E(5)-M6
VPOD8x203E[5-M6
VPOD8x303E(5-M6

Stroke (mm)
20,30,40,50

Hex.14| |

Y Unit ©: mm
VPOD6*10-20E[5-M6 72.6 60.5 41 20 15~4.9
VPOD6x10-30E[51-M6 10 85.6 735 54 30 1.1~48
VPOD6x10-40E[5]-M6 98.6 86.5 67 40 1.0~45
VPOD6*10-50E[5-M6 111.6 99.5 80 50 0.9~45
VPOD6*20-20E[5-M6 72.6 60.5 41 20 15~4.9
VPOD6*20-30E[5-M6 85.6 73.5 54 30 1.1~48
VPOD6x20-40E[51-M6 6 2 98.6 86.5 67 40 1.0~45
VPOD6*20-50E[5-M6 111.6 99.5 80 50 0.9~45
VPOD6x30-20E[51-M6 72.6 60.5 41 20 1.5~4.9
VPOD6x30-30E[51-M6 30 85.6 73.5 54 30 11~48 Ve
VPOD6*30-40E[5-M6 98.6 86.5 67 40 1.0~45
VPOD6x30-50E[51-M6 111.6 99.5 80 50 0.9~45
VPOD8*20-20E[5-M6 726 60.5 41 20 1.5~4.9
VPOD8x20-30E[5]-M6 2 85.6 73.5 54 30 11~48
VPOD8x20-40E[5]-M6 98.6 86.5 67 40 1.0~45
VPOD8x20-50E[5]-M6 . 111.6 99.5 80 50 0.9~45
VPOD8x30-20E[51-M6 72.6 60.5 41 20 15~49
VPODB8*30-30E[5-M6 - 85.6 735 54 30 1.1~4.8
VPOD8x30-40E[51-M6 98.6 86.5 67 40 10~45
VPOD8*30-50E[5)-M6 111.6 99.5 80 50 0.9~45

% [5]: Replaced with Pad rubber material code. Refer to page 1044 for details.
% Tightening torque of a pad holder fixing bulkhead nut is 4.5~6N-m.



PISCO.

https://en.pisco.co.jp/

Spring type / Direct mount / Metric thread / Standard holder
@ RoHS Compliant Y Copper alloy free available 7 CAD (2083D)

VPF2E(5]9 Stroke (mm)
019 5.8
5 WM Unit : mm
5 T
Hex.17
8o y VPF2x4E[5][9] 2 4 7.9~15.0
Qe Hex 12 VPF3.5%7E[5][9] 35 7 7.9~15.0
VPF4x10E[5][9] 10
;r VPF4x20E[5][9] 4 20 7.9~15.0
VPF4x30E[5]9] 30
— % VPF5x%10E[5][9] 10
~—~ | ' VPF5%20E[5]9] 5 20 7.9~15.0 -M6
Y VPF5x30E[5][9] 30
_ VPF6x10E[5][9] 10
VPF6x20E[5]9] 6 20 7.9~15.0
VPF6x30E[5][9] 30
VPF8x20E[5][9] 20
VPF8x30E5]9) 8 30 79150
h 3% .[5]: Replaced with Pad rubber material code. Refer to page 1044 for details.

3% .[9]: Replaced with "-S3" for -S3 spec. (Copper alloy free material for metal parts and
FKM or HNBR for sealing parts).

% .Pad material N and NE are not suitable for use under ozone environment. 1112

2% .Tightening torque for fixing a pad holder is 4.5~6N-m.




II Vacuum Pad Series
. Vacuum Pad Oval Series

I Construction (Vacuum Pad Holder and Vacuum Pad Oval Series) I

Pad size : 2x4, 3.5x7, 4x10, 4x20, 4x30, 5x10, 5x20, 5x30, 6x10, 6x20, 6x30, 8x20, 8x30mm

VPA
VPMA
Push-in fitting

1113 %

VPB
VPMB
Push-in fitting

VPC
VPMC
Push-in fitting

Push-in fitting Push-in fitting Push-in fitting

VPA VPB VPC
VPMA VPMB VPMC
Barb fitting Barb fitting Barb fitting Barb fitting Barb fitting Barb fitting

VPB
VPMB

Female thread

Female thread | Female thread Male thread

Female thread

Female thread Female thread




PISCO.

https://en.pisco.co.jp/

,,,,, Connection type

Screw type
(Connection with screw)

Gasket Gasket

Adapter Adapter

Adapter model code| Pad size Adapter model code| Pad size

2x4mm 4x20, 30mm
3.5x7mm 5x20, 30mm

FSPH10-M6 4x10mm FSPH20-M6 6x20, 30mm

é/ [xes, Smm 1114
5x10mm 8x20, 30mm
6x10mm * Adapter above includes a gasket.

¢ Adapter above includes a gasket.

Vacuum pad
Vacuum pad Pad model code| Pad size
Pad model code| Pad size VP4x20E[5] 4x20mm
VP2x4E[5] 2x4mm VP4x30E[5] 4x30mm
VP3.5x7E[5] 3.5X7mm VP5x20E[5] 5x20mm
VP4x10E[5] 4x10mm VP5x30E[5] 5x30mm
VP5x10E[5] 5x10mm VP6x20E[5] 6x20mm
VP6x10E[5] 6x10mm VP6x30E[5] 6x30mm

VP8x20E[5] 8x20mm

Oval pad + Pad adapter VP8x30E[5] | 8x30mm
Pad & sorewsetmodelcode|  Pad size -
VP2x4E[5-M6[9] | 2x4mm Oval pad + Pad adapter

VP3.5x7E[S-MB[S]| 3.5x7mm Pad & soewsetmodeloode|  Pad size
VP4x10E[5-M6[9] | 4x10mm VP4x20E[5]-M6[9] | 4x20mm
VP5x10E[5}-M6[9) | 5x10mm VP4x30E[5]-M6(9] | 4x30mm
VP6x10E[5-M6[9] | 6x10mm VP5x20E[5]-M6(9] | 5x20mm

VP5x30E[S-M6[9] | 5x30mm
VP6x20E[S-M6[9] | 6x20mm
VP6x30E[S-M6[9] | 6x30mm
VP8x20E[5]-M6[] | 8x20mm
VP8x30E[5-M6[3] | 8x30mm

2% The Fitting model code for option “-S3” is different from that of standard products. Contact us for details.
% Model code of Vacuum Pad Holder alone is following. Contact us for price.
M Model designation (Example)
VP C -M6é6 -6 -6B -S3
Bl (8 [9]
: Holder type, [3]: Stroke(For spring type holder only. VPF holder is excluded.), [6] : Port size - type, [9]:-S3 spec.




II Vacuum Pad Series

. Vacuum Pad Oval Series

Pad size : 2x4, 3.5x7, 4x10, 4x20, 4x30, 5x10, 5x20, 5x30, 6x10, 6x20, 6x30, 8x20, 8x30mm

+ I 24

VPAE VPBE VPAE VPBE
Push-in fitting Push-in fitting Push-in fitting Push-in fitting
VPAE VPBE VPAE VPBE

Barb fitting Barb fitting Barb fitting Barb fitting
VPAE VPBE VPAE VPBE
Female thread Female thread Female thread Female thread

Vacuum pad Vacuum pad
Pad model code| Pad size Pad model code| Pad size
1115) VP2x4E[5] 2x4mm VP4x20E[5] | 4x20mm

VP35x7E[5] | 3.5x7mm VP4x30E(5] | 4x30mm

VP4x10E[5] | 4x10mm VP5x20E(5] | 5x20mm

VP5x10E5] | 5%10mm VP5x30E5] | 5x30mm

VP6x10E5] | 6x10mm VP6x20E[] | 6x20mm

VP6x30E(5] | 6x30mm

Connedion oonfg. codem VP8x20ES] | 8x20mm

VP8x30E[5] 8x30mm

E Connection config. code
Connection type m
Mount type
(Direct connection)

Connection type
Mount type
(Direct connection)

3% The Fitting model code for option “-S3” is different from that of standard products. Contact us for details.
% Model code of Vacuum Pad Holder alone is following. Contact us for price.

M Model designation (Example)
VP A -E100r-E20 -M5 -S3
[9]

[l [6]
[1] : Holder type, [6] : Port size - type, [9]:-S3 spec.



II Vacuum Pad Series

. Vacuum Pad

A\ Common Safety Instructions for Vacuum Pads

Before selecting or using PISCO products, read the following instructions. Read the detailed
instructions for individual series.

A\ Warning I

1.Take safety measures in advance where a dropping work-piece can cause danger.

2.Make sure to install a vacuum pad holder securely. Looseness may cause trouble.

3.Pay special attention to the work conveyance by screwed vacuum pads, accompanied by
rotary movement. There is a possibility of troubles due to the looseness of screws from the
rotary movement.

4.There is a possibility of troubles due to the leakage of vacuum system, clogging, vacuum pad
abrasion, crack, deterioration, the galling of slider part in the holder and the looseness in joints.
Carry out maintenance inspection periodically.

5.When a work-piece is conveyed by a vacuum pad, consider the acceleration, impacts and
wind pressure. Otherwise, the work-piece may drop during conveyance.

A\ Caution I

1.Thoroughly read and understand the theoretical suction force in this catalog before selecting diameter, Qty and
suction place of vacuum pads. Select vacuum pads with enough margin in suction force.

2.The product incorporating NBR as seal rubber material has a risk of malfunction caused by ozone crack. Ozone
exists in high concentrations in static elimination air, clean-room, and near the high-voltage motors, etc. As
a countermeasure, material change from NBR to HNBR or FKM is necessary. Consult with Pisco for more
information.

3.Select the material of vacuum pad in accordance with use environment and ease of use, referring to "Selecting Method".

4 Select the suitable pad shape (type) in accordance with a work-piece and its shape, referring to "Characteristics of Pad
Material".

5.Select spring-holder type when work-pieces have different heights or are weak against an external force. Select
the suitable holder type, referring to spring force and spring length in the catalog.

6.Since spring-holder type has a sliding action, minimize the transverse load. Otherwise, the life time of the holder
can be reduced or malfunction of the holder can occur.

7.In replacing vacuum pads, check the structure of holders and pads in the catalog and tighten the hexagonal-
column of the holder with a proper tool, referring to the following tightening torque.
@ Table. tightening torque

Vacuum pad holder Standard o M
Pad screw size (mm) Tightening torque (N-m)

ped wnnoep

477

M4x0.7 0.5~1.0 | 0.9 ~1.1
M6x1 2~27

M10x1.5 5~7 -
M20x2 9~10 =

8.In replacing the adapters of Soft / Soft Bellows Series, check the structure of holders, pad and adapters and
tighten the hexagonal-column of the holder with a proper tool, referring to the following tightening torque.
@ Table. tightening torque
M4x0.7 0.7~0.8
M6x1 1.5~2.0




PISCO.

https://en.pisco.co.jp/

9.In installing vacuum pad holders of general and small type with bulkhead, check the structure and tighten the
hexagonal-column of the holder with a proper tool, referring to the following tightening torque.

M3x0.5 — — 0.7 — — 0.7
M4x0.5 = = = 1~12 = =
M4x0.7 1~1.2 — — — — _
M5x%0.5 15~2 — — 15~2 — —
M5x%0.8 — — 1~15 — — 1~15
M6x0.75 2~3 — — 2~3 —
M8x0.75 25~35 | 1.8~24 — 25~35 —
M8x1 = 18~24 = = = =
M10x1 5~7 45~6 — 5~7 4~6 —
M12x1 12~14 8~10 — = — —
M14x1 18 ~ 21 45~6 — — — —
M16x1 18 ~ 21 (%) 2~3 — — — —
M20x1 19 ~ 21 — — — — —
M22x1 19~210%)| 16~20 — = — —
M24x2 40 ~ 50 — — — — —
M30x2 — 42 ~ 54 — — — —

*Values for Vacuum pad holder for Packaging bag series.
10.In replacing vacuum pad rubbers of Standard Series 880, 2100mm, @150mm, g200mm and Bellows Series
280mm, @100mm, check the structure of holders and pads and tighten the hexagonal-column of the holder with
a proper tool, referring to the following tightening torque.
@ Table. tightening torque

M4x0.7
M5x0.8

11.Check the structure of vacuum pad in the catalog before replacing a filter element.

12.Refer to "Common Safety Instructions for Fittings" for handing fitting joint parts.

13.In installing spring-holder type, do not hold the shaft (A] with a spanner.
In replacing vacuum pad, hold the hexagonal-column of the shaft with a
spanner. If the keyway (B is deformed, there is a possibility of malfunction.

14.Excessive tightening of a fixing nut may deform the bulkhead part and result
in malfunction of the keyway.

15.As the nature of rubber, powdery component like additives may come out on
the surface of a vacuum pad as time elapses.

05~0.7

&
Q
<
c
3
b=l
D
o




& Vacuum Pad Series

Vacuum Pad

peg Wnnoep

479

Vacuum Pad Selection Guide

Select the diameter of vacuum pad from the formula (1 and chart of the theoretical suction force 2)

The theoretical suction force is determined from pad area and vacuum level. Calculated value is for
reference only, so carry out the evaluation under an actual operating condition. The theoretical suction
force is calculated under a static condition. Obtain an enough margin, considering the weight of a work-
piece and acceleration of lifting, pause and rotary movement. Enough room is needed in deciding a
number of pads and arrangement position.

(D Calculation by formula

x . Suction force(N)

. Pad area(cm?)

: Vacuum level -kPa

. Safety factor Horizontal lifting (refer to the right fig.) > 1/4

Vertical lifting (refer to the right fig.) » 1/8

W=c P><10.13><f

- TO0OS

*1.Refer to the following chart for Sponge Series.(Internal diameter is used for calculation)

*2.Refer to the following chart for Flat Series.(Pad grooves are used for calculation)

*3.As for Bellows, Multi-Bellows, Soft, Soft Bellows and Ultrathin Series, their theoretical suction force may
exceed the strength of pad itself, depending on the vacuum level. Carry out the evaluation under an
actual operating condition.

(@ Chart of the theoretical suction force <Add safety factor to values from the chart>

Horizontal lifting

ol |

Vertical lifting

Standard / Bellows / Multi-bellows / Soft / Soft bellows / Skidproof / Ultrathin / Mark-free (*)

Pad dia. (Small) : @0.7mm ~ g4mm Pad dia. : @2mm ~ 15mm Pad dia. : 220mm ~ g50mm
1.4

20 250

04

™

015

=
N
=3
S

o
>

N

250

o

=)
a
t=]

23

o
o

Pad dia. (mm)

o
1<)

°
2
S

©
s
B

Pad dia. (mm)

/| e

Theoretical suction force (N)
Theoretical suction force (N)
>
Theoretical suction force (N)

0.4 6 230
02 / 28 /
| 4 50 025
02 06 |~
015 — L —] 020
T 2 — % e
—_—, = =
0 . 0 0
0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
Vacuum level (—kPa) Vacuum level (—kPa) Vacuum level (—kPa)

*Some sizes are not available for some pad series. Refer to the following size list.

Pad dia. © 60mm ~ 200mm @ :indicates that pad size is available

Pad dia. (mm)

3500
2200 Pad type Standard | Bellows | Multi-bellows |  Soft | Softbellows | Skidproof | Ultra thin | Mark-free
3000 20.7~03| @ — — — — — — —
o4 [ J [ J
Z 2500 el L4 Ld - L L - - -
g 08 D ° - ° ° - ° =
= 2000 E 210 [ [ J [ [ ) [ ] [ ) ® ®
g 010 o5 | @ | @ | — | e | e | — | e | -
Z 500 s g0 [ @ ° ° ° ° D) L) °
2 / o o 25 [ ] [ ] — — - - - -
2 E
2 1000 5| o3 [ ] [ J L [ J [J °
= = 2100 3| w40 [ ] [ ] [ J [ ] — [ J —
500 280 250 [ J [ J [ ) — — Y — —
—1 260 [ J [ J — — — — —
— || o60
0 éé// % | ® | e | — | — | — | — | - [ -
0 20 40 60 80 100 2100 ™Y ) — — — — —
Vacuum level (—kPa) 2150 ° — — — — — —
2200 [ ]




PISCO.

https://en.pisco.co.ip/

Sponge pad Flat pad Oval pad

Pad dia. : 10mm ~ g100mm Pad dia. : 210mm ~ g30mm Pad size : 2x4mm ~ 8x30mm
450 20 25
400 " 18 / 030 8x30
o
350 _ " x
zZ Zz Zz
= T 14 < 6x30
2 E 212 E 215 5x30. €
& 250 £ 5 £ s o0 £ [
3 8 10 o N Qo
= 200 03 @ / 5 o B
3 L1 E Eos 208 30 s & H
g"so g g // 4x20 E_
£ 2 6 E //
100 250 = . / 215 5 6x10
5x10
50 —1 235 /4; 4x10
. —" 030 o 2 010 357
0 %0015 Z// 0 |2«
0 20 40 60 80 100 00 20 40 60 80 100 0 20 40 60 80 100
Vacuum level (-kPa) Vacuum level (—kPa)

Vacuum level (—kPa)




& Vacuum Pad Series
Vacuum Pad

peg Wnnoep

481

Select a vacuum pad type according to a work-piece.

Please select suitable pads for your application from the following.

Standard Series

Bellows / Multi-bellows Series

General

Deep
type

Small type

Round fruit or ball (*1)

Small work-piece or semiconductor
manufacturing device

Food package

Sponge Series

Oval Series

Exterior wall panel, pebble, seashell

Long work-piece (e.g. circuit board and
semiconductor product)

Soft / Soft bellows Series

Skidproof Series

Mark-free Series

&>

Taking out molded parts / Fragile work-piece

Greasy work-piece such as pressed parts

LCD glass / in Painting process /
semiconductor manufacturing device

Ultrathin Series

Flat Series

Thin work-piece such as paper or plastic bag

Thin work-piece such as sheet or plastic bag

work-piece.

*1.The table below is a reference for the vacuum pad deep type and the size of round

Spherical dia. : S (mm) | 220 [ 230 | 040 | 250 | 080 | 2100 | 0120 [ 2160 | 9200
\

Pad size : d (mm) ‘ 215 ‘ 220 ‘ 225 ‘ 230 ‘ 240 ‘ 250

960 | 080 | 2100

page for the characteristics of pad materials.

*2.Refer to the previous page for pad dia. selection except deep type. Refer to the next

od




PISCO.

https://en.pisco.co.ip/

Select a vacuum pad material from an application..

Please select the suitable material from the table.

NBR Conductive Silicone
) Chloroprene
- Suited o Conductive " Butadiene | Conductive rubber
. Nitrile |for the food Silicone | Urethane | Fluoro | Fluorosiicone rubber (For
Pad material 5 HNBR Silicone EPDM | rubber (Low| NBR (low (For
rubber | Sanitation rubber rubber | rubber | rubber i ~ | Sponge
Item act. rubber resistance | resistance) - Sponge
Uapan) tpe) | el
N,
Material code G HN S SE U F FS EP E NE - S
NH (*1)
Cardboard Cardboard | Semiconductors | Cardboard | Chemical | Taking out | Application | General Semi- Uneven | Uneven
Plywood Plywood Taking out Plywood | environment | - molded Ih?‘ parsof | conductors | work-piece | work-piece s
Metal plate Metal plate| molded parts | Metal plate | Hightemp. | parts re‘?uh\;es semicon- Food- I
Food-related | Food-elated | Thin work-piece work- resiiamor ductors related %
Other general  |Othergeneral | Food-related ieces B
Application g g p ozoneproof 13
work work Inuse
Inuse under under the
moisture
alow ozone -
containing
concentration almosphere
environment
Pad color Black | Gray | Black |Translucent| Black | Blue Gray | Salmon | Black | Black | Black | Black | Salmon
Standard 50°~80°|60°~70°|50°~70°| 50" 60" |55°~70°|60°~70°| - [50°~70°| 70° |60°~70°| - -
Bellows 50° - 50° 50° 60° 55° 60° - 50 - 60° - -
Multi-bellows | 50° 50° 50° 50° - 55° 50° - 50° - 60° - -
Surface Oval 40°~50° - 50" |40°~50°|50°~60°|55° (*2) |50° (*2) - 50° 70° 70° - -
hardness | Soft 40° - - 40° 60" - - 50° - -
(Shore A) | Soft bellows 40° - 50° 40° - 50° - 60° - -
iU Skidproof 50° - - 50° - - - 60° - -
é. Ultrathin 40° - - 40° - - - 60° - -
‘% Flat 60" - - 40° 40° - - 60° - -
é Highest operating temp. 110°C 140°C 180°C 150°C | 100°C | 110°C | 80°C | 180°C
€ | Lowest operating temp. -30°C -30°C -40°C -40°C | -50°C | -30°C | -45°C | -40°C
& | Weatherability A O © [©) O A @) O
Ozone-proof X O @] [©) X X C O
Acid-resistance A A O [©) AN AN AN O
Alkaline-resistance O 8) ] ) O O © ©
Qil ‘ (Gasoline oil) [©) ] A X X [©) X AN
resistance ‘(Benzene/to\uene) AN X AN C X X A A AN
Volume resistance - - - Max 10%0-cm - - - - Max. 2000-cm | Max. 2000-cm - -

Legend © © : Best
QO : Suitable
A\ Good
X NG
*1.Material code "NH" is only available for Skidproof Series.
*2.1t does not apply to pad size: 4x30mm.
Note 1) .The above "Physical Properties" shows the data of general synthetic rubbers.
Note 2) .The highest / lowest operating temp. is for momentary usage. Carry out durability evaluation in case of continuous usage under
the highest / lowest operating temp.




& Vacuum Pad Series

Vacuum Pad

Please select the suitable vacuum pad resin material from the table.

Pad material PEEK POM Conductive PEEK
_ | Mark free series K M KE
ltem Vre Resin attachment for Bellows
code ) -QK -QM -QKE
series
Manufacturing machine for General production line Manufacturing machine for
Application liquid crystal / semiconductor Food-related machine liquid crystal / semiconductor
Packaging machine Electronic components
Pad color Natural (ivory) White Black
§ Highest operating temp. 250°C 95°C 250°C
] T | Lowest operating temp. -50°C -60°C -50°C
3 § Weatherability o X €
§ % Acid-resistance ) X ©)
38 |Alkaline-resistance o A €]
8 | Self-lubricity O © o
@ | Abrasion-resistance o [©) ©)
Volume resistance - - 10°~10°Q-cm

Legend © © : Best
O : Suitable
A\ Good
X NG
Note 1).The above "Physical Properties" shows the data of pad resin material only. The holder of Mark-free Series is not included.
Note 2).The above "Physical Properties" shows the data of resin attachment only. The pad rubber is not included.
Note 3).The above "Physical Properties” shows a general properties of resin materials and not a guaranteed value. Carry out the necessary
483 evaluation under an actual operating condition.
Note 4).The highest / lowest operating temp. is for momentary usage. Carry out durability evaluation in case of continuous usage under the
highest / lowest operating temp.
Note 5).Volume resistance is a representative value from the material manufacture, and not a guaranteed value.

To prevent dust from getting into the pad holder. To prevent dust from getting into the pad holder.

Install a vacuum filter pad direct mounting type between a Installing a fall prevention valve between a vacuum pad and a holder prevents
vacuum pad and a holder. the troubles like system break down, minimizing the vacuum drop of the whole
system automatically by reducing suction flow of the part where the work-
piece falls from the vacuum pad (within the range not causing any problem),
or no work-piece is to be sucked. A Vacuum source

Vacuum generator

Pad holder Vacuum air from which dust was

removed by a vacuum filter
Vacuum filter

pad direct mounting type
Vacuum air containing dust
Vacuum pad

Work-piece

Fall prevention valve Vacuum pad Work-piece




PISCO.

https://en.pisco.co.ip/

Reference Guide for Vacuum Pad

Impact on pad Porous or perforated work-piece

Avoid an impact or a large force on a vacuum pad, when it is pressed against
a work-piece. It may cause deformation, crack or abrasion at an early stage
of use. Adjust the pad position so that the lip of pad touches lightly on a work-
piece. Especially a small type of vacuum pad should be positioned precisely.

|
]

Positioning within this
range

Since the suction of a porous work-piece causes a drop of suction
force, select the proper specifications of vacuum system and secure
a larger effective crosssection area of the piping. Selecting a small
type of vacuum pad is one of solutions to reduce the air leakage.

Porous work-piece

Large and wide flat plate work-piece

When lifting large size of glass board or circuit board, work-piece
may bend by the lifting acceleration or the self-weight. Select a
proper size of pad and positioning, considering an enough margin
of suction force.

| Large force by lifting |

S Y

Large size of glass board or circuit board

Lifting work-piece, sucking the both side of it

Since all vacuum pad holders are designed for horizontal lifting,
consider the strength of holders and pads.

Lifting

O
Consider to reduce the stress I
against holders and pads by sucking
the both sides of work-piece.

Soft work-piece
When soft work-pieces such as plastic bags, papers or thin boards are
sucked, work-pieces can be deformed or shrunk by vacuum suction
(Figure-1). Select smaller vacuum pads and reduce the vacuum pressure.
Smaller vacuum pads are suitable for plastic bags and papers. When plastic
| paper bags are opened by using vacuum pads, shift the center of two
vacuum pads slightly in order to open them easily as Figure-2 shows.

<Figure-1 «Figure-2

Plastic bag, paper bag

Plastic bag, paper, etc.

Work-piece with different heights

Select Long Stroke holders for work-pieces having different
heights, or piled-up work-pieces. Its stroke can absorb the
difference in height.

Long Stroke holders

Work-pieces having
different heights

Inclined work-piece

Select Free Holder for an inclined work-piece.

Pad holder

Free holder
Two selection of articulation
angle: 0-15°/0-30°__

Vacuum pad

Inclined work-piece

ce with rotary movement
When vacuum pad is fixed with a screw and has a rotary
movement, the pad may drop due to the loosened screw. Pay
special attention when the vacuum location of work-piece is off
the center of work-piece gravity.

Safety factor (1/8) of vertical lifting
needs to be applied in rotary

conveys or lateral movement

ped wnnoep




& Vacuum Pad Series

Vacuum Pad

M Pad dia. list by pad type and material [

N : Nitrile rubber

peg Wnnoep

485

Pad material

Pad type

Standard

General type

Deep type

Small type

Bellows

Multi-
Bellows

Soft

Soft
bellows

Ultrathin

Flat

(ww) “e1p ped

20.7

21

1.5

22

23

24

26

28

210

215

220

225

230

240

250

260

280

2100

2150

2200

@: Available

P:

ad material

S ! Silicone rubber

Standard

Pad type

General type

Deep type

Small type

Bellows

Multi-
Bellows

Soft

Soft
bellows

Flat Skidproof | Ultrathin

Sponge

(ww) “eip ped

0.7

o1

21.5

22

23

o4

26

28

210

215

220

225

230

235

240

250

260

@70

280

2100

2150

2200

@: Available



PISCO.

https://en.pisco.co.jp/

Pad material

U ! Urethane rubber

Pad type

Standard

General type | Deep type | Small type

Bellows

Multi-
Bellows

Soft bellows

Skidproof

Ultrathin

Flat

(ww) “elp ped

20.7

o1

1.5

22

23

o4

26

28

210

215

220

225

230

240

ped wnnoep

250

260

280

2100

2150

2200

@ : Available

Pad material

F : Fluoro rubber

G NBR Suited for the food sanitation act. (Japan) [ 486

Pad type

Standard

Generaltype | Deep type

Small e Bellows

Mult-
Bellows

Skidproof | Ultrathin

Flat

Standard

General type | Deep type

Small type

Mult-
Bellows

(ww) “elp ped

0.7

o1

21.5

22

23

o4

26

28

210

215

220

225

230

240

250

260

280

2100

2150

2200

@ : Available




& Vacuum Pad Series

Vacuum Pad

Pad material

SE : Conductive Silicone rubber

E : Conductive Butadiene S

rubber (Low resistance type)

* Chloroprene
rubber

NH * Oilproof
NBR

Standard

Pad type

General type | Small type

Bellows

Soft

Flat

Standard

General type

Small type

Sponge

Skidproof

20.7

o1

1.5

22

23

o4

26

28

210

215

220

225

230

ped wnnoep
(ww) “eip ped

235

240

50

260

@70

280

2100

2150

2200

@ : Available

Y8 Pad material

NE ' Conductive NBR (low resistance)

Standard

Pad type

General type | Deep type |Small type

Bellows
type

Multi-
Bellows

Soft

Soft bellows

Skidproof

Ultrathin

Flat

20.7

o1

21.5

22

23

o4

26

28

210

215

220

225

(wuw) “elp ped

230

240

250

260

280

2100

2150

2200

@ : Available



PISCO.

https://en.pisco.co.jp/

Pad material HN : HNBR EP : EPDM FS : Fluorosilicone rubber

Pad type Standard Bellows Multi- Soft Standard Bellows | Multi- Soft Soft | Ulrathin
e General type | Deep type | Small type Bellows | bellows | Generaltype | Deep type | Smalltype | type | Bellows | bellows

20.7
o1 [ )
21.5
22
23
o4
26
28
210
215
220
825
230
240
250
260
280
2100
2150
2200
@: Available

(ww) “eip ped

&
Q
<
c
3
b=l
D
o

E
. .N. . .S v F <12 ) Conductive N_E HN EP
Pad material Nitrile Silicone Urethane Fluoro Conductive Butadene ubber Conductive NBR HNBR EPDM
rubber rubber rubber rubber Silicone rubber (Low resistance type)

(Low resistance type)

Pad type Oval
2x4
3.5x7
4x10
4x20
4x30
5x10
5x20
5x30
6x10
6x20
6x30
8x20
8x30

@: Available

(ww) “ep ped

Padmaterial| K:PEEK | M:POM  [KE:ConductivePEEK] Q2K :PEEK | Q2M:POM [Q2KE : Conductive PEEK
Pad type Mark free Resin attachment for Bellows series

210 [ J [ ] [ ]

215

220 [ J [ ] [ ]

225

230 [ ] [ ] [

@ : Available

(ww) “eip ped




& Vacuum Pad Series

Vacuum Pad

B Construction (VPA holder : Fixed type / Top port) NN

Fitting ((@Nickel-plated brass)
((b) Special stainless steel ( Austenite or ferritic stainless steel) % 2)
Gasket ((2JSPCC + NBR)
((£)SUS316 + FKM)

Nut ((@)Nickel-plated brass or Trivalent chromate carbon steel 3% 3)
((b)Special stainless steel ( Austenite or ferritic stainless steel) 3% 2)
Pad holder ((2)Nickel-plated brass)
(o) Special stainless steel ( Austenite or ferritic stainless steel) % 2)
Pad screw ((2Nickel-plated brass)
((b)Special stainless steel ( Austenite or ferritic stainless steel) 3 2)
Plain washer (Nickel-plated SPCC)

Vacuum pad

1]

B Construction (VPC holder : Spring type / Top port) N

Fitting ((2)Nickel-plated brass)
((b) Special stainless steel ( Austenite or ferritic stainless steel) % 2)
Gasket (2)SPCC + NBR)
((bJSUS316 + FKM)
Bush (Nickel plated aluminum)

ped wnnoep

Nut ((@)Nickel-plated brass or Trivalent chromate carbon steel % 3)
(&) Special stainless steel ( Austenite or ferritic stainless steel) % 2)
Spring (SUS304)
Rotation stopper ((2Nickel-plated brass)
((b)Special stainless steel (Austenite or ferritic stainless steel) % 2)
Shaft ((2)Nickel-plated brass)
() Special stainless steel ( Austenite or ferritic stainless steel) 3% 2)
Pad screw ((a)Nickel-plated brass)
((b) Special stainless steel ( Austenite or ferritic stainless steel) % 2)
Plain washer (Nickel-plated SPCC)
Vacuum pad

Stroke

489

%1. (a) : Standard spec. (b) : “-S3” spec.
%% 2. SUS303 equivalent corrosivity
%% 3. Nut material differs depending on the bulkhead thread size. See below table for details.

Bulkhead thread size Nut material

(mm) Nickel-plated brass Trivalent chromate carbon steel

M5x0.5

M6x0.75

M8x0.75

M10x1

1|0|0|0|O
|

M12x1

M14x1

M16x1

M20x1

M22x1

1
110|0|O|O|O] I

M24x2

O|0] 1

M30x2




Safety Instructions

/N

This safety instructions aims to prevent personal injury and damage to properties by
requiring proper use of PISCO products.
Be certain to follow ISO 4414 and JIS B 8370.

ISO 4414 : Pneumatic fluid power...General rules and safety requirements for system and their

components.
JIS B 8370 : General rules and safety requirements for systems and their components.

This safety instructions is classified into “Danger”, “Warning” and “Caution” depending on the degree of
danger or damages caused by improper use of PISCO products.

& D Hazardous conditions. It can cause death or serious personal
a n ger injury.
&W m Hazardous conditions depending on usages. Improper use of
arn I ng PISCO products can cause death or serious personal injury.
& C t' Hazardous conditions depending on usages. Improper use of PISCO
a u IO n products can cause personal injury or damages to properties.

A\ Danger I

1.Do not use PISCO products for the following applications.
(@ .Equipment used for maintaining / handling human life and body.

@ .Equipment used for moving / transporting human.

(3 .Equipment specifically used for safety purposes.

A\ Warning I

1.Selection of pneumatic products

(@ .A user who is a pneumatic system designer or has sufficient experience and
technical expertise should select pneumatic equipments.

(2.Due to wide variety of operating conditions and applications for PISCO products,
carry out the analysis and evaluation on PISCO products. The pneumatic system
designer is solely responsible for assuring that the user's requirements are met and
that the application presents no health or safety hazards. All designers are required
to fully understand the specifications of PISCO products and constitute all systems
based on the latest catalog or information, considering any malfunctions.

2.Usage environment

Do not use PISCO products under the following conditions.

(D .Beyond the specifications or conditions stated in the catalog, or the instructions.

2 .Use at outdoors

(3 .Excessive vibrations and impacts.

@ .Exposure / adhere to corrosive gas, flammable gas, chemicals, seawater, water and
vapor.

% This safety instructions are subject to change without notice.



PISCO.

https://en.pisco.co.jp/

3.Handling of product
(D .Handle the pneumatic equipment with enough knowledge and experience.

Mishandling of compressed air is dangerous. A person having enough knowledge

and experiences should carry out assembly, operation, and maintenance of devices

equipped with pneumatic equipments.
2 .Do not operate machine / equipment or remove pneumatic equipment until safety is
confirmed.

(1).Make sure that preventive measures against falling work-pieces or sudden
movements of machine are completed before inspection or maintenance of
these machine.

(2) .Make sure the above preventive measures are completed. A compressed
air supply and the power supply to the machine must be off, and also the
compressed air in the systems must be exhausted.

(3).Restart the machines with care after ensuring to take all preventive measures
against sudden movements.

(3 .Do not disassemble or modify PISCO products, which affect the performance,
function, and basic structure of the product.

@ .Take safety measures such as providing a protection cover if there is a risk of
causing damages or fire on machine / facilities by a fluid leakage.

(®.Do not touch the release-ring of a push-in fitting when there is a working pressure.

The lock may be released by the physical contact, and tube may fly out or slip out.

(® .Frequent switchover of compressed air may generate heat, and there is a risk of
causing burn injury.

@ .Avoid any load on PISCO products, such as, a tensile strength, twisting and
bending. Otherwise, there is a risk of causing damage to the products.

(®.Do not use PISCO products for applications where threads or tubes swing / rotate.

The product can be damaged in these applications.

(©.Do not swing or rotate resin body of the products by force. It may damage to the
products and cause a fluid leakage.

(9 .Do not supply excessively dry air to products. It may cause malfunction due to a
deterioration of rubber parts.

(9 .Do not wash or paint products with water or solvent. Solvent may damage a resin
body, or painting may cause malfunction.

@ .The product incorporating NBR as seal rubber or gasket material has a risk

of malfunction caused by ozone crack. Ozone exists in high concentrations in

static elimination air, clean-room, and near the high-voltage motors, etc. As a

countermeasure, material change from NBR to HNBR or FKM is necessary. Consult

with Pisco for more information.
@ .Do not stand on a product, or put anything on it. It may cause falls, personal injury or
damage to the product.



Safety Instructions

Safety Instructions

Warranty I

When the product produces a trouble, which is caused by our responsibility, we will carry
out either one of the following measures immediately.

(@ .Free-of-charge replacement of same product

@ .Free-of-charge repair of the product at our factory

Disclaimer I

1.PISCO does not take any responsibility for any incidental or indirect loss, such as
production line stop, interruption of business, loss of benefits, personal injury, etc.,
caused by any failure on use or application of PISCO products.

2.When a cause of the trouble/malfunction applies to any of the following items, it is
excluded from the coverage of the above warranty.

(@ .A case by a natural disaster, a fire except our responsibility, the act by the third
person/party, the intention or fault of the customer.

(@.A case when a product is used out of the specific range or in a method listed in the
product catalog or the instruction manual.

(3 .A case by the remodeling of the product or by a change of structure, performance, or
specifications which PISCO does not involved in.

@ A case by the event that is unpredictable by the evaluations and the measures at the

time on or before the initial delivery.

(®.A case caused by the phenomenon that is able to be evaded if your machine or
equipment has functions or structures that are comprised in a common sense when
this product is incorporated in your machine or equipment.

3.The damages caused by the defect of Pisco products shall be covered but
limited to the full amount of the PISCO products paid by the customer.

Additionally, the above warranty is limited simply to the product itself. The damage

induced by the trouble of the product will not be compensated.



PISCO.

Common Safety Instructions for Products Listed in This Manual httosom i -
ttps://en.pisco.co.jp/

AN

/A\ Caution I

1.An odd noise may be heard when supply pressures are immediately before the peak of vacuum levels.

The sounding of this odd noise means the characteristics are unstable and the sound may become

even noisier. This situation can also adversely affect the sensor, resulting in a malfunction or trouble.

So reset the supply pressure.

% Pressure range in which odd noise occurs is affected by atmospheric pressure.

2.Piping design and equipment selection should be made with an effective sectional area on supply
pressure side of a vacuum generator being 3 times as large as the nozzle diameter as a standard.

Insufficient air flow may impair the performance of the product.

3.Do not use a lubricator on products.

4.Clean or replace silencer element periodically. There is a possibility of dropping the performance or
causing troubles by clogging on the element.

5.Keep products away from water, oil drops or dusts because they are neither drip-proof nor dust-proof.

Otherwise there is a possibility of causing malfunction, damage to the products, or dropping the

performance.

6.Piping

(®.Compressed air contains a volume of drain (water, oxidized oil, tar and foreign material, etc.)
Because the drain reduce product performance remarkably, dehumidify air with an aftercooler and
a dryer, and improve the air quality.

(2 .Do not use a lubricator on products.

(3 .Rust in pipe and inflow of foreign substances cause the trouble, malfunction, and degradation of the
product. Please install a filter (5um or better filtration) in the compressed air supply line right in front
of the product. The flushing inside the pipe before use and in certain intervals is recommended.

@ .Remove dusts or drain before piping. They may get into the peripheral machine / facilities and
cause malfunction.

(®.When inserting an ultra-soft tube into push-in fitting, make sure to place an Insert Ring into the tube
edge. There is a risk of causing the escape of tube and a fluid leakage without using an Insert Ring.

(® .Arrange piping avoiding any load on fittings and tubes such as twist, tensile, moment load, shaking
and physical impact. These may cause damages to fittings, tube deformations, bursting and the
escape of tubes.

@ .Install protective cover when using at a place getting the direct sunlight.

.Be sure to confirm each port of a vacuum generator with its appearance drawing or the marking on
it before piping. Incorrect piping has a risk of damaging the product.

© .Plumb a pressure sensor and a vacuum generator with pressure sensor at the end of vacuum
system as much as possible. A long distance between a pressure sensor and a vacuum system
end may increase plumbing resistance which may lead to a high vacuum level at the sensor even
when no suctioning and a malfunction of pressure sensor. Make sure to evaluate the products in an
actual system.

@ .A Shorter distance of plumbing with a wider bore is preferable at vacuum system side. A long
plumbing with a small bore may result in slow response time at the time of releasing work-piece as
well as in failure to secure adequate suction flow rate.



Common Safety Instructions for Products Listed in This Manual

@.In case of using non-PISCO brand tubes, make sure the tolerance of the outer tube
diameter is within the limits of Table 1.
eTable 1. Tube O.D. Tolerance

m Nylon tube | Polyurethane tube Nylon tube | Polyurethane tube

21.8mm +0.05mm 21/8 +0.1mm +0.15mm

22mm = +0.05mm 25/32 +0.1mm +0.15mm
23mm — +0.15mm 23/16 +0.1mm +0.15mm
g4mm +0.1mm +0.15mm o1/4 +0.1mm +0.15mm
@6mm +0.1mm +0.15mm 25/16 +0.1mm +0.15mm
28mm +0.1mm +0.15mm 23/8 +0.1mm +0.15mm
210mm +0.1mm +0.15mm 21/2 +0.1mm +0.15mm
212mm +0.1mm +0.15mm 25/8 +0.1mm +0.15mm
216mm +0.1mm +0.15mm

7-1.Tube insertion (Push-in fitting)

(D .Make sure that the cut end surface of the tube is at a right angle without a scratch
on the tube surface or deformations.
(@.When inserting a tube, the tube needs to be inserted fully into the push-in fitting
until the tubing edge touches the tube end of the fitting as shown in the figure
below. Otherwise, there is a risk of leakage.

Tube end

disconnected by pulling it moderately.

| -

Sealing

Tube is not fully inserted up to tube end.
(3 .After inserting the tube, make sure it is inserted properly and not to be

»¢ When inserting tubes, Lock-claws may be hardly visible in the hole, observed
from the front face of the release-ring. But it does not mean the tube will surely
escape. Major causes of the tube escape are the followings; O Shear drop of
the lock-claws edge @ The problem of tube diameter (usually small)Therefore,
follow the above instructions from D to @, even lock-claws is hardly visible.

7-2.Tube insertion (Compression fitting)
(D .Make sure that the cut end surface of the tube is at a right angle without

deformations or a scratch on its inner and outer surface.

2 .Pass the tube through the nut and insert the barb into the tube up to the barb end.
Then tighten the hexagonal-column of the nut with a proper tool.

(3 .Refer to Table 2 which shows the tightening torque.

* Hold the tube when tightening the nut, since the tube may rotate along with the

nut.




PISCO.

https://en.pisco.co.jp/

@ .Make sure that the nut touches the metallic body. If not, loosen the nut, disconnect
the tube and start over again from the process @

(®.Make sure that there is no leakage after tightening the nut.

® .After inserting the tube, make sure it is inserted properly and not to be
disconnected by pulling it moderately.
@ Table 2. Nut tightening torque

210 Max. 4N-m
212 Max. 5N-m
216 Max. 14N-m

8-1.Tube disconnection (Push-in fitting)

(D .Make sure there is no air pressure inside of the tube, before disconnecting it.

(@ .Push the release-ring of the push-in fitting evenly and deep enough to pull out the
tube toward oneself. By insufficient pushing of the release-ring, the tube may not
be pulled out or damaged by scratch, and tube shavings may remain inside of the
fitting, which may cause the leakage later.

8-2.Tube disconnection (Compression fitting)
(D .Make sure there is no air pressure inside of the tube, before disconnecting it.

@ .Use a proper tool to loosen the nut. Then disconnect the tube.
9.Installation of a fitting

(D .When installing a fitting, use proper tools to tighten a hexagonal-column or an inner
hexagonal socket. When inserting a hex key into the inner hexagonal socket of the
fitting, be careful so that the tool does not touch lock-claws. The deformation of lock-
claws may result in a poor performance of systems or an escape of the tube.

(@ .Refer to Table 3 in the next page which shows the tightening torque, when tightening
a thread. Do not exceed these limits to tighten a thread. Excessive tightening may
break the thread part or deform the gasket to cause a fluid leakage. Tightening
thread with tightening torque lower than these limits may cause a loosened thread
or a fluid leakage. Since the sealability is affected by the processing condition of the
installing part, adjust the tightening torque or correct the installing part, according to
the condition.

(3®.Adjust the tube direction while tightening thread within these limits, since some
PISCO products are not rotatable after the installation.



Common Safety Instructions for Products Listed in This Manual

@ Table 3. Tightening torque / Sealock color / Gasket materials

M3x0.5 0.7N'm SUS304+NBR
M5x%0.8 1~1.5N'm SPCC+NBR
M6x%1 2~2.7N'm
Metric thread M3x0.5 0.7N'm n/a
M5x%0.8 1~1.5N'm
M6x%0.75 0.8~ 1N'm POM
M8x0.75 1~2N'm
R1/8 4.5~6.5N'm
. R1/4 7 ~9N'm .
Taper pipe thread R3/8 125 ~ 145N White =
R1/2 20~ 22N'm
Unified thread No.10-32UNF 1~1.5N'm n/a SUS304+NBR, SPCC+NBR
1/16-27NPT 4.5~6.5N'm
National Pipe 1/8-27NPT 45~6.5Nm
LS 137 1/4-18NPT 7~9N'm White =
(American
e 3/8-18NPT__ | 12,5~ 14.5N'm
1/2-14NPT 20 ~ 22N'm
G1/4 12 ~14N'm
E G thread G3/8 22 ~24N'm n/a Aluminum + PBT
G1/2 28 ~30N'm

%% These values may differ for some products. Refer to each specification as well.
@ .When removing a fitting, use proper tools to loosen a hexagonal-column. When
inserting a hex key into the inner hexagonal socket of the fitting, be careful so that
the tool does not touch lock-claws. The deformation of lock-claws may result in a
poor performance of systems or an escape of the tube.
(®.Remove the sealant stuck on the mating equipment. The remained sealant may get
into the peripheral equipment and cause malfunctions.
10.Handling of PISCO products
@ .Impact caused by dropping or the like may lead to damage to the product and a fluid
leakage.
11.PISCO products shall be used within the Operating temp. range, including the heat of
the product itself generated by adiabatic compression.



